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 ��กก���	ก
����
�� �����ก��������������������	
����� ��	
�� ���!"#$ ก!� 
�%�������&'���ก��� �'(������ ��� �')�	ก
��*��+��������	
����� ��	
�� ���!"#$ ,�+��-
���. +���/������/������ ���%��!)�ก0�(����  ��กก 12��!%�)2�� 2 ก 12� ก 12�.�ก ��ก���������������
,�+��-���. +���/������/������ 4����� ���!"#$51�5�. +-���&�
� ���� OTOP CITY ��!/�-6
 4 
�+�%2��%!�-6
 16 
 24 8!�%��� �.�. 2549 " ���)$ก��.�'������� ���.�0� �����-��8��6 �')45�
.�����&������%� 400 51' . +<'�.�����&��-6
�6�%�������"$ ����%� 343 51' ก 12�-6
��� 
��ก���� ��������,�+��-���. +���/������/������4�����'6)%ก!� ����%� 3 ก 12� �')%�86ก��
�!���
"$ . �%���(���� -6
<'���%�����+�$ ���
���������>��-6
���%��!)�!/�<%� 2 (�� ���  1. ���������
ก 12��2��? �6����ก���ก��45������� OTOP ,�+��-��� . + ���/������/������.�ก�2��ก!�  2. 
���������ก 12��2��? �6,@��!)4�ก���!'���4�� ��กA�/������� OTOP ,�+��-���. +���/������/������
.�ก�2��ก!� 
 ก���������4��2%��6/,�+ก��'�%) 4 �2%� <'�.ก2 1. (���� -!
%<,4�,@��!)-��56%�!��� 2. 
����ก���(����������� 3. � ก��-'��������>�� . + 4. (���� ��กก���!���
"$���� �� 
��� ��'!�'!��2�<,�6/ 

 
1. ���������������������	���� ��!��������
"#$! 
 

 ก��%�����+�$(���� -!
%<,4�,@��!)-��56%�!���(����������� <'����.�ก��� ��� ��)1 
�+'!�ก���	ก
� ��56� ��)<'��2��'��� �&��������� . + ���� ������'�� �')�6��) +��6)'���
�����-6
 1 '!��6/ 
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�����-6
 1 
.�'�����%� . + ���) +(��(���� -!
%<,4�,@��!)-��56%�!���(����������� 

 
�!%.,� ����%� ���) + 

     %&� 

            5�) 
            �B�� 

 

107 
236 

 

31.2 
68.8 

     �	�' 

            0   � 25 ,F 

            26 � 35 ,F 
            36 � 45 ,F 
            46 ,F (	/�<, 

 

  48 
128 
  90 
  77 

 

14.0 
37.3 
26.2 
22.5 

     
()��ก	
��ก
	 
            ,�+&��	ก
�           
            �!8)��	ก
������� 
            �!8)��	ก
����, �) ���� ,%5. 

            ��1,��BB� ���� ,%�. 
            ,��BB���6   
            ���ก%2�,��BB���6    

 

  12 
  16 
  37 
  36 
177 
  65 

 

  3.5 
  4.7 
10.8 
10.5 
51.6 
19.0 

     �	��&  

            �!ก��6)� �!ก�	ก
� 
            .�2���� 
            �ก
��ก� 
            ���(�) 
            �!���5ก�� 
            ��!ก�����ก5� 
            �!>%����ก�� 
            ��
�? 

 

  16 
  24 
  10 
  28 
  86 
121 
  29 
  29 

 

  4.7 
  7.0 
  2.9 
  8.2 
25.1 
35.3 
  8.5 
  8.5 
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�!%.,� ����%� ���) + 
     
	��)�*+�%),�� 

            �
��ก%2� 10,000 ��- 
            10,001 - 20,000 ��- 

            20,001 - 30,000 ��- 
            30,001 ��- (	/�<, 

 

  78 
133 
  73 
  59 

 

22.7 
38.8 
21.3 
17.2 

      -	�$	& �
  
            ��' 
            ���� 
            �)2����� 

 

171 

163 

    9 

 

49.9 
47.5 
  2.6 

     $��"�.	%�	%)"� 

            ก�1��-������� 
            �2���!��%!' 

 

115 
228 

 

33.5 
66.5 

 
 ��ก�����-6
 1 ��%2�����������2%�4�B2�,I�����B�� ��'�,I����) + 68.8 ��)1�2%���ก

�)�24�52%���)1�+�%2�� 26 � 35 ,F ��'�,I����) + 37.3 ��� ������52%���)1�+�%2�� 36 � 45 ,F ��'
�,I����) + 26.2 �6ก���	ก
��+'!�,��BB���6��ก-6
�1' ��'�,I����) + 51.6 ��� ��� ���ก%2�
,��BB���6 ��'�,I����) + 19.0 ,�+ก����56��,I���!ก�����ก5���ก-6
�1' ��'�,I����) + 35.3 
��� ��� �!���5ก�� ��'�,I����) + 25.1 ����������2%�4�B2�6��)<'��2��'����)�2�+�%2�� 10,001 - 
20,000 ��- ��'�,I����) + 38.8 ��� ��� ��)<'��2��'����
��ก%2� 10,000 ��- ��'�,I����) + 
22.7 �2%��&��������� �2%�4�B2��' ��'�,I����) + 49.9 ��� ��� ����. �% ��'�,I����) + 
47.5 ���� ������'��(����������� �'���,I����2���!��%!' ��'�,I����) + 66.5  
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2. ���������%ก��������ก��&0*"ก

�����
"#$! 
 � ก��%�����+�$(���� ����ก������������ 4����
��ก��45���������	
����� ��	
�� ���!"#$  
(OTOP) ,�+��-��� . + ���/������/������4�56%��,�+���%!� ��ก���������4����� ���!"#$51�5�
. +-���&�
� ���� OTOP CITY ���%��!)<'����.�กก��%�����+�$��ก�,I� 10 ,�+�'0� <'�.ก2 1. �%��&6

4�ก��A�/�� ���!"#$,�+��-���. +���/������/������ 2. ���1� -6
� ��กA�/�� ���!"#$ OTOP ,�+��-
��� ������� ���!��"�#� $ 3. ,����"� ���!"#$-6
����������6�)�24�,@��1�!�     4. ,@��!)'����1"���-6

���������45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . + ���/������/������ 5. 
,@��!)'�������-6
���������45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/����
��/������ 6. �%����)�(�����������4�ก����������� ���,I�����
��.�2�ก�),�+��-�2��? 7. �-��6
(��� ���!"#$ OTOP ,�+��- ���. +���/������/������-6
�������������ก�� 8. �%������ก�� ����
�%��5��(�����������4�5��' ���� ,�+��-(����� -6
������ ���,I����/��������
��.�2�ก�)           
9. �%������ก��(�����������4� ���
��  %' �)���-6
������ ���,I����/���� ����
��.�2�ก�) . +      
10. ก���!����(���� (2�%���ก���!'�����!/��6/(����������� ��ก��
��2��? �')�6��) +��6)''!��2��6/ 
 

�����-6
 2 
.�'��%��&6
4�ก��A�/�� ���!"#$,�+��-���. +���/������/������ �2�,F 

�%��&6
4�ก��A�/�� ���!"#$ ����%� ���) + 

,�+��" 1 ��!/� 142   41.4 

,�+��" 2 ��!/� 107   31.2 

,�+��" 3 ��!/�   56   16.3 

,�+��" 4 ��!/� (	/�<,   38    11.1 

�%� 343 100.0 
  

 �����-6
 2 ��%2�����������2%�4�B2��)A�/�� ���!"#$ OTOP ,�+��-���. +���/����
��/������ ��ก-6
�1' ,�+��" 1 ��!/� �2�,F ��'�,I����) + 41.4 �!�'!�-6
��� ,�+��" 2 ��!/��2�,F 
��'�,I����) +    31.2 ��� ��� ,�+��" 3 ��!/� ��'�,I����) + 16.3 . + ���)-6
�1' ,�+��" 4 
��!/� (	/�<, ��'�,I����) + 11.1 
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�����-6
 3 
.�'����1� -6
� ��ก A�/�� ���!"#$ OTOP ,�+��-��� ��� ���� ���!��"�#� $ 
���1� -6
� ��กA�/�� ���!"#$ ����%� ���) + 

1. ���
����<,���4���1�� ��
�4���ก������
 138 11.3 

2. ����ก��-' ��45�   61   5.0 

3. ��������+�� 165 13.5 

4. �1"���'6 143 11.7 

5. �&��-6
 . + ก����A�/��+'%ก   34   2.8 

6. �%���2��5�
�&��(��.� 2�� ��   39   3.2 

7. (���� (2�%����ก6
)%ก!�� ���!"#$-6
<'��!�   17   1.4 

8. ก�����ก��'6. +ก���2������ก��(�)-6
'6   14   1.1 

9. �6�!�(��� ���!"#$   77   6.3 

10.  %' �)(��� ���!"#$   93   7.6 

11. ��,.��� ���!"#$ 101   8.3 

12. 52%)��!���1�����ก�� OTOP ���
�� -�����
>ก��-6
'6(	/� 122 10.0 

13. ��1�!ก
$����,@BB�5�%���� 108   8.9 

14. �6��ก !ก
"$�%���,I�<-)   98   8.0 

15. ���ก�+.���)�     7   0.6 

16. ��
�?     2   0.2 

�%�          1219          100.0 
 
 �����-6
 3 ��%2�����������2%�4�B2A�/�� ���!"#$ OTOP ,�+��-��� ��� ���� ���
!��"�#� $4����� ���!"#$51�5�. +-���&�
� ���� OTOP CITY ��!/�-6
 4 �+�%2��%!�-6
 16 
 24 
8!�%��� �.�. 2549 " ���)$ก��.�'������� ���.�0� �����-��8��6 �6���1� ����+�������6����
����+����ก-6
�1' ��'�,I����) + 13.5  �!�'!���� �����"�-6
�1"���'6 ��'�,I����) + 11.7 
��� ��� ���
����<,���4���1�� ��
�4���ก������
 ��'�,I����) + 11.3  . + 52%)��!���1�
����ก�� OTOP ���
�� -�����
>ก��-6
'6(	/� 
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�����-6
 4 
.�'�����%�� ���!"#$,�+��-��� . +���/���������0���,-6
����������6�)�24�,@��1�!� 

����%�� ���!"#$ ����%� ���) + 

� ���!"#$,�+��-������ 
            <�2�6 
            1 
 5 ��� 
            6 
 10 ��� 
            11 
 15 ��� 
            16 
 20 ��� 
            21 
 30 ��� 
            31 ��� (	/�<, 

 
 90 
224 
 20 
  1 
  3 
  1 
  4 

 
 26.2 
 65.3 
  5.8 
  0.3 
  0.9 
  0.3 
 1.2 

�%� 343 100.0 
���/���������0���, 
            <�2�6 
            1 
 5 �!% (51') 
            6 
 10 �!% (51') 
            11 
 15 �!% (51') 
            16 
 20 �!% (51') 
            21 
 30 �!% (51') 
            31 �!%(51')(	/�<, 

 
  25 
249 
  43 
  15 
   6 
   1 
   4 

 
  7.3 
72.6 
12.5 
  4.4 
  1.7 
  0.3 
  1.2 

�%� 343 100.0 
  

 �����-6
 4 .�'�4����0�%2�4�,@��1�!�����������6� ���!"#$,�+��-��������ก-6
�1' 
,�+��" 1 
 5 ��� ��'�,I����) + 65.3 �!�'!���� ,�+��" 6 
 10 ��� ��'�,I����) + 5.8 
4�("+-6
 ���������-6
�6���/���������0���,��ก-6
�1' ��� 1 
 5 �!% ���� 51' ��'�,I����) + 72.6 �!�'!�
��� �6,�+��" 6 
 10 �!% ���� 51' ��'�,I����) + 12.5  
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�����-6
 5 
.�'�,@��!)'����1"���-6
���������45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��- ��� 

. + ���/������/������ 
,@��!)'����1"��� ����%� ���) + 

1. ���/�����6�%����
������. +��-�   68   19.8 

2. ���/������6)��,I��!�%�%   26    7.6 

3. ���/����'���     6    1.7 

4. �%�� +��6)'�12�(�����   55   16.0 

5. ������/����     8    2.3 

6. ������/����   24    7.0 

7. �6����6�%����-�  . +�6�%����
������ <�2�ก����A6'   59   17.2 

8. �����&-���%���+��'<'��2�)   25    7.3 

9. ก����ก.��. +�!'�)0��,I�5�/����-6
��6)����)   67   19.5 

10. ��
�?     5    1.5 

�%� 343 100.0 
 
 �����-6
 5 ��%2�,@��!)'����1"���-6
�����������������	
����� ��	
�� ���!"#$ ,�+��-
���. +���/������/������ 4����� ���!"#$51�5�. +-���&�
� ���� OTOP CITY ��!/�-6
 4 45������"�
4�ก���!'���4�A�/�� ���!"#$��ก-6
�1' ��� ���/�����6�%����
������. +��-� ��'�,I����) + 19.8 
�!�'!�-6
��� �����"�4����
��(��ก����ก.��. +�!'�)0��,I�5�/����-6
��6)����) ��'�,I����) + 
19.5 . + ��� ��� �����"����
���6����6�%����-� . +�6�%����
������ <�2�ก ���� A6' ��'�,I�
���) + 17.2 �2%�,@��!)-6
45������"����)-6
�1' �����
�? ��'�,I����) + 1.5 <'�.ก2 �,I����
��ก !ก
"$ . + �,I��� ,+��/������(��.�2 +-���&�
� �%������+��ก!��1"%1L�. +%!)%1L� ก��45�
�����%�4�2<'�4�-1ก��ก�� . +�%�&	�ก����ก.��4���,.���2%��!%   
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�����-6
 6 
.�'�,@��!)'�������-6
���������45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-���    

. + ���/������/������ 
,@��!)'������� ����%� ���) + 

1. ��������+��ก!��1"��� 186   54.2 

2. ����&�ก   35   10.2 

3.�����&� ��ก�+'!�����<'����ก��45���). +ก�� !�A�/�   92   26.8 

4. �+'!������)�24��ก"#$-���� �'   27     7.9 

5. ��
�?    3     0.9 

�%� 343 100.0 
 
 �����-6
 6 ��%2�,@��!)'�������-6
���������45������"�4�ก���!'���4�A�/�� ���!"#$ 
OTOP ,�+��-��� . +���/������/������4������!/��6/ �2%�4�B2�����"�4�����-6
����+��ก!�
�1"��� ��ก-6
�1' ��'�,I����) + 54.2 �!�'!���� <'�.ก2 ���
��-6
�����&� ��ก�+'!�����<'����
ก��45���). +ก�� !�A�/� ��'�,I����) + 26.8 ��� ��� �������&�ก ��'�,I����) + 10.2 . +���)
-6
�1'<'�.ก2��
�? A	
�,�+ก��'�%) �%����4�A�/� ก���6�������4��� ��ก��ก��) . + ก����ก.��-6

����+��ก!����� A	
�-!/� 3 ���1� �%�ก!�. �% ��'�,I����) + 0.9 
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�����-6
 7 
.�'��%����)�(�����������4�ก����������� ���,I�����
��.�2�ก�),�+��-�2��? 

����
��.�2�ก�),�+��-�2��? ����%� ���) + 

���/�  176   51.3 

ก���ก�   22     6.4 

ก�+�,��   31     9.0 

51'   47   13.7 

���<-   17     5.0 

����!���    48    14.0 

��
�?     2      0.6 

�%� 343 100.0 
 
 �����-6
 7 ��%2������������)�5�5�����-6
������ ���,I�����
��.�2�ก�),�+��- ���/�
��ก-6
�1' ��'�,I����) + 51.3 �!�'!�-6
���,�+��-����!��� ��'�,I����) + 14.0 ��� ���
,�+��-51' ��'�,I����) + 13.7 . + ���)-6
�1'��� ��
�? A	
��6 -!/����&1� . +���(�%��� ��'�,I�     
���) + 0.6  
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�����-6
 8 
.�'��-��6(��� ���!"#$ OTOP ,�+��- ��� . +���/������/������ -6
�������������ก�� 
�-��6(��� ���!"#$ ����%� ���) + 

1. ก 12��6.'� 44   12.8 

2. ก 12��6�� ��� 46   13.4 

3. ก 12��6�/������ 72   21.0 

4. ก 12��6�/����  72   21.0 

5. ก 12��6-�� 30    8.7 

6. ก 12��6��� 11    3.2 

7. ก 12��6�(6)% 32    9.3 

8. ก 12��6 ��
�? 35   10.2 

9. <�2���   1    0.3 

�%� 343 100.0 
 
 �����-6
 8 ��%2��-��6(��� ���!"#$ -6
���������5����ก-6
�1' <'�.ก2ก 12��6�/������ . + 
�6�/����  ��'�,I����) + 21.0 �-2�? ก!� �!�'!���� ���ก 12��6�� ��� ��'�,I����) + 13.4 ��� ��� 
���ก 12��6.'� ��'�,I����) + 12.8  
 

�����-6
 9 
.�'��%������ก�� �����%��5��(�����������4� 5��' ����,�+��-(����� -6
������ ���,I� 

���/��������
��.�2�ก�) 
5��'����,�+��-(����� ����%� ���) + 

���<�� 101 29.4 

���MN�) 171 49.9 

���4)�!�����+�$ ����  4),�+'�
>$  65 19.0 

��
�?    6    1.7 

�%� 343 100.0 
  



  
 

71 

 �����-6
 9 ��%2����������5�����/��������
��.�2�ก�) -6
� ������ก���MN�) ����4)MN�)
��ก-6
�1' ��'�,I����) + 49.9 �!�'!���� ������<�� ��'�,I����) + 29.4 �2%�4)�!�����+�$ ����4)
,�+'�
>$ ��'�,I����) + 19.0 . + ���4)��
�? ��'�,I����) + 1.7 �52� 4)8���5�����
�? ��ก
-���&�
� ���)�' . + �����
�? -6
�%�4�2. �%���) �,I���� 

 
�����-6
 10 

.�'��%������ก��(�����������4����
�� %' �)���-6
������ ���,I����/��������
��.�2�ก�) 
 !ก
"+ %' �) ����%� ���) + 

1.  %' �).��<-)  95   27.7 

2.  %' �)�2%���!) / .P5!
� 122   35.6 

3.  %' �)��(��"��  16     4.7 

4.  %' �)��,�!�%$  12     3.5 

5.  %' �)��5    8     2.3 

6.  %' �),�+)1ก�$  81   23.6 

7. ��
�?    8     2.3 

8. <�2���    1     0.3 

�%� 343 100.0 
 
 �����-6
 10 ��%2� %' �)���-6
���������5����ก-6
�1' <'�.ก2  %' �)�2%���!) ����
.P5!
� ��'�,I����) + 35.6 �!�'!�-6
��� <'�.ก2 %' �)<-) ��'�,I����) + 27.7 ��� ��� <'�.ก2 
 %' �),�+)1ก�$ ��'�,I����) + 23.6 �2%� %' �)-6
5�����)-6
�1' ��� ��
�? ��'�,I����) + 2.3 
<'�.ก2 <�2�6 �) ���� �����6)�? ��/�?  
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�����-6
 11 
.�'�ก���!����(���� (2�%���ก���!'�����!/��6/(����������� ��ก��
��2��? 
��
��2��? ����%� ���) + 

1. .�2��!� 4�, �%   63 11.9 

2. ���)��� / %�����   27   5.1 

3. �-�-!��$  231 43.6 

4. %�-)1   45   8.5 

5. ��!��������$    86 16.2 

6. �������$��0�   35   6.6 

7. ��
�?   43   8.1 

�%� 530                   100.0 
 
 �����-6
 11 ��%2�ก���!'���� ���!"#$51�5�. +-���&�
� ���� OTOP CITY �+�%2��
%!�-6
 16 
 24 8!�%��� �.�. 2549 " ���)$ก��.�'������� ���.�0� �����-��8��6 4���!/�-6
 4 �6/ 
���������<'��!�-���(���� (2�%���ก���!'�����ก��
� ,�+��-�-�-!��$��ก-6
�1' ��'�,I����) + 
43.6 �!�'!���� ��� ��!��������$ ��'�,I����) + 16.2 ��� ��� �,I�.�2��!� . +4�, �% 
��'�,I����) +11.9 �2%���
�-6
<'��!����)-6
�1'��� ���)���  %����� ��'�,I����) + 5.1  
 
 ��1,(���� �ก6
)%ก!�����ก������������4����� ���!"#$51�5�. +-���&�
� ���� OTOP 
CITY ��!/�-6
 4 -!/� 10 ,�+�'0� ��%2�����������2%�4�B2��)A�/�� ���!"#$ OTOP ,�+��-���. +
���/������/������ ��ก-6
�1' ,�+��" 1 ��!/� �2�,F ��'�,I����) + 41.4 . +�6���1� 4�ก���!'���4�
A�/� ����+�������6��������+����ก-6
�1' ��'�,I����) + 13.5 ,@��1�!�����������6� ���!"#$
,�+��-��������ก-6
�1' ,�+��" 1 
 5 ��� ��'�,I����) + 65.3 4�("+-6
�6���/���������0���,��ก
-6
�1' ��� 1 
 5 �!% ���� 51' ��'�,I����) + 72.6 ,@��!)'����1"���-6
��������������"�4�ก��
�!'���4�A�/�� ���!"#$��ก-6
�1' ��� ���/�����6�%����
������. +��-� ��'�,I����) + 19.8 �2%�
,@��!)'�������-6
45������"�4�ก���!'���4�A�/� �2%�4�B2�����"�4�����-6
����+��ก!�
�1"��� ��ก-6
�1' ��'�,I����) + 54.2 �����������)�5�5�����-6
������ ���,I�����
��.�2�ก�)
,�+��- ���/���ก-6
�1' ��'�,I����) + 51.3 �-��6(��� ���!"#$ -6
���������5����ก-6
�1' <'�.ก2
ก 12��6�/������ . + �6�/����  ��'�,I����) + 21.0 �-2�? ก!� �����������)����/��������
��.�2�ก�) -6

� ������ก���MN�)��ก-6
�1' ��'�,I����) + 49.9  %' �)���-6
���������5����ก-6
�1' <'�.ก2 
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 %' �)�2%���!) ����.P5!
� ��'�,I����) + 35.6 . + ���������<'��!�-���(���� (2�%���ก���!'
�����ก��
� ,�+��-�-�-!��$��ก-6
�1' ��'�,I����) + 43.6 
 

3. ��ก	
�) �� ��*"2	� 
 

  ��*"2	���� 1. ���������ก 12��2��? �6����ก���ก��45������� OTOP ,�+��-��� . + 
���/������/������.�ก�2��ก!� ก��-'��������>��(���6/���%��!) -'���'�%)�&���<�%$�.�%�$ �')
���.�ก��� !ก
"+(�����������ก 12��2��? <'�.ก2 ��� ��)1 �+'!�ก���	ก
� ��56� ��)<'��2��'��� 
�&��������� . + ���� ������'�� �')�6��) +��6)' '!��2�<,�6/ 

 
�����-6
 12 

.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����� . + �%��&6
4�ก��A�/�� ���!"#$,�+��-���. +
���/������/������ 

���  �%��&6
4�ก��A�/�� ���!"#$ 

5�) �B�� 

 
�%� 

1. ,�+��" 1 ��!/� 45.8 39.4  41.4 
2. ,�+��" 2 ��!/� 34.6 29.7 31.2 
3. ,�+��" 3 ��!/� 11.2 18.6 16.3 
4. ,�+��" 4 ��!/� (	/�<, 8.4 12.3 11.1 

�%� 100.0 100.0 100.0 
Chi-square = 4.784, df = 3, P-value = 0.188 
 

 ��ก�����-6
 12 ���%��!)�,�6)��-6)��!'�2%��+�%2����� . +�%��&6
4�ก��A�/�� ���!"#$
,�+��-���. +���/������/������ �')����%"�2�<�%$�.�%�$ <'��-2�ก!� 4.784 �2� P-value �-2�ก!� 
0.188 A	
���กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) .�'�%2� �!'�2%��+�%2����� . +�%��&6

4�ก��A�/�� ���!"#$,�+��-���. +���/������/������ <�2.�ก�2��ก!� 
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�����-6
 13 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����� . +���1� -6
� ��ก A�/�� ���!"#$ OTOP 

,�+��-��� ��� ���� ���!��"�#� $ 
���  ���1� -6
� ��ก A�/�� ���!"#$ OTOP ,�+��-

��� ��� ���� ���!��"�#� $ 
5�) �B�� 

�%� 
(���) +) 

�2� 
<�%$�
.�%�$ 

 
P-value 

1. ���
����<,���4���1�� ��
�4���ก������
 28.3 71.7 100.0 0.926 0.336 

2. ����ก��-' ��45� 36.1 63.9 100.0 0.820 0.365 

3. ��������+�� 27.9 72.1 100.0 1.629 0.202 
4. �1"���'6 27.3 72.7 100.0 1.758 0.185 
5. �&��-6
 . + ก����A�/��+'%ก 20.6 79.4 100.0 1.978 0.160 
6. �%���2��5�
�&��(��.� 2�� �� 17.9 82.1 100.0 3.597 0.058 
7. (���� (2�%����ก6
)%ก!�� ���!"#$-6
<'��!� 29.4 70.6 100.0 0.027 0.871 
8. ก�����ก��'6. +ก���2������ก��(�)-6
'6 21.4 78.6 100.0 0.649 ���2�<�2<'� * 
9. �6�!�(��� ���!"#$ 13.0 87.0 100.0 15.337 0.000 
10.  %' �)(��� ���!"#$ 20.4 79.6 100.0 6.889 0.009 
11. ��,.��� ���!"#$ 23.8 76.2 100.0 3.685 0.055 

12. 52%)��!���1�����ก�� OTOP ���
�� 
-�����
>ก��-6
'6(	/� 

31.1 68.9 100.0 0.000 0.989 

13. ��1�!ก
$����,@BB�5�%���� 32.4 67.6 100.0 0.108 0.743 
14. �6��ก !ก
"$�%���,I�<-) 23.5 76.5 100.0 3.815 0.051 
15. ���ก�+.���)� 28.6 71.4 100.0 0.023 ���2�<�2<'� * 
16. ��
�? 50.0 50.0 100.0 0.331 ���2�<�2<'� * 

* <�2�����&���2�<'� ����+�2� expected count �
��ก%2� 5.0 
 

 ��ก�����-6
 13 ���%��!)�,�6)��-6)��!'�2%��+�%2����� . +���1� -6
� ��กA�/�� ���!"#$ 
OTOP ,�+��-��� ��� ���� ���!��"�#� $�')���%��!) .�2����1� -6
� ��กA�/�� ���!"#$ OTOP ,�+��-
��� ��� ���� ���!��"�#� $   ก�=>" 16 =?��@A ��ก�?BC�D?��EF!GBH� �!IJH�$กK"LE��EJM��L"���
��
(�� �6�!�(��� ���!"#$ . +  %' �)(��� ���!"#$ .�ก�2��ก!� �')�6�2�<�%$�.�%�$ �-2�ก!� 
15.337 . + 6.889 ��� ��'!� . +�6�2� P-value ���)ก%2� .05 �')���5�)�6�!'�2%�4�ก��45�
���1� ���
�� �6�!�(��� ���!"#$4�ก���!'���4�� ��กA�/������� OTOP ,�+��-��� ��� ���� ���
!��"�#� $ ���)ก%2�����B�� 4�-������'6)%ก!����5�)�6�!'�2%�4�ก��45����1� ���
��  %' �)(��
� ���!"#$4�ก���!'���4�� ��กA�/������� OTOP ,�+��-��� ��� ���� ���!��"�#� $ ���)ก%2����
�B�� �2%����1� ��
�? <�2.�ก�2��ก!� . + �6 3 ���1� -6
<�2�����&%�����+�$�2� <�%$�.�%�$ <'� ��� 
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1.ก�����ก��'6. +ก���2������ก��(�)-6
'6 2.���ก�+.���)� . + 3.��
�? ����+�2� expected 
count �
��ก%2� 5.0 �,��$�A0��$  
 

�����-6
 14 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����� . + ����%�� ���!"#$,�+��-���-6
����������6

�)�24�,@��1�!� 
���  ����%�� ���!"#$,�+��-���-6
����������6�)�24�

,@��1�!�  5�) �B�� 

 
�%� 

1 - 5 ��� 95.8 77.9 83.0 
5 ���(	/�<, 4.2 22.1 17.0 

�%� 100.0 100.0 100.0 
Chi-square = 11.742, df = 1, P-value = 0.001 

 

 ��ก�����-6
 14 ���%��!)�,�6)��-6)��!'�2%��+�%2����� . +����%�� ���!"#$,�+��-
���-6
����������6�)�24�,@��1�!� �')����%"�2�<�%$�.�%�$ <'��-2�ก!� 11.742 �2� P-value �-2�ก!� 
0.001 A	
����)ก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) �	���1,<'�%2� ����2��ก!��6����%�
� ���!"#$,�+��-���-6
�6�)�24�,@��1�!�.�ก�2��ก!� �')���5�)�6�!'�2%�(������%�� ���!"#$ 
OTOP,�+��-���!��"�#� $-6
�6�)�24�,@��1�!����)ก%2�����B���)2���6�!)����!B-���&���-6
�+'!�.05 
 

�����-6
 15 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����� . + ����%�� ���!"#$���/���������0���,-6
���������

�6�)�24�,@��1�!� 
���  ����%�� ���!"#$���/���������0���,-6
����������6

�)�24�,@��1�!� 
5�) �B�� 

 
�%� 

1 - 5 �!% (51') 94.0 71.1 78.3 
5 �!% (51') (	/�<, 6.0 28.9 21.7 

�%� 100.0 100.0 100.0 
Chi-square = 21.158, df = 1, P-value = 0.000  
 

  ��ก�����-6
 15 ���%��!)�,�6)��-6)��!'�2%��+�%2����� . +����%�� ���!"#$���/����
�����0���,-6
����������6�)�24�,@��1�!� �')����%"�2�<�%$�.�%�$ <'��-2�ก!� 21.158 �2� P-value 
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�-2�ก!� 0.000 A	
����)ก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) �	���1,<'�%2� ����2��ก!��6����%�
� ���!"#$���/���������0���,-6
�6�)�24�,@��1�!� .�ก�2��ก!� �')���5�) �6�!'�2%�(������%�
� ���!"#$ OTOP ,�+��-���/����!��"�#� $�����0���,-6
�6�)�24�,@��1�!� ���)ก%2�����B�� �)2���6
�!)����!B-���&���-6
�+'!� .05 
 

�����-6
 16 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����� . + ,@��!)'����1"���-6
���������45������"�

4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/������/������ 
��� ,@��!)'����1"���-6
���������45������"�4�ก���!'���4�A�/�

� ���!"#$ OTOP ,�+��-��� . +���/������/������ 
5�) �B�� 

 
�%� 

�2� 
<�%$�
.�%�$ 

 
P-value 

1. ���/�����6�%����
������. +��-� 44.1 55.9 100.0 6.598 0.010 
2.  !ก
"+�*��+(�����/���� (�����6)� �!�%�% ���/�'��� 
���/���� ���/���� . + ��
�?) 

36.2 63.8 100.0 1.021 0.312 

3. �%�� +��6)'�12�(����� 23.6 76.4 100.0 1.744 0.187 
4. �2�)�2�ก��-���%���+��' . + �6�6�%����
������ <�2
�ก ���� A6' 

26.2 73.8 100.0 1.298 0.255 

5. ก����ก.��. +�!'�)0��,I�5�/����-6
��6)����) 25.4 74.6 100.0 1.315 0.251 

  
 ��ก�����-6
 16 ���%��!)�,�6)��-6)��!'�2%��+�%2����� . +,@��!)'����1"���-6


���������45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/������/������ �')
���%��!) .�2�,@��!)'����1"���N $� ���!"#$ OTOP ,�+��-��� . +���/������/������   ก�=>" 5 
=OPPKQ <'�.ก2             1. ���/�����6�%����
������. +��-� 2.  !ก
"+�*��+(�����/���� (�����6)� 
�!�%�% ���/�'��� ���/���� ���/���� . + ��
�?) 3. �%�� +��6)'�12�(����� 4. �2�)�2�ก��-���%��
�+��' . + �6�6�%����
������ <�2�ก ���� A6' 5. ก����ก.��. +�!'�)0��,I�5�/����-6
��6)����) 
��ก�?BC�D?��EF!GBH� �!IJH�$กK"�6,@��!)'����1"���-6
���������45������"�4�ก���!'���4�A�/�
� ���!"#$ OTOP ,�+��-��� . +���/������/������ 4�,@��!)'������/�����6�%����
������. +��-� 
.�ก�2��ก!� �')�6�2�<�%$�.�%�$ �-2�ก!� 6.598 . +�6�2� P-value ���)ก%2� .05 �')���5�)�6
�!'�2%�4�ก�������"�,@��!)���
�� ���/�����6�%����
������. +��-� ���)ก%2�����B�� �)2���6
�!)����!B-���&���-6
�+'!� .05 �2%�,@��!)��
�? <�2.�ก�2��ก!�  
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�����-6
 17 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����� . + ,@��!)'�������-6
���������45������"�4�

ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/������/������ 
���  ,@��!)'�������-6
���������45������"�4�ก���!'���4�A�/�

� ���!"#$ OTOP ,�+��-��� . +���/������/������ 
5�) �B�� 

 
�%� 

�2� 
<�%$�.�%�$ 

 
P-value 

1. ��������+��ก!��1"��� 32.8 67.2 100.0 0.485 0.486 
2. ����&�ก 31.4 68.6 100.0 0.001 0.975 
3. �����&� ��ก�+'!�����<'����ก��45���). +ก�� !�A�/� 29.3 70.7 100.0 0.200 0.655 
4. �+'!������)�24��ก"#$-���� �' . + ��
�? 26.7 73.3 100.0 0.314 0.575 

 
 ��ก�����-6
 17 ���%��!)�,�6)��-6)��!'�2%��+�%2����� . +,@��!)'�������-6
���������
45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/������/������ �')���%��!) .�2�
,@��!)'�������N $� ���!"#$ OTOP ,�+��-��� . +���/������/������   ก�=>" 4 =OPPKQ RS��กH    
1. ��������+��ก!��1"��� 2. ����&�ก 3. �����&� ��ก�+'!�����<'����ก��45���). +ก�� !�
A�/� 4. �+'!������)�24��ก"#$-���� �' . + ��
�? ��ก�?BC�D?��EF!GBH� 4�.�2 +,@��!)'�������
�!/� ����%"�2�<�%$�.�%�$ A	
��6�2� P-value ��กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) �	���1,
<'�%2� ����2��ก!��6,@��!)'�������-6
���������45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP 
,�+��-��� . +���/������/������<�2.�ก�2��ก!� 
 

�����-6
 18 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����� . + �%����)�(�����������4�ก����������� ��

�,I�����
��.�2�ก�),�+��-�2��? 
��� �%����)�(�����������4�ก����������� ���,I� 

����
��.�2�ก�),�+��-�2��? 5�) �B�� 

 
�%� 

�2� 
<�%$�.�%�$ 

 
P-value 

1. ���/� 37.5 62.5 100.0 6.694 0.010 

2. ก���ก� ���� ก�+�,�� 28.3 71.7 100.0 0.245 0.621 

3. 51' 8.5 91.5 100.0 13.057 0.000 

4. ���<- / ����!��� ������
�? 32.8 67.2 100.0 0.104 0.747 

 
 ��ก�����-6
 18 ���%��!)�,�6)��-6)��!'�2%��+�%2����� . +�%����)�(�����������4�
ก����������� ���,I�����
��.�2�ก�),�+��-�2��? �')���%��!) .�2��%����)�(�����������4�ก�����
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������ ���,I�����
��.�2�ก�)  ก�=>" 4 =?��@A <'�.ก2 1. ���/� 2. ก���ก� ���� ก�+�,�� 3. 51' 4. 
���<- / ����!��� ������
�? ��ก�?BC�D?��EF!GBH� ����2��ก!� ����������6�%����)�4�ก��������
��� ���,I�����
��.�2�ก�),�+��-���/� . + 51' .�ก�2��ก!� �')�6�2�<�%$�.�%�$ �-2�ก!� 6.694 
. + 13.057 ��� ��'!� . +�6�2� P-value ���)ก%2� .05 �')���5�)�6�!'�2%�4�ก����������
� ���,I�����
��.�2�ก�),�+��-���/� ���)ก%2�����B�� 4�-������'6)%ก!����5�)�6�!'�2%�4�ก��
��������� ���,I�����
��.�2�ก�),�+��-51'���)ก%2�����B�� �2%�ก����������� ���,I�����
��.�2�
ก�),�+��-��
�? <�2.�ก�2��ก!� 
 

�����-6
 19 
.�'� ���) +4�ก���,�6)��-6)��!'�2%�(����� . + �-��6(��� ���!"#$ OTOP ,�+��-  

��� . + ���/������/������ -6
�������������ก�� 
���  �-��6(��� ���!"#$ OTOP ,�+��- ��� . +

���/������/������ -6
�������������ก�� 5�) �B�� 

 
�%� 

1. ก 12��6.'� 6.5 15.7 12.9 
2. ก 12��6�� ��� 14.0 13.2 13.5 
3. ก 12��6�/������ 34.6 14.9 21.1 
4. ก 12��6�/����  24.3 19.6 21.1 
5. ก 12��6-�� / �6��� / �6�(6)% /  ��
�? 20.6 36.6 31.6 

�%� 100.0 100.0 100.0 
Chi-square = 25.177, df = 4, P-value = 0.000 
 
 ��ก�����-6
 19 ���%��!)�,�6)��-6)��!'�2%��+�%2����� . +�-��6(��� ���!"#$ OTOP 
,�+��- ��� . +���/������/������ -6
�������������ก�� �')���%��!).�2��-��6  ก�=>" 5 ก�MH# <'�.ก2     
1. ก 12��6.'� 2. ก 12��6�� ��� 3. ก 12��6�/������ 4. ก 12��6�/����  5. ก 12��6-��  �6���  �6�(6)% . +
��
�? ��ก�?BC�D?��EF!GBH� ����2��ก!��6�%������ก��4����
��(���-��6(��� ���!"#$ OTOP 
,�+��- ��� . +���/������/������ -6
.�ก�2��ก!� �')����%"�2�<�%$�.�%�$ <'��-2�ก!� 25.177 �2� P-
value �-2�ก!� 0.000 A	
����)ก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) �')���5�)�6�!'�2%�
.�%����4��%������ก���-��6�2��? (��� ���!"#$ OTOP ,�+��-��� . +���/������/������ ���)
ก%2�����B�� 
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�����-6
 20 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����� . + �%������ก��(�����������4�,�+��-(��

��� -6
������ ���,I����/��������
��.�2�ก�) 
���  �%������ก��(�����������4�,�+��-(����� -6
������ ��

�,I����/��������
��.�2�ก�) 
5�) �B�� 

 
�%� 

1. ���<�� 24.3 31.8 29.4 
2. ���MN�) 44.9 52.1 49.9 
3. ���4)��
�? (�!�����+�$ / ,�+'�
>$) 30.8 16.1 20.7 

�%� 100.0 100.0 100.0 
Chi-square = 9.904, df = 2, P-value = 0.007 
 
 ��ก�����-6
 20 ���%��!)�,�6)��-6)��!'�2%��+�%2����� . +�%������ก��(�����������
4�,�+��-(����� -6
������ ���,I����/��������
��.�2�ก�) �')���%��!).�2�5��'����,�+��-(����� 
  ก�=>" 3 =?��@A <'�.ก2 1. ���<�� 2. ���MN�) 3. ���4)��
�? ��ก�?BC�D?��EF!GBH� ����2��ก!�
����2��ก!��6�%������ก��4����
�� ,�+��-(����� -6
������ ���,I����/��������
��.�2�ก�)-6

.�ก�2��ก!� �')����%"�2�<�%$�.�%�$ <'��-2�ก!� 9.904 �2� P-value �-2�ก!� 0.007 A	
����)ก%2��2�
�+'!��!)����!B-6
ก����'<%� (0.05) �')���5�)�6�!'�2%�4��%������ก��4�,�+��-�2��? (�����
-6
������ ���,I����/��������
��.�2�ก�) ���)ก%2�����B�� )ก�%�����4)��
�? 
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�����-6
 21 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����� . + �%������ก��(�����������4����
�� %' �)

���-6
������ ���,I����/��������
��.�2�ก�) 
���  �%������ก��(�����������4����
�� %' �)���

-6
������ ���,I����/��������
��.�2�ก�) 
5�) �B�� 

 
�%� 

1.  %' �).��<-) 32.7 25.5 27.8 
2.  %' �)�2%���!) / .P5!
� 24.3 40.9 35.7 
3.  %' �),�+)1ก�$  28.0 21.7 23.7 
4.  %' �)��
�? (��(��"�� / �!�%$ / ��5) 15.0 11.9 12.9 

�%� 100.0 100.0 100.0 
Chi-square = 8.784, df = 3, P-value = 0.032 
  
 ��ก�����-6
 21 ���%��!)�,�6)��-6)��!'�2%��+�%2����� . +�%������ก��(�����������
4����
�� %' �)���-6
������ ���,I����/��������
��.�2�ก�) �')���%��!) .�2��%������ก��(��
���������4����
�� %' �)���-6
��������� ���,I�����
��.�2�ก�)  ก�=>" 4 =?��@A <'�.ก2 1. 
 %' �).��<-) 2.  %' �)�2%���!) ����  .P5!
� 3.  %' �),�+)1ก�$ 4.  %' �)��
�? 
(��(��"�� / �!�%$ / ��5) ��ก�?BC�D?��EF!GBH� ����2��ก!� ����������6�%������ก��4����
��
 %' �)-6
��������� ���,I�����
��.�2�ก�).�ก�2��ก!� �')����%"�2�<�%$�.�%�$ <'��-2�ก!� 8.784 
. +�6�2� P-value ���)ก%2� .05 �')���5�)�6�!'�2%��%������ก��4����
�� %' �)�2��? (�����
-6
������ ���,I����/��������
��.�2�ก�) ���)ก%2�����B��  
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�����-6
 22 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����� . + ก���!����(���� (2�%���ก���!'�����!/��6/(��

��������� ��ก��
��2��? 
��� ก���!����(���� (2�%���ก���!'�����!/�

�6/(����������� ��ก��
��2��? 
5�) �B�� 

�%� 
(���) +) 

�2� 
<�%$�.�%�$ 

P-value 

1. .�2��!� 4�, �% 33.3 66.7 100.0 0.164 0.685 
2. ���)��� / %����� 25.9 74.1 100.0 0.379 0.538 
3. �-�-!��$   29.0 71.0 100.0 1.582 0.208 
4. %�-)1 26.7 73.3 100.0 0.495 0.482 
5. ��!��������$  31.4 68.6 100.0 0.002 0.963 
6. �������$��0� 28.6 71.4 100.0 0.125 0.724 
7. ��
�? 23.3 76.7 100.0 1.444 0.230 

 
 ��ก�����-6
 22 ���%��!)�,�6)��-6)��!'�2%��+�%2����� . +ก���!����(���� (2�%���ก��
�!'�����!/��6/(�������������ก��
��2��? �')���%��!).�2�,�+��-��
�4�ก���!����(���� (2�%���ก���!'
���   ก�=>" 7 =?��@A RS��กH 1. .�2��!� 4�, �% 2. ���)��� ���� %����� 3. �-�-!��$ 4. %�-)1 5. 
��!��������$     6. �������$��0� 7. ��
�? ��ก�?BC�D?��EF !GBH� -1ก?������ <'��2� P-value -6

��กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) �	���1,<'�%2� ���������-6
�6����2��ก!��6ก���!����(���� 
(2�%���ก���!'�����!/��6/ ��ก��
��2��? <�2.�ก�2��ก!�    
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�����-6
 23 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(��52%���)1 . + �%��&6
4�ก��A�/�� ���!"#$,�+��-���

. +���/������/������ 
52%���)1  �%��&6
4�ก��A�/�� ���!"#$,�+��-���

. +���/������/������ 4�����ก�� OTOP 
0 - 25 
,F 

26 - 35 
,F 

36 - 45 
,F 

46 ,F (	/�
<, 

 
�%� 

1. ,�+��" 1 ��!/� 45.8 49.2 34.4 33.8 41.4 
2. ,�+��" 2 ��!/� 29.2 32.8 30.0 31.2 31.2 
3. ,�+��" 3 ��!/� 16.7 10.2 21.1 20.8 16.3 
4. ,�+��" 4 ��!/� (	/�<, 8.3 7.8 14.4 14.3 11.1 

�%� 100.0 100.0 100.0 100.0 100.0 
Chi-square = 12.845, df = 9, P-value = 0.170 
 

 ��ก�����-6
 23 ���%��!)�,�6)��-6)��!'�2%��+�%2����)1 . +�%��&6
4�ก��A�/�� ���!"#$

,�+��-���. +���/������/������ �').�2�52%���)1��ก�,I� 4 52%� <'�.ก2 1. 0 - 25 ,F 2. 26 - 35 ,F 
3. 36 - 45 ,F 4. 46 ,F (	/�<, . + .�2��%��&6
4�ก��A�/�� ���!"#$ ��ก�,I� 4 ก 12� <'�.ก2 1. 
,�+��" 1 ��!/�  2. ,�+��" 2 ��!/�  3. ,�+��" 3  ��!/�  4. ,�+��" 4 ��!/� (	/�<, � ก��
����%"�2�<�%$�.�%�$ <'��-2�ก!� 12.845 �2� P-value �-2�ก!� 0.170 A	
���กก%2��2��+'!��!)����!B
-6
ก����'<%� (0.05) .�'�%2� �!'�2%��+�%2��52%���)1 . +�%��&6
4�ก��A�/�� ���!"#$,�+��-���
. +���/������/������ <�2.�ก�2��ก!� 
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�����-6
 24 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(��52%���)1 . +���1� -6
� ��กA�/�� ���!"#$ OTOP 

,�+��-��� ��� ���� ���!��"�#� $ 
52%���)1 ���1� -6
� ��ก A�/�� ���!"#$ 

OTOP ,�+��-��� ��� ���� ���
!��"�#� $ 

0 - 25 
,F 

26 - 
35 ,F 

36 - 
45 ,F 

46 ,F 
(	/�<, 

 
�%� 
(���)
 +) 

 
�2� 
<�%$�
.�%�$ 

 
P-value 

1. ���
����<,���4���1�� ��
�4�
��ก������
 

9.4 42.8 27.5 20.3 100.0 5.908 0.116 

2. ����ก��-' ��45� 11.5 41.0 23.0 24.6 100.0 1.061 0.787 

3. ��������+�� 7.3 37.0 31.5 24.2 100.0 14.103 0.003 

4. �1"���'6 14.7 32.2 30.1 23.1 100.0 3.241 0.356 

5. �&��-6
 . + ก����A�/��+'%ก 11.8 41.2 23.5 23.5 100.0 0.410 ���2�<�2<'� * 

6. �%���2��5�
�&��(��.� 2�� �� 7.7 38.5 25.6 28.2 100.0 1.920 0.589 

7. (���� (2�%����ก6
)%ก!�
� ���!"#$-6
<'��!� 

11.8 23.5 29.4 35.3 100.0 2.358 ���2�<�2<'� * 

8. ก�����ก��'6. +ก���2������
ก��(�)-6
'6 

21.4 35.7 7.1 35.7 100.0 3.759 ���2�<�2<'� * 

9. �6�!�(��� ���!"#$ 13.0 39.0 24.7 23.4 100.0 0.274 0.965 

10.  %' �)(��� ���!"#$ 12.9 43.0 23.7 20.4 100.0 1.773 0.621 

11. ��,.��� ���!"#$ 16.8 41.6 20.8 20.8 100.0 3.316 0.345 

12. 52%)��!���1�����ก�� OTOP 
���
�� -�����
>ก��-6
'6(	/� 

11.5 35.2 24.6 28.7 100.0 4.556 0.207 

13. ��1�!ก
$����,@BB�5�%���� 4.6 38.0 27.8 29.6 100.0 13.659 0.003 

14. �6��ก !ก
"$�%���,I�<-) 11.2 30.6 33.7 24.5 100.0 5.550 0.136 

15. ���ก�+.���)� 14.3 71.4 14.3 0.0 100.0 4.222 ���2�<�2<'� * 

16. ��
�? 0.0 50.0 0.0 50.0 100.0 1.576 ���2�<�2<'� * 

* <�2�����&���2�<'� ����+�2� expected count �
��ก%2� 5.0 
 

 ��ก�����-6
 24 ���%��!)�,�6)��-6)��!'�2%��+�%2��52%���)1 . +���1� -6
� ��กA�/�
� ���!"#$ OTOP ,�+��-��� ��� ���� ���!��"�#� $ �')���%��!) .�2����1� -6
� ��กA�/�� ���!"#$ 
OTOP ,�+��-��� ��� ���� ���!��"�#� $   ก�=>" 16 =?��@A RS��กH 1. ���
����<,���4���1�� ��
�
4���ก������
 2. ����ก��-' ��45�  3. ��������+�� 4. �1"���'6 5. �&��-6
 . + ก����A�/�
�+'%ก  6. �%���2��5�
�&��(��.� 2�� �� 7. (���� (2�%����ก6
)%ก!�� ���!"#$-6
<'��!�  8. ก��
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���ก��'6. +ก���2������ก��(�)-6
'6 9. �6�!�(��� ���!"#$ 10.  %' �)(��� ���!"#$            

11. ��,.��� ���!"#$  12. 52%)��!���1�����ก�� OTOP ���
�� -�����
>ก��-6
'6(	/� 13. ��1�!ก
$
����,@BB�5�%���� 14. �6��ก !ก
"$�%���,I�<-)  15. ���ก�+.���)�  16. ��
�? ��ก�?
BC�D?��EF!GBH� UHB$ �QMJH�$กK"LE��EJM��L"���
��(�� �%������+��(������ . + ก����1�!ก
$
����,@BB�5�%���� .�ก�2��ก!� �')�6�2�<�%$�.�%�$ �-2�ก!� 14.103 . + 13.659 ��� ��'!� . +
�6�2� P-value ���)ก%2� .05 �')52%���)1 0 
 25 ,F �6�!'�2%�4�ก��45����1� ���
�� �%������+��
(������(��� ���!"#$4�ก���!'���4�� ��กA�/������� OTOP ,�+��-��� ��� ���� ���!��"�#� $ 
���)-6
�1' 4�-������'6)%ก!�52%���)1 0 
 25 ,F �6�!'�2%�4�ก��45����1� ���
�� ก����1�!ก
$����
,@BB�5�%���� 4�ก���!'���4�� ��กA�/������� OTOP ,�+��-��� ��� ���� ���!��"�#� $ ���)-6
�1' 
�2%����1� ��
�? <�2.�ก�2��ก!� . + �6 5 ���1� -6
<�2�����&%�����+�$�2� <�%$�.�%�$ <'� ��� 1.
�&��-6
 . + ก����A�/��+'%ก 2.(���� (2�%����ก6
)%ก!�� ���!"#$-6
<'��!� 3.ก�����ก��'6. +ก��
�2������ก��(�)-6
'6 4.���ก�+.���)� . + 5.��
�? ����+�2� expected count �
��ก%2� 5.0 
�,��$�A0��$  
 

�����-6
 25 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(��52%���)1 . + ����%�� ���!"#$,�+��-���-6
���������

�6�)�24�,@��1�!� 
52%���)1  ����%�� ���!"#$,�+��-���-6
����������6

�)�24�,@��1�!� 
0 - 25 
,F 

26 - 35 
,F 

36 - 45 
,F 

46 ,F (	/�
<, 

 
�%� 

1 - 5 ��� 97.5 88.8 77.9 69.6 83.0 
5 ��� (	/�<, 2.5 11.2 22.1 30.4 17.0 

�%� 100.0 100.0 100.0 100.0 100.0 
Chi-square = 16.373, df = 3, P-value = 0.001 
 

 ��ก�����-6
 25 ���%��!)�,�6)��-6)��!'�2%��+�%2��52%���)1 . +����%�� ���!"#$
,�+��-���-6
����������6�)�24�,@��1�!� �').�2�����%�� ���!"#$,�+��-���-6
����������6�)�24�
,@��1�!� ��ก�,I� 2 ก 12� <'�.ก2 1. 1-5 ��� . + 2. 5 ���(	/�<, � ก������%"�2�<�%$�.�%�$ <'�
�-2�ก!� 16.373 �2� P-value �-2�ก!� 0.001 A	
����)ก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) �	�
��1,<'�%2� ����%�� ���!"#$ 4�ก 12�-!/� 2 ก 12� .�ก�2��ก!�4�-1ก52%���)1 �')�*��+52%���)1       
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0 
 25 ,F �6�%��.�ก�2��(���!'�2%���ก-6
�1' ก 2�%��� �2%�4�B2�+�6����%�� ���!"#$�)�2ก 12�-6
 
1 ���,�+��" 1 
 5 ��� 
 

�����-6
 26 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(��52%���)1 . + ����%�� ���!"#$���/���������0���,-6


����������6�)�24�,@��1�!� 
52%���)1  ����%�� ���!"#$���/���������0���,-6


����������6�)�24�,@��1�!� 
 

0 - 25 
,F 

26 - 35 
,F 

36 - 45 
,F 

46 ,F (	/�
<, 

 
�%� 

1 - 5 �!% (51') 97.6 89.5 77.9 51.9 78.3 
5 �!% (51') (	/�<, 2.4 10.5 22.1 48.1 21.7 

�%� 100.0 100.0 100.0 100.0 100.0 
Chi-square = 48.809, df = 3, P-value = 0.000 
 

  ��ก�����-6
 26 ���%��!)�,�6)��-6)��!'�2%��+�%2��52%���)1 . +����%�� ���!"#$
���/���������0���,-6
����������6�)�24�,@��1�!� �').�2�����%�� ���!"#$���/���������0���,-6
����������6�)�2
4�,@��1�!���ก�,I� 2 ก 12� <'�.ก2 1. 1-5 �!% (51') . + 2. 5 �!% (51') (	/�<, � ก������%"�2�<�%$�
.�%�$ <'��-2�ก!� 48.809 �2� P-value �-2�ก!� 0.000 A	
����)ก%2��2��+'!��!)����!B-6
ก����'<%� 
(0.05) �	���1,<'�%2� ����%�� ���!"#$ 4�ก 12�-!/� 2 ก 12� .�ก�2��ก!�4�-1ก52%���)1 �')�*��+52%�
��)1 0 
 25 ,F �6�%��.�ก�2��(���!'�2%���ก-6
�1' ก 2�%��� �2%�4�B2�+�6����%�� ���!"#$�)�2
ก 12�-6
 1 ���,�+��" 1 
 5 �!% (51') 
 
 
 
 

 
 
 
 
 
 

 



  
 

86 

�����-6
 27 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(��52%���)1 . + ,@��!)'����1"���-6
���������45�

�����"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/������/������ 
52%���)1      

,@��!)'����1"���-6
���������45������"�4�
ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� 

. +���/������/������ 

0 - 25 
,F 

26 - 
35 ,F 

36 - 
45 ,F 

46 ,F 
(	/�<, 

�%� �2� 
<�%$�
.�%�$ 

P-
value 

1. ���/�����6�%����
������. +��-� 11.8 38.2 23.5 26.5 100.0 1.169 0.761 

2.  !ก
"+�*��+(�����/���� (�����6)� �!�
%�% ���/�'��� ���/���� ���/���� . + ��
�?) 

18.8 30.4 30.4 20.3 100.0 3.305 0.347 

3. �%�� +��6)'�12�(����� 12.7 43.6 29.1 14.5 100.0 2.802 0.423 

4. �2�)�2�ก��-���%���+��' . + �6�6�%��
��
������ <�2�ก ���� A6' 

13.1 29.8 27.4 29.8 100.0 4.471 0.215 

5. ก����ก.��. +�!'�)0��,I�5�/����-6

��6)����) 

13.4 47.8 20.9 17.9 100.0 4.122 0.249 

 
 ��ก�����-6
 27 ���%��!)�,�6)��-6)��!'�2%��+�%2��52%���)1 . +,@��!)'����1"���-6

���������45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/������/������ �')
���%��!) .�2�,@��!)'����1"���N $� ���!"#$ OTOP ,�+��-��� . +���/������/������   ก�=>" 5 
=OPPKQ RS��กH 1.���/�����6�%����
������. +��-� 2.  !ก
"+�*��+(�����/���� (�����6)� �!�%�% 
���/�'��� ���/���� ���/���� . + ��
�?) 3. �%�� +��6)'�12�(����� 4. �2�)�2�ก��-���%���+��' 
. + �6�6�%����
������ <�2�ก ���� A6' 5. ก����ก.��. +�!'�)0��,I�5�/����-6
��6)����) ��ก�?
BC�D?��EF!GBH� -1ก? ,@��!)<'��2� P-value ��กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) �	���1,
<'�%2� 52%���)1�2��ก!� �6,@��!)'����1"���-6
���������45������"�4�ก���!'���4�A�/�� ���!"#$ 
OTOP ,�+��-��� . +���/������/������<�2.�ก�2��ก!�  
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�����-6
 28 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(��52%���)1 . + �%����)�(�����������4�ก����������

� ���,I�����
��.�2�ก�),�+��-�2��? 
52%���)1  �%����)�(�����������4�ก�����

������ ���,I�����
��.�2�ก�)
,�+��-�2��? 

0 - 25 
,F 

26 - 
35 ,F 

36 - 
45 ,F 

46 ,F 
(	/�<, 

 
�%� 

 
�2� 

<�%$�.�%�$ 

 
P-value 

1. ���/� 11.4 29.0 31.3 28.4 100.0 17.705 0.001 
2. ก���ก� ���� ก�+�,�� 30.2 37.7 18.9 13.2 100.0 15.434 0.001 
3. 51' 6.4 38.3 25.5 29.8 100.0 3.585 0.310 
4. ���<- / ����!��� ������
�? 13.4 58.2 19.4 9.0 100.0 17.993 0.000 

 
 ��ก�����-6
 28 ���%��!)�,�6)��-6)��!'�2%��+�%2��52%���)1 . +�%����)�(�����������
4�ก����������� ���,I�����
��.�2�ก�),�+��-�2��? �')���%��!) .�2��%����)�(�����������4�ก��
��������� ���,I�����
��.�2�ก�)  ก�=>" 4 =?��@A RS��กH 1. ����  2. ก�$�ก$ E?� ก?�V=?$ 3. UMS 
4.�"DRA / ���!K"D  E?�  �W"X ��ก�?BC�D?��EF!GBH� 52%���)1�2��ก!��6�%����)���������� ���,I�
����
��.�2�ก�),�+��- ���/� ก���ก� (ก�+�,��) . + ���<- (����!���) ���� ��
�? -6
.�ก�2��ก!� 
�')�6�2�<�%$�.�%�$ �-2�ก!� 17.705 ,15.434 . + 17.993 ��� ��'!� . +�6�2� P-value ���)ก%2� 
.05 �')���/��,I�-6
��)�(��ก 12�52%���)1 36 
 45 ,F ��ก-6
�1' �2%�ก���ก� ����ก�+�,�� 51' . + 
�"DRA / ���!K"D  E?�   �W"X �,I�-6
��)�(����4�ก 12���)1 26 
 35 ,F ��ก-6
�1' 
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�����-6
 29 
.�'� ����%�4�ก���,�6)��-6)��!'�2%�(��52%���)1 . + �-��6(��� ���!"#$ OTOP ,�+��- 

��� . +���/������/������ -6
�������������ก�� 
52%���)1   

�-��6(��� ���!"#$ OTOP ,�+��- ��� 
. +���/������/������ -6
�������������ก�� 

0 - 25 
,F 

26 - 35 
,F 

36 - 45 
,F 

46 ,F (	/�
<, 

 
�%� 

1. ก 12��6.'� 20.8 11.7 9.0 14.3 12.9 
2. ก 12��6�� ��� 14.6 11.7 10.1 19.5 13.5 
3. ก 12��6�/������ 22.9 15.6 30.3 18.2 21.1 
4. ก 12��6�/����  12.5 21.1 20.2 27.3 21.1 
5. ก 12��6-�� / �6��� / �6�(6)% /  ��
�? 29.2 39.8 30.3 20.8 31.6 

�%� 100.0 100.0 100.0 100.0 100.0 
Chi-square = 21.482, df = 12, P-value = 0.044 
 
 ��ก�����-6
 29 ���%��!)�,�6)��-6)��!'�2%��+�%2��52%���)1 . +�-��6(��� ���!"#$ 
OTOP ,�+��- ��� . +���/������/������ -6
�������������ก�� �')���.�ก,�+��-(���-��6��ก�,I� 
5 ก 12� ��� 1. ก 12��6.'� 2. ก 12��6�� ��� 3. ก 12��6�/������  4. ก 12��6�/����  5. ก 12��6-�� / �6��� / 
�6�(6)% . +��
�? � ก������%"�2�<�%$�.�%�$ �-2�ก!� 21.482 �2� P-value �-2�ก!� 0.044 A	
����)
ก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) �	���1,<'�%2� 52%���)1�2��ก!��6�%������ก��4����
��(��
�-��6(��� ���!"#$ OTOP ,�+��- ��� . +���/������/������ -6
.�ก�2��ก!� �)2���6�!)����!B-��
�&���-6
�+'!� .05  �')52%���)1 0 - 25 ,F �6�%������ก���-��64�ก 12� �6-�� �6��� �6�(6)% ��ก-6
�1' 
52%���)1 26 
 35 ,F �6�%������ก���-��64�ก 12� �6-�� �6��� �6�(6)% ��ก-6
�1' 52%���)1 36 
 45 ,F 
�6�%������ก���-��64�ก 12� �6�/������ . + �6-�� �6��� �6�(6)% ��ก-6
�1' �2%�52%���)1 46 ,F(	/�<, 
�6�%������ก���-��64�ก 12� �6�/����  ��ก-6
�1' 
 
 
 
 
 
 
 



  
 

89 

�����-6
 30 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(��52%���)1 . + �%������ก��(�����������4�,�+��-

(����� -6
������ ���,I����/��������
��.�2�ก�) 
52%���)1     �%������ก��(�����������4�,�+��-(��

��� -6
������ ���,I����/��������
��.�2�ก�) 
0 - 25 
,F 

26 - 35 
,F 

36 - 45 
,F 

46 ,F (	/�
<, 

 
�%� 

1. ���<�� 29.2 25.8 32.2 32.5 29.4 
2. ���MN�) 43.8 47.7 54.4 51.9 49.9 
3. ���4)��
�? (�!�����+�$ / ,�+'�
>$) 27.1 26.6 13.3 15.6 20.7 

�%� 100.0 100.0 100.0 100.0 100.0 
Chi-square = 8.393, df = 6, P-value = 0.211 
 
 ��ก�����-6
 30 ���%��!)�,�6)��-6)��!'�2%��+�%2��52%���)1 . +�%������ก��(��
���������4�,�+��-(����� -6
������ ���,I����/��������
��.�2�ก�) �')���.�ก,�+��-(����� 
��ก�,I� 3 ,�+��- ��� 1. ���<�� 2. ���MN�) 3. ���4)��
�? � ก������%"�2�<�%$�.�%�$ <'��-2�ก!� 
8.393 �2� P-value �-2�ก!� 0.211 A	
���กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) .�'�%2� 
�!'�2%��+�%2��52%���)1 . +�%������ก��(�����������4�,�+��-(����� -6
������ ���,I����/����
����
��.�2�ก�) <�2.�ก�2��ก!� 
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�����-6
 31 
.�'� ���) +4�ก���,�6)��-6)��!'�2%�(��52%���)1 . + �%������ก��(�����������4����
��

 %' �)���-6
������ ���,I����/��������
��.�2�ก�) 
52%���)1  �%������ก��(�����������4����
��

 %' �)���-6
������ ���,I����/��������
��
.�2�ก�) 

0 - 25 
,F 

26 - 35 
,F 

36 - 45 
,F 

46 ,F (	/�
<, 

 
�%� 

1.  %' �).��<-) 18.8 18.9 36.7 37.7 27.8 
2.  %' �)�2%���!) / .P5!
� 47.9 42.5 26.7 27.3 35.7 
3.  %' �),�+)1ก�$  22.9 22.8 24.4 24.7 23.7 
4.  %' �)��
�? (��(��"�� / �!�%$ / ��5) 10.4 15.7 12.2 10.4 12.9 

�%� 100.0 100.0 100.0 100.0 100.0 
Chi-square = 19.082, df = 9, P-value = 0.025 
 
 ��ก�����-6
 31 ���%��!)�,�6)��-6)��!'�2%��+�%2��52%���)1 . +�%������ก��(��
���������4����
�� %' �)���-6
������ ���,I����/��������
��.�2�ก�)�')���.�ก,�+��-(�� %' �)
��� ��ก�,I� 4 ,�+��- ��� 1.  %' �)<-) 2.  %' �)�2%���!) / .P5!
� 3.  %' �),�+)1ก�$ 4. 
 %' �)��
�? (��(��"�� �!�%$ ������5 �,I����) � ก������%"�2�<�%$�.�%�$ <'��-2�ก!� 19.082 
�2� P-value �-2�ก!� 0.025 A	
����)ก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) �	���1,<'�%2� 52%���)1
�2��ก!��6�%������ก��4����
�� %' �)���-6
������ ���,I����/��������
��.�2�ก�).�ก�2��ก!� �)2��
�6�!)����!B-���&���-6
�+'!� .05 �')52%���)1 36 ,F(	/�<, �6�!'�2%�4��%������ก��4� %' �)
.��<-) ��ก-6
�1' 4�("+-6
52%���)1 0 - 25 ,F . + 26 
 35 ,F �6�!'�2%�4��%������ก�� %' �)
�2%���!) ���� .P5!
���ก-6
�1'    
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�����-6
 32 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(��52%���)1 . + ก���!����(���� (2�%���ก���!'�����!/��6/

(����������� ��ก��
��2��? 
52%���)1 ก���!����(���� (2�%���ก���!'

�����!/��6/(����������� ��ก��
�
�2��? 

0 - 25 
,F 

26 - 
35 ,F 

36 - 
45 ,F 

46 ,F 
(	/�<, 

 
�%� 

(���) +) 

 
�2� 
<�%$�
.�%�$ 

 
P-value 

1. .�2��!� 4�, �% 14.3 41.3 23.8 20.6 100.0 0.614 0.893 

2. ���)��� / %����� 18.5 48.1 18.5 14.8 100.0 2.776 ���2�<�2<'� * 
3. �-�-!��$   11.7 34.6 27.7 26.0 100.0 8.551 0.036 
4. %�-)1 8.9 44.4 24.4 22.2 100.0 1.734 0.629 

5. ��!��������$  12.8 30.2 31.4 25.6 100.0 3.327 0.344 
6. �������$��0� 17.1 57.1 20.0 5.7 100.0 9.822 ���2�<�2<'� * 
7. ��
�? 23.3 41.9 18.6 16.3 100.0 5.211 0.157 

* <�2�����&���2�<'� ����+�2� expected count �
��ก%2� 5.0 

 
 ��ก�����-6
 32 ���%��!)�,�6)��-6)��!'�2%��+�%2��52%���)1 . +ก���!����(���� (2�%���
ก���!'�����!/��6/(�������������ก��
��2��? �')���%��!).�2�,�+��-��
�4�ก���!����(���� (2�%���ก��
�!'���   ก�=>" 7 =?��@A RS��กH 1. .�2��!� 4�, �% 2. ���)��� ���� %����� 3. �-�-!��$ 4. 
%�-)1 5. ��!��������$ 6. �������$��0� 7. ��
�? ��ก�?BC�D?��EF!GBH� ���������-6
�652%���)1�2��ก!��6
ก���!����(���� (2�%���ก���!'�����!/��6/ ��ก��
�-���-�-!��$.�ก�2��ก!� �)2���6�!)����!B-���&��� 

�')�6�2�<�%$�.�%�$ �-2�ก!� 8.551 . +�6�2� P-value ���)ก%2� .05 �')52%���)1 26 - 35 ,F �6
�!'�2%�4�ก���!����(���� (2�%���ก���!'�����ก��
�-���-�-!��$�6/��ก-6
�1' �2%��������2��? �52� 
��
���ก.�2��!� 4�, �% %�-)1 . + ��!��������$ <�2.�ก�2��ก!� . + �6�6ก 2 ������-6
<�2�����&
%�����+�$�2� <�%$�.�%�$ <'� ��� ��
���ก���)��� ����%����� . + ��
���ก�������$��0� ����+�2� 
expected count �
��ก%2� 5.0 �,��$�A0��$  
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�����-6
 33 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(���+'!�ก���	ก
� . + �%��&6
4�ก��A�/�� ���!"#$

,�+��-���. +���/������/������ 
�+'!�ก���	ก
�   

����%���!/��2�,F4�ก��A�/�� ���!"#$,�+��-���. +
���/������/������ 4�����ก�� OTOP   

�
��ก%2�
,��BB���6 

,��BB�
��6 

���ก%2�
,��BB���6 

 
�%� 

1. ,�+��" 1 ��!/� 41.6 38.4 49.2 41.4 
2. ,�+��" 2 ��!/� 24.8 34.5 32.3 31.2 
3. ,�+��" 3 ��!/� 19.8 16.4 10.8 16.3 
4. ,�+��" 4 ��!/� (	/�<, 13.9 10.7 7.7 11.1 

�%� 100.0 100.0 100.0 100.0 
Chi-square = 6.694, df = 6, P-value = 0.350 
 

 ��ก�����-6
 33 ���%��!)�,�6)��-6)��!'�2%��+�%2���+'!�ก���	ก
� . +�%��&6
4�ก��
A�/�� ���!"#$,�+��-���. +���/������/������ �')����%"�2�<�%$�.�%�$ <'��-2�ก!� 6.694 �2�        
P-value �-2�ก!� 0.350 A	
���กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) .�'�%2� �!'�2%��+�%2��
�+'!�ก���	ก
� . +�%��&6
4�ก��A�/�� ���!"#$,�+��-���. +���/������/������ <�2.�ก�2��ก!� 
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�����-6
 34 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(���+'!�ก���	ก
� . + ���1� -6
� ��ก A�/�� ���!"#$ 

OTOP ,�+��-��� ��� ���� ���!��"�#� $ 
 

�+'!�ก���	ก
� 
 
 
 

P-value 

 
 

���1� -6
� ��ก A�/�� ���!"#$ OTOP ,�+��-
��� ��� ���� ���!��"�#� $ 

�
��ก%2�
,��BB���6 

 
,��BB���6 

���ก%2�
,��BB���6 

 
 

�%� 
(���) +) 

 
 
�2� 
<�%$�
.�%�$  

1. ���
����<,���4���1�� ��
�4���ก��
����
 

21.7 58.7 19.6 100.0 6.954 0.031 

2. ����ก��-' ��45� 32.8 45.9 21.3 100.0 0.967 0.617 

3. ��������+�� 26.7 52.1 21.2 100.0 1.709 0.426 

4. �1"���'6 26.6 47.6 25.9 100.0 7.671 0.022 

5. �&��-6
 . + ก����A�/��+'%ก 35.3 52.9 11.8 100.0 1.480 0.477 

6. �%���2��5�
�&��(��.� 2�� �� 17.9 64.1 17.9 100.0 3.331 0.189 

7. (���� (2�%����ก6
)%ก!�� ���!"#$-6
<'��!� 52.9 41.2 5.9 100.0 5.342 ���2�<�2<'� * 
8. ก�����ก��'6. +ก���2������ก��(�)-6
'6 57.1 42.9 0.0 100.0 6.785 ���2�<�2<'� * 
9. �6�!�(��� ���!"#$ 24.7 49.4 26.0 100.0 3.450 0.178 

10.  %' �)(��� ���!"#$ 23.7 52.7 23.7 100.0 2.973 0.226 

11. ��,.��� ���!"#$ 16.8 60.4 22.8 100.0 10.984 0.004 

12. 52%)��!���1�����ก�� OTOP ���
�� 
-�����
>ก��-6
'6(	/� 

25.4 56.6 18.0 100.0 2.032 0.362 

13. ��1�!ก
$����,@BB�5�%���� 25.9 58.3 15.7 100.0 2.904 0.234 
14. �6��ก !ก
"$�%���,I�<-) 24.5 61.2 14.3 100.0 5.181 0.075 

15. ���ก�+.���)� 14.3 71.4 14.3 100.0 1.184 ���2�<�2<'� * 
16. ��
�? 50.0 50.0 0.0 100.0 0.671 ���2�<�2<'� * 

* <�2�����&���2�<'� ����+�2� expected count �
��ก%2� 5.0 
 

 ��ก�����-6
 34 ���%��!)�,�6)��-6)��!'�2%��+�%2���+'!�ก���	ก
� . +���1� -6
� ��ก
A�/�� ���!"#$ OTOP ,�+��-��� ��� ���� ���!��"�#� $ �')���%��!) .�2����1� -6
� ��กA�/�� ���!"#$ 
OTOP ,�+��-��� ��� ���� ���!��"�#� $   ก�=>" 16 =?��@A ��ก�?BC�D?��EF!GBH� ?�SKG
ก�?IYกZ��2��ก!�4�����1� 4����
�� (��ก�����<,���4���1�� ��
�4���ก������
 ���
��(��
�1"���'6 . + ��,.��� ���!"#$ .�ก�2��ก!� �')�6�2�<�%$�.�%�$ �-2�ก!� 6.954, 7.671 . + 
10.984 ��� ��'!� . +�6�2� P-value ���)ก%2� .05 �')ก���	ก
��+'!�,��BB���6 �6�!'�2%�4�
ก��45����1�  ���
��ก�����<,���4���1�� ��
�4���ก������
(��� ���!"#$4�ก���!'���4�� ��ก
A�/������� OTOP ,�+��-��� ��� ���� ���!��"�#� $ ��ก-6
�1' 4�-������'6)%ก!�ก���	ก
��+'!�
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,��BB���6 �6�!'�2%�4�ก��45����1� ���
�� �1"���'6 . + ��,.��� ���!"#$ 4�ก���!'���4�� ��ก
A�/������� OTOP ,�+��-��� ��� ���� ���!��"�#� $ ��ก-6
�1' �2%����1� ��
�? <�2.�ก�2��ก!�  . + 
�6 4 ���1� -6
<�2�����&%�����+�$�2� <�%$�.�%�$ <'� ��� 1. (���� (2�%����ก6
)%ก!�� ���!"#$-6
<'��!� 
2. ก�����ก��'6. +ก���2������ก��(�)-6
'6 3. ���ก�+.���)� . + 4. ��
�? ����+�2� expected 
count �
��ก%2� 5.0 �,��$�A0��$ 
 

�����-6
 35 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(���+'!�ก���	ก
� . +����%�� ���!"#$,�+��-���-6


����������6�)�24�,@��1�!�  
�+'!�ก���	ก
�   

����%�� ���!"#$,�+��-���-6
����������6�)�24�,@��1�!� 
�
��ก%2�

,��BB���6 
,��BB�
��6 

���ก%2�
,��BB���6 

 
�%� 

1 - 5 ��� 85.0 82.4 81.3 83.0 
5 ��� (	/�<, 15.0 17.6 18.8 17.0 

�%� 100.0 100.0 100.0 100.0 
Chi-square = 0.363, df = 2, P-value = 0.834 

 

 ��ก�����-6
 35 ���%��!)�,�6)��-6)��!'�2%��+�%2���+'!�ก���	ก
� . +����%�
� ���!"#$,�+��-���-6
����������6�)�24�,@��1�!� �')����%"�2�<�%$�.�%�$ <'��-2�ก!� 0.363 �2� P-
value �-2�ก!� 0.834 A	
���กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) .�'�%2� �!'�2%��+�%2��
�+'!�ก���	ก
� . +����%�� ���!"#$,�+��-���-6
�6�)�24�,@��1�!�<�2.�ก�2��ก!�  
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�����-6
 36 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(���+'!�ก���	ก
� . + ����%�� ���!"#$���/����

�����0���,-6
����������6�)�24�,@��1�!� 
�+'!�ก���	ก
�   

����%�� ���!"#$���/���������0���,-6
����������6�)�24�
,@��1�!� 

 

�
��ก%2�
,��BB���6 

,��BB�
��6 

���ก%2�
,��BB���6 

 
�%� 

1 - 5 �!% (51') 76.3 79.0 79.7 78.3 
5 �!% (51') (	/�<, 23.7 21.0 20.3 21.7 

�%� 100.0 100.0 100.0 100.0 
Chi-square = 0.344, df = 2, P-value = 0.842 
 

  ��ก�����-6
 36 ���%��!)�,�6)��-6)��!'�2%��+�%2���+'!�ก���	ก
� . +����%�
� ���!"#$���/���������0���,-6
����������6�)�24�,@��1�!� �')����%"�2�<�%$�.�%�$ <'��-2�ก!� 0. 344 
�2� P-value �-2�ก!� 0. 842 A	
���กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) .�'�%2� �!'�2%�
�+�%2���+'!�ก���	ก
� . + ����%�� ���!"#$���/���������0���,-6
����������6�)�24�,@��1�!�<�2
.�ก�2��ก!�  
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 37 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(���+'!�ก���	ก
� . +,@��!)'����1"���-6
���������45�

�����"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/������/������ 
�+'!�ก���	ก
�   

,@��!)'����1"���-6
���������45������"�
4�ก���!'���4�A�/�� ���!"#$ OTOP 
,�+��-��� . +���/������/������ 

�
��ก%2�
,��BB�
��6 

 
,��BB�
��6 

���ก%2�
,��BB�
��6 

 

 
�%� 

�2� 
<�%$�
.�%�$ 

 
P-value 

1. ���/�����6�%����
������. +��-� 26.5 47.1 26.5 100.0 3.126 0.210 

2.  !ก
"+�*��+(�����/���� (�����6)� �!�
%�% ���/�'��� ���/���� ���/���� . + ��
�?) 

40.6 39.1 20.3 100.0 6.322 0.042 

3. �%�� +��6)'�12�(����� 29.1 50.9 20.0 100.0 0.047 0.977 

4. �2�)�2�ก��-���%���+��' . + �6�6
�%����
������ <�2�ก ���� A6' 

33.3 52.4 14.3 100.0 1.861 0.394 

5. ก����ก.��. +�!'�)0��,I�5�/����-6

��6)����) 

16.4 68.7 14.9 100.0 10.204 0.006 

 
 ��ก�����-6
 37 ���%��!)�,�6)��-6)��!'�2%��+�%2���+'!�ก���	ก
� . + ,@��!)'���
�1"���-6
���������45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP,�+��-��� . +���/������/������ 
�')���%��!) .�2�,@��!)'����1"���N $� ���!"#$ OTOP ,�+��-��� . +���/������/������   ก�=>" 
5 =OPPKQ ��ก�?BC�D?��EF!GBH� �+'!�ก���	ก
��2��ก!� �6ก�������"�,@��!)'����1"���-6

���������45�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/������/������ 4� 2 ,@��!) ��� 1.
,@��!)(�� !ก
"+�*��+(�����/���� (�����6)� �!�%�% ���/�'��� ���/���� ���/���� . + ��
�?) . + 
2. ก����ก.��ก���!'�)0��,I�5�/����-6
��6)����) .�ก�2��ก!� �')�6�2�<�%$�.�%�$ �-2�ก!� 6.322 
. + 10.204 ��� ��'!� . +�6�2� P-value ���)ก%2� .05 �')���������-6
�6�+'!�ก���	ก
��
��ก%2�
,��BB���6 �6�!'�2%�4�ก�������"�,@��!)'����1"���4����
��(�� !ก
"+�*��+(�����/���� (���
��6)� �!�%�% ���/�'��� ���/���� ���/���� . + ��
�?) ��ก-6
�1' 4�("+-6
���������-6
�6�+'!�
ก���	ก
�,��BB���6 �6�!'�2%�4�ก�������"�,@��!)���
��ก����ก.��ก���!'�)0��,I�5�/����-6

��6)����)��ก-6
�1' �2%�,@��!)'����1"�����
�? <�2.�ก�2��ก!�  
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�����-6
 38 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(���+'!�ก���	ก
� . + ,@��!)'�������-6
���������45�

�����"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/������/������ 
�+'!�ก���	ก
�  

,@��!)'�������-6
���������45������"�
4�ก���!'���4�A�/�� ���!"#$ OTOP 
,�+��-��� . +���/������/������ 

�
��ก%2�
,��BB�
��6 

,��BB�
��6 

���ก%2�
,��BB�
��6 

 
�%� 

�2� 
<�%$�
.�%�$ 

 
P-value 

1. ��������+��ก!��1"��� 22.6 52.2 25.3 100.0 15.089 0.001 

2. ����&�ก 68.6 22.9 8.6 100.0 28.720 0.000 

3. �����&� ��ก�+'!�����<'����ก��
45���). +ก�� !�A�/� 

25.0 64.1 10.9 100.0 8.999 0.011 

4. �+'!������)�24��ก"#$-���� �' 
. + ��
�? 

40.0 43.3 16.7 100.0 1.770 0.413 

 
 ��ก�����-6
 38 ���%��!)�,�6)��-6)��!'�2%��+�%2���+'!�ก���	ก
� . +,@��!)'�������
-6
���������45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/������/������ �')
���%��!) .�2�,@��!)'�������N $� ���!"#$ OTOP ,�+��-��� . +���/������/������   ก�=>" 4 
=OPPKQ ��ก�?BC�D?��EF!GBH� �+'!�ก���	ก
��2��ก!� �6ก�������"�,@��!)'�������-6
���������45�
4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/������/������ 4� 3 ���
�� ��� 1. ����
����+��ก!��1"��� 2. ����&�ก . + 3. �����&� ��ก�+'!�����<'����ก��45���). +ก�� !�A�/� 
.�ก�2��ก!� �')�6�2�<�%$�.�%�$ �-2�ก!� 15.089, 28.720 . + 8.999 ��� ��'!� . +�6�2� P-
value ���)ก%2� .05 �')�+'!�ก���	ก
�,��BB���6�6�!'�2%�4�ก�������"�4�,@��!)���
�� ����
����+��ก!��1"�����ก-6
�1' 4�-������'6)%ก!��+'!�ก���	ก
�,��BB���6�6�!'�2%�4�ก��
�����"�4�,@��!)���
�� �����&� ��ก�+'!�����<'����ก��45���). +ก�� !�A�/���ก-6
�1' 4�("+
-6
�+'!�ก���	ก
��
��ก%2�,��BB���6�6�!'�2%�4�ก�������"�4�,@��!)���
�� ����&�ก��ก-6
�1' �2%�
,@��!)'����������
����
�? <�2.�ก�2��ก!� 
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 39 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(���+'!�ก���	ก
� . + �%����)�(�����������4�ก��

��������� ���,I�����
��.�2�ก�),�+��-�2��? 
�+'!�ก���	ก
�  �%����)�(�����������4�ก��

��������� ���,I�����
��.�2�
ก�),�+��-�2��? 

�
��ก%2�
,��BB���6 

,��BB�
��6 

���ก%2�
,��BB���6 

 
�%� 

�2� 
<�%$�
.�%�$ 

 
P-value 

1. ���/� 33.5 52.3 14.2 100.0 6.368 0.041 
2. ก���ก� ���� ก�+�,�� 35.8 56.6 7.5 100.0 5.478 0.065 
3. 51' 25.5 57.4 17.0 100.0 0.751 0.687 
4. ���<- / ����!��� ������
�? 16.4 41.8 41.8 100.0 29.275 0.000 

 
 ��ก�����-6
 39 ���%��!)�,�6)��-6)��!'�2%��+�%2���+'!�ก���	ก
� . +�%����)�(��
���������4�ก����������� ���,I�����
��.�2�ก�),�+��-�2��? �')���%��!).�2��%����)�(��
���������4�ก����������� ���,I�����
��.�2�ก�)  ก�=>" 4 =?��@A ��ก�?BC�D?��EF!GBH� �+'!�
ก���	ก
��2��ก!� ����������6�%����)�4�ก����������� ���,I�����
��.�2�ก�),�+��- ���/� . + 
���<- ����!��� ������
�? .�ก�2��ก!� �')�6�2�<�%$�.�%�$ �-2�ก!� 6.368 . + 29.275 ��� ��'!� 
. +�6�2� P-value ���)ก%2� .05 �')�+'!�ก���	ก
�,��BB���6�6�!'�2%�4��%����)���������
� ���,I� ���/� ��ก-6
�1' 4�-������'6)%ก!��+'!�ก���	ก
�,��BB���6 . + ���ก%2�,��BB���6 �6
�!'�2%�4��%����)���������� ���,I����<- ���� ����!��� . + ��
�? ��กก%2��+'!�ก���	ก
��
��
ก%2�,��BB���6 �2%�����
��.�2�ก�)-6
��ก�������ก�6/ <�2���%��.�ก�2���+�%2���+'!�ก���	ก
� 
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 40 
.�'� ����%�4�ก���,�6)��-6)��!'�2%�(���+'!�ก���	ก
� . + �-��6(��� ���!"#$ OTOP 

,�+��- ��� . +���/������/������ -6
�������������ก�� 
�+'!�ก���	ก
�   

�-��6(��� ���!"#$ OTOP ,�+��- ��� 
. +���/������/������ -6
�������������ก�� 

�
��ก%2�
,��BB���6 

,��BB���6 ���ก%2�
,��BB���6 

 
�%� 

1. ก 12��6.'� 17.8 8.0 18.5 12.9 
2. ก 12��6�� ��� 13.9 11.9 16.9 13.5 
3. ก 12��6�/������ 19.8 25.6 10.8 21.1 
4. ก 12��6�/����  21.8 21.0 20.0 21.1 
5. ก 12��6-�� / �6��� / �6�(6)% /  ��
�? 26.7 33.5 33.8 31.6 

�%� 100.0 100.0 100.0 100.0 
Chi-square = 13.879, df = 8, P-value = 0.085 
 
 ��ก�����-6
 40 ���%��!)�,�6)��-6)��!'�2%��+�%2���+'!�ก���	ก
� . +�-��6(��
� ���!"#$ OTOP ,�+��- ��� . +���/������/������ -6
�������������ก�� �')����%"�2�<�%$�.�%�$ 
<'��-2�ก!� 13.879 �2� P-value �-2�ก!� 0.085 A	
���กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) 
.�'�%2� �!'�2%��+�%2���+'!�ก���	ก
� . +�-��6(��� ���!"#$ OTOP ,�+��- ��� . +���/����
��/������-6
�������������ก�� <�2.�ก�2��ก!� 
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 41 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(���+'!�ก���	ก
� . + �%������ก��(�����������4�

,�+��-(����� -6
������ ���,I����/��������
��.�2�ก�) 
�+'!�ก���	ก
�   

�%������ก��(�����������4�,�+��-(����� -6

������ ���,I����/��������
��.�2�ก�) 

�
��ก%2�
,��BB���6 

,��BB�
��6 

���ก%2�
,��BB���6 

 
�%� 

1. ���<�� 18.8 28.8 47.7 29.4 
2. ���MN�) 54.5 53.1 33.8 49.9 
3. ���4)��
�? (�!�����+�$ / ,�+'�
>$) 26.7 18.1 18.5 20.7 

�%� 100.0 100.0 100.0 100.0 
Chi-square = 17.918, df = 4, P-value = 0.001 
 
 ��ก�����-6
 41 ���%��!)�,�6)��-6)��!'�2%��+�%2���+'!�ก���	ก
� . +�%������ก��
(�����������4�,�+��-(����� -6
������ ���,I����/��������
��.�2�ก�) �')����%"�2�<�%$�.�%�$ 
<'��-2�ก!� 17.918 �2� P-value �-2�ก!� 0.001 A	
���กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) �	�
��1,<'�%2� �+'!�ก���	ก
��2��ก!��6�%������ก��4����
�� ,�+��-(����� -6
������ ���,I����/����
����
��.�2�ก�)-6
.�ก�2��ก!� �')ก���	ก
��+'!��
��ก%2�,��BB���6 . + ,��BB���6 �6�!'�2%�4�
�%������ก��������MN�)��� ���,I����/��������
��.�2�ก�)��กก%2����,�+��-��
�? 4�("+-6
 
ก���	ก
��+'!����ก%2�,��BB���6 �6�!'�2%�4��%������ก��������<����� ���,I����/��������
��
.�2�ก�)��กก%2����,�+��- ��
�? 
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 42 
.�'� ���) +4�ก���,�6)��-6)��!'�2%�(���+'!�ก���	ก
� . + �%������ก��(�����������4�

���
�� %' �)���-6
������ ���,I����/��������
��.�2�ก�) 
�+'!�ก���	ก
�  �%������ก��(�����������4����
��

 %' �)���-6
������ ���,I����/��������
��
.�2�ก�) 

�
��ก%2�
,��BB���6 

,��BB�
��6 

���ก%2�
,��BB���6 

 
�%� 

1.  %' �).��<-) 29.7 29.0 21.5 27.8 
2.  %' �)�2%���!) / .P5!
� 30.7 35.8 43.1 35.7 
3.  %' �),�+)1ก�$  22.8 23.3 26.2 23.7 
4.  %' �)��
�? (��(��"�� / �!�%$ / ��5) 16.8 11.9 9.2 12.9 

�%� 100.0 100.0 100.0 100.0 
Chi-square = 5.074, df = 6, P-value = 0.534 
 
 ��ก�����-6
 42 ���%��!)�,�6)��-6)��!'�2%��+�%2���+'!�ก���	ก
� . +�%������ก��
(�����������4����
�� %' �)���-6
������ ���,I����/��������
��.�2�ก�) �')����%"�2�<�%$�.�%�$ 
<'��-2�ก!� 5.074 �2� P-value �-2�ก!� 0.534 A	
���กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) 
.�'�%2� �!'�2%��+�%2���+'!�ก���	ก
� . +�%������ก��(�����������4����
�� %' �)���-6

������ ���,I����/��������
��.�2�ก�)<�2.�ก�2��ก!� 
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 43 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(���+'!�ก���	ก
� . + ก���!����(���� (2�%��� 

ก���!'�����!/��6/(����������� ��ก��
��2��? 
�+'!�ก���	ก
�  

ก���!����(���� (2�%���ก��
�!'�����!/��6/(����������� 

��ก��
��2��? 

�
��ก%2�
,��BB���6 

,��BB�
��6 

���ก%2�
,��BB���6 

 
 

�%� 
(���) +) 

 
�2� 
<�%$�
.�%�$ 

 
P-value 

1. .�2��!� 4�, �% 33.3 52.4 14.3 100.0 1.291 0.524 
2. ���)��� / %����� 25.9 59.3 14.8 100.0 0.721 0.697 
3. �-�-!��$   29.4 52.4 18.2 100.0 0.303 0.859 
4. %�-)1 40.0 44.4 15.6 100.0 2.789 0.248 

5. ��!��������$  22.1 55.8 22.1 100.0 3.100 0.212 

6. �������$��0� 11.4 42.9 45.7 100.0 19.608 0.000 

7. ��
�? 20.9 62.8 16.3 100.0 2.588 0.274 

 
 ��ก�����-6
 43 ���%��!)�,�6)��-6)��!'�2%��+�%2���+'!�ก���	ก
� . + ก���!����(���� 
(2�%���ก���!'�����!/��6/(�������������ก��
��2��? �')���%��!).�2�,�+��-��
�4�ก���!����(���� 
(2�%���ก���!'���   ก�=>" 7 =?��@A ��ก�?BC�D?��EF!GBH� ���������-6
�6�+'!�ก���	ก
� 
�2��ก!��6�!'�2%�4�ก���!����(���� (2�%���ก���!'�����!/��6/ ��ก��
�-���������$��0�.�ก�2��ก!� 
�')�6�2�<�%$�.�%�$ �-2�ก!� 19.608 . +�6�2� P-value ���)ก%2� .05 �')ก���	ก
��+'!����ก%2�
,��BB���6 �6�!'�2%�4�ก���!����(���� (2�%���ก���!'�����ก��
�-���������$��0��6/��ก-6
�1' �2%�
ก���!����(���� (2�%�����ก��
���
�? <�2.�ก�2��ก!�  
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 44 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����56� . + �%��&6
4�ก��A�/�� ���!"#$,�+��-���

. +���/������/������ 
��56�  

����%���!/��2�,F4�ก��A�/�� ���!"#$,�+��-
���. +���/������/������ 4�����ก�� OTOP 

�!���5ก�� ��!ก���
��ก5� 

��56�����+ / )!�<�2
,�+ก����56� 

 
�%� 

1. ,�+��" 1 ��!/� 38.4 46.3 39.0 41.4 
2. ,�+��" 2 ��!/� 38.4 33.1 25.0 31.2 
3. ,�+��" 3 ��!/� 12.8 14.9 19.9 16.3 
4. ,�+��" 4 ��!/� (	/�<, 10.5 5.8 16.2 11.1 

�%� 100.0 100.0 100.0 100.0 
Chi-square = 12.439, df = 6, P-value = 0.05 
 

 ��ก�����-6
 44 ���%��!)�,�6)��-6)��!'�2%��+�%2����56� . +�%��&6
4�ก��A�/�
� ���!"#$,�+��-���. +���/������/������ �')����%"�2�<�%$�.�%�$ <'��-2�ก!� 12.439 �2�          
P-value �-2�ก!� 0.05 A	
��-2�ก!��2��+'!��!)����!B-6
ก����'<%� (0.05) .�'�%2� �!'�2%��+�%2��
��56� . +�%��&6
4�ก��A�/�� ���!"#$,�+��-���. +���/������/������.�ก�2��ก!� �')-!/� 3 ��56� 
�6�!'�2%�(������%���!/��2�,F4�ก��A�/�� ���!"#$,�+��-���. +���/������/������ 1 
 2 ��!/� 
��กก%2� 3 
 4 ��!/� (	/�<, 
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�����-6
 45 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����56� . + ���1� -6
� ��ก A�/�� ���!"#$ OTOP 

,�+��-��� ��� ���� ���!��"�#� $ 
��56�  

���1� -6
� ��ก A�/�� ���!"#$ OTOP 
,�+��-��� ��� ���� ���!��"�#� $ �!�

��5ก�� 
��!ก 
���
��ก5� 

��56�����+ / )!�
<�2 ,�+ก��

��56� 

 
 

�%� 
 

 
�2� 
<�%$�
.�%�$ 

 
 
 

P-value 

1. ���
����<,���4���1�� ��
�4���ก��
����
 

27.5 33.3 39.1 100.0 0.822 0.663 

2. ����ก��-' ��45� 19.7 42.6 37.7 100.0 2.069 0.355 
3. ��������+�� 31.5 35.2 33.3 100.0 8.464 0.015 
4. �1"���'6 26.6 32.9 40.6 100.0 0.675 0.714 
5. �&��-6
 . + ก����A�/��+'%ก 23.5 32.4 44.1 100.0 0.317 0.853 
6. �%���2��5�
�&��(��.� 2�� �� 30.8 41.0 28.2 100.0 2.435 0.296 
7. (���� (2�%����ก6
)%ก!�� ���!"#$-6

<'��!� 

11.8 29.4 58.8 100.0 3.096 ���2�<�2<'� * 

8. ก�����ก��'6. +ก���2������ก��
(�)-6
'6 

14.3 35.7 50.0 100.0 1.072 ���2�<�2<'� * 

9. �6�!�(��� ���!"#$ 20.8 37.7 41.6 100.0 0.981 0.612 
10.  %' �)(��� ���!"#$ 23.7 39.8 36.6 100.0 1.145 0.564 
11. ��,.��� ���!"#$ 26.7 35.6 37.6 100.0 0.311 0.856 

12. 52%)��!���1�����ก�� OTOP ���
�
� -�����
>ก��-6
'6(	/� 

32.8 25.4 41.8 100.0 9.941 0.007 

13. ��1�!ก
$����,@BB�5�%���� 35.2 26.9 38.0 100.0 9.714 0.008 
14. �6��ก !ก
"$�%���,I�<-) 33.7 20.4 45.9 100.0 14.006 0.001 
15. ���ก�+.���)� 14.3 85.7 0.0 100.0 8.318 ���2�<�2<'� * 
16. ��
�? 50.0 0.0 50.0 100.0 1.263 ���2�<�2<'� * 

* <�2�����&���2�<'� ����+�2� expected count �
��ก%2� 5.0 
 

 ��ก�����-6
 45 ���%��!)�,�6)��-6)��!'�2%��+�%2����56� . +���1� -6
� ��กA�/�
� ���!"#$ OTOP ,�+��-��� ��� ���� ���!��"�#� $ �')���%��!) .�2����1� -6
� ��กA�/�� ���!"#$ 
OTOP ,�+��-��� ��� ���� ���!��"�#� $   ก�=>" 16 =?��@A ��ก�?BC�D?��EF!GBH�  �U[!JH�$กK"

LE��EJM��L" 4 ���
�� ��� 1. ��������+�� 2. 52%)��!���1�����ก�� OTOP ���
�� -�����
>ก��
-6
'6(	/� 3. ��1�!ก
$����,@BB�5�%���� . + 4. �6��ก !ก
"$�%���,I�<-) .�ก�2��ก!� �')�6�2�
<�%$�.�%�$ �-2�ก!� 8.464, 9.941, 9.714, . + 14.006 ��� ��'!� . +�6�2� P-value ���)ก%2� .05 
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�')��!ก�����ก5��6�!'�2%�4�ก��45����1� ���
�� �%������+��(������4�ก���!'���4�� ��ก
A�/������� OTOP ,�+��-��� ��� ���� ���!��"�#� $ ��ก-6
�1' 4�("+-6
ก 12���56�����+. + )!�<�2

,�+ก����56��6�!'�2%�4�ก��45����1� ���
�� ก��52%)��!���1�����ก�� OTOP ���
�� -��
���
>ก��-6
'6(	/� ก����1�!ก
$����,@BB�5�%���� . + �6��ก !ก
"$�%���,I�<-) 4�ก���!'���4�
� ��กA�/������� OTOP ,�+��-��� ��� ���� ���!��"�#� $ ��ก-6
�1' �2%����1� 4����
����
�? <�2
.�ก�2��ก!� . + �6 4 ���1� -6
<�2�����&%�����+�$�2� <�%$�.�%�$ <'� ��� 1. (���� (2�%����ก6
)%ก!�
� ���!"#$-6
<'��!� 2. ก�����ก��'6. +ก���2������ก��(�)-6
'6 3. ���ก�+.���)� . + 4. ��
�? 
����+�2� expected count �
��ก%2� 5.0 �,��$�A0��$  
 

�����-6
 46 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����56� . +����%�� ���!"#$,�+��-���-6
��������� 

�6�)�24�,@��1�!� 
��56�  

����%�� ���!"#$,�+��-���-6
����������6�)�24�
,@��1�!� 

�!���5ก�� ��!ก���
��ก5� 

��56�����+ / )!�<�2 
   ,�+ก����56� 

 
�%� 

1 - 5 ��� 75.0 94.5 77.5 83.0 
5 ��� (	/�<, 25.0 5.5 22.5 17.0 

�%� 100.0 100.0 100.0 100.0 
Chi-square = 13.487, df = 2, P-value = 0.001 
 

 ��ก�����-6
 46 ���%��!)�,�6)��-6)��!'�2%��+�%2����56� . +����%�� ���!"#$,�+��-
���-6
����������6�)�24�,@��1�!� �')����%"�2�<�%$�.�%�$ <'��-2�ก!� 13.487 �2� P-value �-2�ก!� 
0.001 A	
����)ก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) �	���1,<'�%2� ��56��2��ก!��6����%�
� ���!"#$,�+��-���-6
�6�)�24�,@��1�!�.�ก�2��ก!� �')-!/� 3 ��56� �2%�4�B2�6� ���!"#$,�+��-
�������%� 1 
 5 ��� ��กก%2� �6� ���!"#$,�+��-�������%� 5 ���(	/�<, 

 
 
 
 
 
 



  
 

106 

�����-6
 47 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����56� . + ����%�� ���!"#$���/���������0���, 

-6
����������6�)�24�,@��1�!� 
��56�  

����%�� ���!"#$���/���������0���,-6

����������6�)�24�,@��1�!� 

 

�!���5ก�� ��!ก���
��ก5� 

��56�����+ / )!�<�2 
   ,�+ก����56� 

 
�%� 

1 - 5 �!% (51') 69.8 88.2 76.2 78.3 
5 �!% (51') (	/�<, 30.2 11.8 23.8 21.7 

�%� 100.0 100.0 100.0 100.0 
Chi-square = 9.964, df = 2, P-value = 0.007 
 

  ��ก�����-6
 47 ���%��!)�,�6)��-6)��!'�2%��+�%2����56� . +����%�� ���!"#$���/����
�����0���,-6
����������6�)�24�,@��1�!� �')����%"�2�<�%$�.�%�$ <'��-2�ก!� 9.964 �2� P-value �-2�ก!� 
0.007 A	
����)ก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) �	���1,<'�%2� -!/� 3 ��56� �6����%�
� ���!"#$���/���������0���, 1 
 5 �!% ��กก%2� �6����%�� ���!"#$���/���������0���, 5 �!%(	/�<, 
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�����-6
 48 

.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����56� . +,@��!)'����1"���-6
���������45������"�
4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/������/������ 

��56�  
,@��!)'����1"���-6
���������45������"�4�
ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-

��� . +���/������/������ 

�!�
��5ก�� 

��!ก���
��ก5� 

��56�����+ / 
)!�<�2,�+ก��

��56� 

 

 
�%� 

 
�2� 
<�%$�
.�%�$ 

 
 

P-value 

1. ���/�����6�%����
������. +��-� 22.1 36.8 41.2 100.0 0.410 0.815 
2.  !ก
"+�*��+(�����/���� (�����6)� �!�
%�% ���/�'��� ���/���� ���/���� . + ��
�?) 

20.3 33.3 46.4 100.0 1.866 0.393 

3. �%�� +��6)'�12�(����� 23.6 41.8 34.5 100.0 1.279 0.528 

4. �2�)�2�ก��-���%���+��' . + �6�6
�%����
������ <�2�ก ���� A6' 

33.3 27.4 39.3 100.0 4.997 0.082 

5. ก����ก.��. +�!'�)0��,I�5�/����-6

��6)����) 

23.9 40.3 35.8 100.0 0.950 0.622 

  
 ��ก�����-6
 48 ���%��!)�,�6)��-6)��!'�2%��+�%2����56� . +,@��!)'����1"���-6


���������45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/������/������ �')
���%��!) .�2�,@��!)'����1"���N $� ���!"#$ OTOP ,�+��-��� . +���/������/������   ก�=>" 5 
=OPPKQ ��ก�?BC�D?��EF!GBH� -1ก?������ <'��2� P-value -6
��กก%2��2��+'!��!)����!B-6
ก����'<%� 
(0.05) �	���1,<'�%2�  �U[!JH�$กK"�6,@��!)'����1"���-6
���������45������"�4�ก���!'���4�A�/�
� ���!"#$ OTOP,�+��-���. +���/������/������ <�2.�ก�2��ก!�  
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�����-6
 49 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����56� . + ,@��!)'�������-6
���������45������"�4�

ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/������/������ 
��56�   

,@��!)'�������-6
���������45�
�����"�4�ก���!'���4�A�/�
� ���!"#$ OTOP ,�+��-��� 

. +���/������/������ 

�!�
��5ก�� 

��!ก���
��ก5� 

��56�����+ / 
)!�<�2,�+ก��

��56� 

 
�%� 

�2� 
<�%$�
.�%�$ 

 
P-value 

1. ��������+��ก!��1"��� 30.1 36.0 33.9 100.0 7.595 0.022 

2. ����&�ก 5.7 34.3 60.0 100.0 9.908 0.007 

3.�����&� ��ก�+'!�����<'�
���ก��45���). +ก�� !�A�/� 

28.3 35.9 35.9 100.0 0.975 0.614 

4.�+'!������)�24��ก"#$
-���� �' . + ��
�? 

6.7 30.0 63.3 100.0 9.352 0.009 

 
 ��ก�����-6
 49 ���%��!)�,�6)��-6)��!'�2%��+�%2����56� . +,@��!)'�������-6
���������
45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-���. +���/������/������ �')���%��!) .�2�
,@��!)'�������N $� ���!"#$ OTOP ,�+��-��� . +���/������/������   ก�=>" 4 =OPPKQ ��ก�?
BC�D?��EF!GBH� ��56��2��ก!��6ก�������"�,@��!)'�������-6
���������45�4�ก���!'���4�A�/� 
� ���!"#$ OTOP ,�+��-��� . +���/������/������ 4� 3 ���
�� ��� 1. ��������+��ก!��1"���     
2. ����&�ก . + 3. �+'!������)�24��ก"#$-���� �' . + ��
�? .�ก�2��ก!� �')�6�2�<�%$�.�%�$ 
�-2�ก!� 7.595, 9.908 . + 9.352 ��� ��'!� . +�6�2� P-value ���)ก%2� .05 �')��!ก�����ก5�
�6�!'�2%�4�ก�������"�4�,@��!)���
�� ��������+��ก!��1"�����ก-6
�1' 4�("+-6
ก 12���56�
����+ . + )!�<�2,�+ก����56��6�!'�2%�4�ก�������"�4�,@��!)���
�� ����&�ก . +�+'!������)�2
4��ก"#$-���� �' . + ��
�? ��ก-6
�1' 
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�����-6
 50 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����56� . + �%����)�(�����������4�ก����� 

������ ���,I�����
��.�2�ก�),�+��-�2��? 
��56�   

�%����)�(�����������4�ก��
��������� ���,I�����
��.�2�

ก�),�+��-�2��? 

�!�
��5ก�� 

��!ก���
��ก5� 

��56�����+ / 
)!�<�2,�+ก��

��56� 

 

 
�%� 

 
�2� 
<�%$�
.�%�$ 

 
 

P-value 

1. ���/� 35.2 22.2 42.6 100.0 33.300 0.000 
2. ก���ก� ���� ก�+�,�� 9.4 41.5 49.1 100.0 8.204 0.017 
3. 51' 31.9 29.8 38.3 100.0 1.507 0.471 
4. ���<- / ����!��� ������
�? 6.0 68.7 25.4 100.0 42.698 0.000 

 
 ��ก�����-6
 50 ���%��!)�,�6)��-6)��!'�2%��+�%2����56� . +�%����)�(�����������4�
ก����������� ���,I�����
��.�2�ก�),�+��-�2��? �')���%��!) .�2��%����)�(�����������4�ก�����
������ ���,I�����
��.�2�ก�)  ก�=>" 4 =?��@A ��ก�?BC�D?��EF!GBH� ��56��2��ก!��6�%����)�
4�ก����������� ���,I�����
��.�2�ก�),�+��- ���/� ก���ก�����ก�+�,��  ���<- ����!��� . + 
��
�? .�ก�2��ก!� �')�6�2�<�%$�.�%�$ �-2�ก!� 33.300, 8.204 . + 42.698 ��� ��'!� . +�6�2� P-
value ���)ก%2� .05 �')ก 12���56�����+ . +)!�<�2,�+ก����56��6�!'�2%�4�ก����)���������
� ���,I� ���/� ก���ก� ���� ก�+�,�� ��ก-6
�1' 4�("+-6
��!ก�����ก5� �6�!'�2%�4�ก����)����
������ ���,I� ���<- ���� ����!��� ������
�? ��ก-6
�1' �2%�ก����������� ���,I�51' <�2.�ก�2��
ก!� 
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�����-6
 51 
.�'� ����%�4�ก���,�6)��-6)��!'�2%�(����56� . + �-��6(��� ���!"#$ OTOP ,�+��-  

��� . +���/������/������ -6
�������������ก�� 
��56�   

�-��6(��� ���!"#$ OTOP 
,�+��- ��� . +���/������/������ -6


�������������ก�� 

�!���5ก�� ��!ก���
��ก5� 

��56�����+ / )!�<�2 
,�+ก����56� 

 
�%� 

1. ก 12��6.'� 12.9 10.7 14.7 12.9 

2. ก 12��6�� ��� 11.8 17.4 11.0 13.5 

3. ก 12��6�/������ 30.6 12.4 22.8 21.1 

4. ก 12��6�/����  16.5 23.1 22.1 21.1 

5. ก 12��6-�� / �6��� / �6�(6)% /  ��
�? 28.2 36.4 29.4 31.6 

�%� 100.0 100.0 100.0 100.0 
Chi-square = 13.643, df = 8, P-value = 0.092 
 
 ��ก�����-6
 51 ���%��!)�,�6)��-6)��!'�2%��+�%2����56� . +�-��6(��� ���!"#$ 
OTOP ,�+��- ��� . +���/������/������ -6
�������������ก�� �')����%"�2�<�%$�.�%�$ <'��-2�ก!� 
13.643 �2� P-value �-2�ก!� 0.092 A	
���กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) .�'�%2� 
��56��2��ก!��6�%������ก��4����
��(���-��6(��� ���!"#$ OTOP ,�+��- ��� . +���/����
��/������ -6
<�2.�ก�2��ก!� 
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�����-6
 52 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����56� . + �%������ก��(�����������4�,�+��-(��

��� -6
������ ���,I����/��������
��.�2�ก�) 
��56�   

�%������ก��(�����������4�,�+��-(��
��� -6
������ ���,I����/��������
��.�2�ก�) 

�!���5ก�� ��!ก���
��ก5� 

��56�����+ / )!�<�2 
,�+ก����56� 

 
�%� 

1. ���<�� 34.9 28.9 26.5 29.4 
2. ���MN�) 53.5 44.6 52.2 49.9 
3. ���4)��
�? (�!�����+�$ / ,�+'�
>$) 11.6 26.4 21.3 20.7 

�%� 100.0 100.0 100.0 100.0 
Chi-square = 7.700, df = 4, P-value = 0.103 
 
 ��ก�����-6
 52 ���%��!)�,�6)��-6)��!'�2%��+�%2����56� . +�%������ก��(��
���������4�,�+��-(����� -6
������ ���,I����/��������
��.�2�ก�) �')����%"�2�<�%$�.�%�$ <'�
�-2�ก!� 7.700 �2� P-value �-2�ก!� 0.103 A	
���กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) .�'�
%2� ��56��2��ก!��6�%������ก��4����
�� ,�+��-(����� -6
������ ���,I����/��������
��.�2�ก�)-6
<�2
.�ก�2��ก!�  

 
�����-6
 53 

.�'� ���) +4�ก���,�6)��-6)��!'�2%�(����56� . + �%������ก��(�����������4����
��
 %' �)���-6
������ ���,I����/��������
��.�2�ก�) 

��56�  �%������ก��(�����������4����
��
 %' �)���-6
������ ���,I����/��������
��

.�2�ก�) 
�!���5ก�� ��!ก���

��ก5� 
��56�����+ / )!�<�2
,�+ก����56� 

 
�%� 

1.  %' �).��<-) 34.9 21.5 28.9 27.8 
2.  %' �)�2%���!) / .P5!
� 23.3 44.6 35.6 35.7 
3.  %' �),�+)1ก�$  30.2 20.7 22.2 23.7 
4.  %' �)��
�? (��(��"�� / �!�%$ / ��5) 11.6 13.2 13.3 12.9 

�%� 100.0 100.0 100.0 100.0 
Chi-square = 12.068, df = 6, P-value = 0.060 
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 ��ก�����-6
 53 ���%��!)�,�6)��-6)��!'�2%��+�%2����56� . +�%������ก��(��
���������4����
�� %' �)���-6
������ ���,I����/��������
��.�2�ก�) �')����%"�2�<�%$�.�%�$ 
�-2�ก!� 12.068 �2� P-value �-2�ก!� 0.060 A	
���กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) .�'�
%2� ��56��2��ก!� �6�%������ก��4� ���
�� %' �)���-6
������ ���,I����/��������
��.�2�ก�)<�2
.�ก�2��ก!�  
 

�����-6
 54 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����56� . + ก���!����(���� (2�%���ก���!'�����!/��6/

(����������� ��ก��
��2��? 
��56�  
 

 
ก���!����(���� (2�%���
ก���!'�����!/��6/(��
��������� ��ก��
��2��? 

�!�
��5ก�� 

��!ก���
��ก5� 

��56�����+ / )!�<�2 
 ,�+ก����56� 

 
�%� 
 

 
�2� 
<�%$�
.�%�$ 

 
 

P-value 

1. .�2��!� 4�, �% 28.6 27.0 44.4 100.0 2.329 0.312 

2. ���)��� / %����� 18.5 51.9 29.6 100.0 3.527 0.171 
3. �-�-!��$  27.7 31.2 41.1 100.0 5.729 0.057 

4. %�-)1 13.3 37.8 48.9 100.0 4.054 0.132 

5. ��!��������$ 31.4 36.0 32.6 100.0 3.305 0.192 

6. �������$��0� 28.6 42.9 28.6 100.0 2.032 0.362 

7. ��
�? 18.6 46.5 34.9 100.0 2.861 0.239 

 
 ��ก�����-6
 54 ���%��!)�,�6)��-6)��!'�2%��+�%2����56� . +ก���!����(���� (2�%���ก��
�!'�����!/��6/(�������������ก��
��2��? �')���%��!).�2�,�+��-��
�4�ก���!����(���� (2�%���ก���!'
���   ก�=>" 7 =?��@A ��ก�?BC�D?��EF !GBH� -1ก?������ <'��2� P-value -6
��กก%2��2��+'!�
�!)����!B-6
ก����'<%� (0.05) �	���1,<'�%2� ���������-6
�6��56��2��ก!��6ก���!����(���� (2�%���ก���!'
�����!/��6/ ��ก��
��2��? <�2.�ก�2��ก!�  

 
 
 
 
 



  
 

113 

�����-6
 55 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����)<'��2��'��� . + �%��&6
4�ก��A�/�� ���!"#$

,�+��-���. +���/������/������ 
��)<'��2��'���  

����%���!/��2�,F4�ก��A�/�� ���!"#$
,�+��-���. +���/������/������ 4�

����ก�� OTOP 

�
��ก%2�   
10,000 
��- 

10,001 - 
20,000 
��- 

20,001 - 
30,000 
��- 

30,001    
��-  (	/�

<, 

 
�%� 

1. ,�+��" 1 ��!/� 48.7 38.3 39.7 40.7 41.4 
2. ,�+��" 2 ��!/� 28.2 33.8 32.9 27.1 31.2 
3. ,�+��" 3 ��!/� 15.4 16.5 13.7 20.3 16.3 
4. ,�+��" 4 ��!/� (	/�<, 7.7 11.3 13.7 11.9 11.1 

�%� 100.0 100.0 100.0 100.0 100.0 
Chi-square = 4.501, df = 9, P-value = 0.875 
 

 ��ก�����-6
 55 ���%��!)�,�6)��-6)��!'�2%��+�%2����)<'��2��'��� . + �%��&6
4�ก��
A�/�� ���!"#$,�+��-���. +���/������/������ �')����%"�2�<�%$�.�%�$ <'��-2�ก!� 4.501 �2�       
P-value �-2�ก!� 0.875 A	
���กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) .�'�%2� �!'�2%��+�%2��
��)<'��2��'��� . +�%��&6
4�ก��A�/�� ���!"#$,�+��-���. +���/������/������ <�2.�ก�2��ก!� 
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�����-6
 56 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����)<'��2��'��� . + ���1� -6
� ��ก A�/�� ���!"#$ 

OTOP ,�+��-��� ��� ���� ���!��"�#� $ 
��)<'��2��'���  

���1� -6
� ��ก A�/�� ���!"#$ OTOP 
,�+��-��� ��� ���� ���!��"�#� $ �
��ก%2�   

10,000 
��- 

10,001 - 
20,000 
��- 

20,001 - 
30,000 
��- 

30,001    
��-  
(	/�<, 

 
�%� 
 
 

 
�2� 
<�%$�
.�%�$ 

 
 

P-value 

1. ���
����<,���4���1�� ��
�4���ก��
����
 

15.2 36.2 28.3 20.3 100.0 12.695 0.005 

2. ����ก��-' ��45� 16.4 42.6 19.7 21.3 100.0 2.417 0.491 
3. ��������+�� 18.8 46.1 20.0 15.2 100.0 7.559 0.056 

4. �1"���'6 19.6 43.4 21.7 15.4 100.0 2.893 0.408 
5. �&��-6
 . + ก����A�/��+'%ก 26.5 29.4 32.4 11.8 100.0 3.906 0.272 
6. �%���2��5�
�&��(��.� 2�� �� 5.1 56.4 17.9 20.5 100.0 10.042 0.018 
7. (���� (2�%����ก6
)%ก!�� ���!"#$-6
<'��!� 17.6 41.2 11.8 29.4 100.0 2.542 ���2�<�2<'� * 

8. ก�����ก��'6. +ก���2������ก��(�)-6
'6 21.4 50.0 21.4 7.1 100.0 1.344 ���2�<�2<'� * 
9. �6�!�(��� ���!"#$ 18.2 40.3 20.8 20.8 100.0 1.715 0.634 
10.  %' �)(��� ���!"#$ 24.7 44.1 18.3 12.9 100.0 3.061 0.382 
11. ��,.��� ���!"#$ 20.8 39.6 21.8 17.8 100.0 0.313 0.958 

12. 52%)��!���1�����ก�� OTOP ���
�� 
-�����
>ก��-6
'6(	/� 

21.3 45.1 18.9 14.8 100.0 3.297 0.348 

13. ��1�!ก
$����,@BB�5�%���� 16.7 41.7 23.1 18.5 100.0 3.314 0.346 

14. �6��ก !ก
"$�%���,I�<-) 20.4 49.0 18.4 12.2 100.0 6.520 0.089 

15. ���ก�+.���)� 0.0 42.9 14.3 42.9 100.0 4.555 ���2�<�2<'� * 

16. ��
�? 0.0 50.0 50.0 0.0 100.0 1.648 ���2�<�2<'� * 

* <�2�����&���2�<'� ����+�2� expected count �
��ก%2� 5.0 
 

 ��ก�����-6
 56 ���%��!)�,�6)��-6)��!'�2%��+�%2����)<'��2��'��� . +���1� -6
� ��กA�/�
� ���!"#$ OTOP ,�+��-��� ������� ���!��"�#� $ �')���%��!).�2����1� -6
� ��กA�/�� ���!"#$ 
OTOP ,�+��-��� ��� ���� ���!��"�#� $   ก�=>" 16 =?��@A ��ก�?BC�D?��EF!GBH� ��)<'��2�
�'���JH�$กK"LE��EJM��L"���
��(�� ก�����<,���4���1�� ��
�4���ก������
 . + �%���2��5�
�&��
(��.� 2�� ��-6
 .�ก�2��ก!� �')�6�2�<�%$�.�%�$ �-2�ก!� 12.695 . + 10.042 ��� ��'!� . +�6
�2� P-value ���)ก%2� .05 �')��)<'��2��'����+�%2�� 10,001 - 20,000 ��- �6�!'�2%�4�ก��45�
���1� -6
� ��กA�/�� ���!"#$���
�� ก�����<,���4���1�� ��
�4���ก������
��ก-6
�1' 4�-�����
�'6)%ก!���)<'��2��'����+�%2�� 10,001 - 20,000 ��- �6�!'�2%�4�ก��45����1� ���
�� �%��
�2��5�
�&��(��.� 2�� ��4�ก���!'���4�� ��กA�/������� OTOP ,�+��-��� ��� ���� ���!��"�#� $ 
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��ก-6
�1'�52�ก!� �2%����1� ��
�? <�2.�ก�2��ก!� . + �6 4 ���1� -6
<�2�����&%�����+�$�2�     
<�%$�.�%�$ <'� ��� 1. (���� (2�%����ก6
)%ก!�� ���!"#$-6
<'��!� 2. ก�����ก��'6. +ก���2������ก��
(�)-6
'6 3. ���ก�+.���)� . + 4. ��
�? ����+�2� expected count �
��ก%2� 5.0 �,��$�A0��$  
 

�����-6
 57 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����)<'��2��'��� . + ����%�� ���!"#$,�+��-��� 

-6
����������6�)�24�,@��1�!� 
��)<'��2��'���  

����%�� ���!"#$,�+��-���-6
����������6
�)�24�,@��1�!� 

�
��ก%2�   
10,000 
��- 

10,001 - 
20,000 
��- 

20,001 - 
30,000 
��- 

30,001    
��-  (	/�

<, 

 
�%� 

1 - 5 ��� 88.9 82.7 78.9 81.6 83.0 
5 ��� (	/�<, 11.1 17.3 21.1 18.4 17.0 

�%� 100.0 100.0 100.0 100.0 100.0 
Chi-square = 2.052, df = 3, P-value = 0.562 
 

 ��ก�����-6
 57 ���%��!)�,�6)��-6)��!'�2%��+�%2����)<'��2��'��� . +����%�
� ���!"#$,�+��-���-6
����������6�)�24�,@��1�!� �')����%"�2�<�%$�.�%�$ <'��-2�ก!� 2.052 �2�   
P-value �-2�ก!� 0.562 A	
���กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) .�'�%2� �!'�2%��+�%2��
��)<'��2��'��� . +����%�� ���!"#$,�+��-���-6
�6�)�24�,@��1�!�<�2.�ก�2��ก!�  
 
 
 
 
 
 
 
 

 
 
 



  
 

116 

�����-6
 58 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����)<'��2��'��� . + ����%�� ���!"#$ 

���/���������0���,-6
����������6�)�24�,@��1�!� 
��)<'��2��'���  

����%�� ���!"#$���/���������0���,-6

����������6�)�24�,@��1�!� 

 

�
��ก%2�   
10,000 
��- 

10,001 - 
20,000 
��- 

20,001 - 
30,000 
��- 

30,001    
��-  (	/�

<, 

 
�%� 

1 - 5 �!% (51') 91.8 74.2 78.3 69.6 78.3 
5 �!% (51') (	/�<, 8.2 25.8 21.7 30.4 21.7 

�%� 100.0 100.0 100.0 100.0 100.0 
Chi-square =11.485, df = 3, P-value = 0.009 
 

  ��ก�����-6
 58 ���%��!)�,�6)��-6)��!'�2%��+�%2����)<'��2��'��� . +����%�
� ���!"#$���/���������0���,-6
����������6�)�24�,@��1�!� �')����%"�2�<�%$�.�%�$ <'��-2�ก!� 11.485 
�2� P-value �-2�ก!� 0.009 A	
����)ก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) �	���1,<'�%2� -1กก 12�
��)<'� �6�!'�2%�����%�� ���!"#$���/���������0���, 1 - 5 �!% (51') ��กก%2� 5 �!% (51') (	/�<, 
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�����-6
 59 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����)<'��2��'��� . + ,@��!)'����1"���-6
��������� 

45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/������/������ 
��)<'��2��'���  

,@��!)'����1"���-6
���������
45������"�4�ก���!'���4�A�/�
� ���!"#$ OTOP ,�+��-��� 

. +���/������/������ 

�
��ก%2�   
10,000 
��- 

10,001 - 
20,000 
��- 

20,001 - 
30,000 
��- 

30,001   
��-  
(	/�<, 

 
�%� 
 

 

�2� 
<�%$�
.�%�$ 

 
P-value 

1. ���/�����6�%����
������
. +��-� 

18.2 43.6 21.8 16.4 100.0 1.033 0.285 

2.  !ก
"+�*��+(�����/���� 
(�����6)� �!�%�% ���/�'��� 
���/���� ���/���� . + ��
�?) 

29.0 39.1 13.0 18.8 100.0 4.374 0.224 

3. �%�� +��6)'�12�(����� 18.2 43.6 21.8 16.4 100.0 1.033 0.793 

4. �2�)�2�ก��-���%���+��' 
. + �6�6�%����
������ <�2
�ก ���� A6' 

25.0 33.3 28.6 13.1 100.0 4.966 0.174 

5. ก����ก.��. +�!'�)0�
�,I�5�/����-6
��6)����) 

17.9 35.8 28.4 17.9 100.0 3.025 0.388 

 
 ��ก�����-6
 59 ���%��!)�,�6)��-6)��!'�2%��+�%2����)<'��2��'��� . +,@��!)'���
�1"���-6
���������45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/����
��/������ �')���%��!) .�2�,@��!)'����1"���N $� ���!"#$ OTOP ,�+��-��� . +���/������/������ 
  ก�=>" 5 =OPPKQ ��ก�?BC�D?��EF!GBH� -1ก? ,@��!)<'��2� P-value ��กก%2��2��+'!��!)����!B-6

ก����'<%� (0.05) �	���1,<'�%2� ��)<'��2��'����2��ก!��6,@��!)'����1"���-6
���������45������"�
4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . + ���/������/������<�2.�ก�2��ก!�  
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�����-6
 60 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����)<'��2��'��� . + ,@��!)'�������-6
��������� 

45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/������/������ 
��)<'��2��'���  

,@��!)'�������-6
���������45�
�����"�4�ก���!'���4�A�/�
� ���!"#$ OTOP ,�+��-��� 

. +���/������/������ 

�
��ก%2�   
10,000 
��- 

10,001 - 
20,000 
��- 

20,001 - 
30,000 
��- 

30,001    
��-  
(	/�<, 

 
�%� 

 
 

�2� 
<�%$�
.�%�$ 

 
P-value 

1. ��������+��ก!��1"��� 18.3 40.9 22.0 18.8 100.0 4.739 0.192 

2. ����&�ก 31.4 45.7 11.4 11.4 100.0 4.311 0.230 
3. �����&� ��ก�+'!�����<'�
���ก��45���). +ก�� !�A�/� 

21.7 33.7 25.0 19.6 100.0 2.117 0.549 

4. �+'!������)�24��ก"#$
-���� �' . + ��
�? 

43.3 33.3 16.7 6.7 100.0 8.832 0.032 

 
 ��ก�����-6
 60 ���%��!)�,�6)��-6)��!'�2%��+�%2����)<'��2��'��� . +,@��!)'�������
-6
���������45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/������/������ �')
���%��!) .�2�,@��!)'�������N $� ���!"#$ OTOP ,�+��-��� . +���/������/������   ก�=>" 4 
=OPPKQ ��ก�?BC�D?��EF!GBH� ��)<'��2��'����2��ก!� �6ก�������"�,@��!)'�������-6
���������45�
4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/������/������4����
�� �+'!������)�24�
�ก"#$-���� �' . + ��
�? .�ก�2��ก!� �')�6�2�<�%$�.�%�$ �-2�ก!� 8.832 . +�6�2� P-value ���)
ก%2� .05 �')��)<'��2��'��� �
��ก%2� 10,000 ��- �6�!'�2%�4�ก�������"�4�,@��!)���
�� �+'!�
�����)�24��ก"#$-���� �' . + ��
�? ��ก-6
�1'  
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�����-6
 61 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����)<'��2��'��� . + �%����)�(����������� 

4�ก����������� ���,I�����
��.�2�ก�),�+��-�2��? 
��)<'��2��'���  

�%����)�(�����������4�ก��
��������� ���,I�����
��.�2�

ก�),�+��-�2��? 

�
��ก%2�   
10,000 
��- 

10,001 - 
20,000 
��- 

20,001 - 
30,000 
��- 

30,001   
��-  
(	/�<, 

 
�%� 
 

 

�2� 
<�%$�
.�%�$ 

 
P-value 

1. ���/� 23.9 38.6 22.2 15.3 100.0 1.060 0.787 
2. ก���ก� ���� ก�+�,�� 34.0 47.2 9.4 9.4 100.0 10.944 0.012 
3. 51' 19.1 31.9 23.4 25.5 100.0 3.283 0.350 
4. ���<- / ����!��� ������
�? 13.4 37.3 26.9 22.4 100.0 5.740 0.125 

 
 ��ก�����-6
 61 ���%��!)�,�6)��-6)��!'�2%��+�%2����)<'��2��'��� . +�%����)�(��
���������4�ก����������� ���,I�����
��.�2�ก�),�+��-�2��? �')���%��!).�2��%����)�(��
���������4�ก����������� ���,I�����
��.�2�ก�)  ก�=>" 4 =?��@A ��ก�?BC�D?��EF!GBH� ��)<'�
�2��'����2��ก!� ����������6�%����)�4�ก����������� ���,I�����
��.�2�ก�),�+��- ก���ก� ���� 
ก�+�,�� .�ก�2��ก!� �')�6�2�<�%$�.�%�$ �-2�ก!� 10.944 . +�6�2� P-value ���)ก%2� .05 �')

��)<'��2��'��� 10,001 - 20,000 ��- �6�!'�2%�4�ก����)���������� ���,I� ก���ก� ���� 
ก�+�,�� ��ก-6
�1'  
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�����-6
 62 
.�'� ����%�4�ก���,�6)��-6)��!'�2%�(����)<'��2��'��� . + �-��6(��� ���!"#$ OTOP 

,�+��- ��� . +���/������/������ -6
�������������ก�� 
��)<'��2��'���   

�-��6(��� ���!"#$ OTOP ,�+��- 
��� . +���/������/������ -6
���������

����ก�� 

�
��ก%2�   
10,000 
��- 

10,001 - 
20,000 
��- 

20,001 - 
30,000 
��- 

30,001    
��-  (	/�

<, 

 
�%� 

1. ก 12��6.'� 15.4 12.1 16.4 6.8 12.9 
2. ก 12��6�� ��� 14.1 14.4 9.6 15.3 13.5 
3. ก 12��6�/������ 23.1 21.2 26.0 11.9 21.1 
4. ก 12��6�/����  14.1 24.2 13.7 32.2 21.1 
5. ก 12��6-�� / �6��� / �6�(6)% /  ��
�? 33.3 28.0 34.2 33.9 31.6 

�%� 100.0 100.0 100.0 100.0 100.0 
Chi-square = 15.961, df = 12, P-value = 0.193 
 

 ��ก�����-6
 62 ���%��!)�,�6)��-6)��!'�2%��+�%2����)<'��2��'��� . +�-��6(��
� ���!"#$ OTOP ,�+��- ��� . +���/������/������ -6
�������������ก�� �')����%"�2�<�%$�.�%�$ 
<'��-2�ก!� 15.961 �2� P-value �-2�ก!� 0.193 A	
���กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) 
.�'�%2� �!'�2%��+�%2����)<'��2��'��� . + �-��6(��� ���!"#$ OTOP ,�+��- ��� . +���/����
��/������ -6
�������������ก�� <�2.�ก�2��ก!� 
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�����-6
 63 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����)<'��2��'��� . + �%������ก��(����������� 

4�,�+��-(����� -6
������ ���,I����/��������
��.�2�ก�) 
��)<'��2��'���   

�%������ก��(�����������4�,�+��-(��
��� -6
������ ���,I����/��������
��.�2�ก�) 

�
��ก%2�   
10,000 
��- 

10,001 - 
20,000 
��- 

20,001 - 
30,000 
��- 

30,001    
��-  (	/�

<, 

 
�%� 

1. ���<�� 23.1 30.8 35.6 27.1 29.4 
2. ���MN�) 55.1 51.9 47.9 40.7 49.9 
3. ���4)��
�? (�!�����+�$ / ,�+'�
>$) 21.8 17.3 16.4 32.2 20.7 

�%� 100.0 100.0 100.0 100.0 100.0 
Chi-square = 9.011, df = 6, P-value = 0.173 
 
 ��ก�����-6
 63 ���%��!)�,�6)��-6)��!'�2%��+�%2����)<'��2��'��� . +�%������ก��
(�����������4�,�+��-(����� -6
������ ���,I����/��������
��.�2�ก�) �')����%"�2�<�%$�.�%�$ 
<'��-2�ก!� 9.011 �2� P-value �-2�ก!� 0.173 A	
���กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) 
.�'�%2� ��)<'��2��'����2��ก!��6�%������ก��4����
�� ,�+��-(����� -6
������ ���,I����/����
����
��.�2�ก�)-6
<�2.�ก�2��ก!�  
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�����-6
 64 
.�'� ���) +4�ก���,�6)��-6)��!'�2%�(����)<'��2��'��� . + �%������ก��(����������� 

4����
�� %' �)���-6
������ ���,I����/��������
��.�2�ก�) 
��)<'��2��'���   

�%������ก��(�����������4����
��
 %' �)���-6
������ ���,I����/��������
��

.�2�ก�) 

�
��ก%2�   
10,000 
��- 

10,001 - 
20,000 
��- 

20,001 - 
30,000 
��- 

30,001   
��-  
(	/�<, 

 
 

�%� 

1.  %' �).��<-) 25.6 33.1 23.6 23.7 27.8 
2.  %' �)�2%���!) / .P5!
� 33.3 39.8 38.9 25.4 35.7 
3.  %' �),�+)1ก�$  25.6 19.5 19.4 35.6 23.7 
4.  %' �)��
�? (��(��"�� / �!�%$ / ��5) 15.4 7.5 18.1 15.3 12.9 

�%� 100.0 100.0 100.0 100.0 100.0 
Chi-square = 15.265, df = 9, P-value = 0.084 
 

 ��ก�����-6
 64 ���%��!)�,�6)��-6)��!'�2%��+�%2����)<'��2��'��� . +�%������ก��
(�����������4����
�� %' �)���-6
������ ���,I����/��������
��.�2�ก�) �')����%" �2�<�%$�.�%�$
�-2�ก!� 15.265 �2� P-value �-2�ก!� 0.084 A	
���กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) .�'�
%2� ��)<'��2��'����2��ก!��6�%������ก��4����
�� %' �)���-6
������ ���,I����/��������
��.�2�ก�)
<�2.�ก�2��ก!�  
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�����-6
 65 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(����)<'��2��'��� . + ก���!����(���� (2�%���ก���!'

�����!/��6/(����������� ��ก��
��2��? 
��)<'��2��'���   

ก���!����(���� 
(2�%���ก���!'���
��!/��6/(����������� 
��ก��
��2��? 

�
��ก%2�   
10,000 
��- 

10,001 - 
20,000 
��- 

20,001 - 
30,000 
��- 

30,001    
��-  (	/�

<, 

 
�%� 
 
 

�2� 
<�%$�
.�%�$ 

 
 

P-value 

1. .�2��!� 4�, �% 19.0 36.5 20.6 23.8 100.0 2.540 0.468 

2. ���)��� / %����� 22.2 40.7 22.2 14.8 100.0 0.142 ���2�<�2<'� * 

3. �-�-!��$  22.1 41.1 22.5 14.3 100.0 5.141 0.162 
4. %�-)1 17.8 40.0 15.6 26.7 100.0 4.077 0.253 
5. ��!��������$ 24.4 34.9 23.3 17.4 100.0 0.804 0.848 
6. �������$��0� 22.9 57.1 17.1 2.9 100.0 8.368 0.039 
7. ��
�? 20.9 27.9 30.2 20.9 100.0 3.816 0.282 

* <�2�����&���2�<'� ����+�2� expected count �
��ก%2� 5.0 

 
 ��ก�����-6
 65 ���%��!)�,�6)��-6)��!'�2%��+�%2����)<'��2��'��� . + ก���!����(���� 
(2�%���ก���!'�����!/��6/(�������������ก��
��2��? �')���%��!).�2�,�+��-��
�4�ก���!����(���� 
(2�%���ก���!'���   ก�=>" 7 =?��@A ��ก�?BC�D?��EF!GBH� ���������-6
�6��)<'��2��'��� �2��ก!�
�6ก���!����(���� (2�%���ก���!'�����!/��6/ ��ก��
�-���������$��0�-6
.�ก�2��ก!� �')�6�2�<�%$�.�%�$ 
�-2�ก!� 8.368 . +�6�2� P-value ���)ก%2� .05 �')��)<'��2��'��� 10,001 - 20,000 ��- �6
�!'�2%�4�ก���!����(���� (2�%���ก���!'�����ก��
�-���������$��0���ก-6
�1' �2%�ก���!����(2�%���
ก���!'�����ก��
���
�? <�2.�ก�2��ก!� . + �6 1 ��
�-6
<�2�����&%�����+�$�2� <�%$�.�%�$ <'� ��� ��
�
��ก���)��� ����%����� ����+�2� expected count �
��ก%2� 5.0 �,��$�A0��$  
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�����-6
 66 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(���&��������� . + �%��&6
4�ก��A�/�� ���!"#$ 

,�+��-���. +���/������/������ 
�&��������� ����%���!/��2�,F4�ก��A�/�� ���!"#$,�+��-���

. +���/������/������ 4�����ก�� OTOP  
��' ���� 

 
�%� 

1. ,�+��" 1 ��!/� 50.3 32.6 41.4 
2. ,�+��" 2 ��!/� 27.5 34.9 31.2 
3. ,�+��" 3 ��!/� 14.0 18.6 16.3 
4. ,�+��" 4 ��!/� (	/�<, 8.2 14.0 11.1 

�%� 100.0 100.0 100.0 
Chi-square = 11.689, df = 3, P-value = 0.009 
 

 ��ก�����-6
 66 ���%��!)�,�6)��-6)��!'�2%��+�%2���&��������� . +�%��&6
4�ก��
A�/�� ���!"#$,�+��-���. +���/������/������ �')����%"�2�<�%$�.�%�$ <'��-2�ก!� 11.689 �2�     
P-value �-2�ก!� 0.009 A	
����)ก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) .�'�%2� �&�����
�����2��ก!��6 �%��&6
4�ก��A�/�� ���!"#$,�+��-���. +���/������/������.�ก�2��ก!� �')
�&�������'�6�!'�2%�4�ก��A�/�� ���!"#$,�+��-���. +���/������/������,�+��" 1 ��!/� �2�,F 
��ก-6
�1' �2%��&��������� �6�!'�2%�4�ก��A�/�� ���!"#$,�+��-��� . +���/������/������
,�+��" 1-2 ��!/��2�,F ��ก-6
�1' 
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�����-6
 67 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(���&��������� . + ���1� -6
� ��ก A�/�� ���!"#$ 

OTOP ,�+��-��� ��� ���� ���!��"�#� $ 
�&���������  

���1� -6
� ��ก A�/�� ���!"#$ OTOP ,�+��-
��� ��� ���� ���!��"�#� $ 

��' ���� 

 
�%� 
 

�2� 
<�%$�
.�%�$ 

 
P-value 

1. ���
����<,���4���1�� ��
�4���ก������
 50.0 50.0 100.0 0.002 0.965 
2. ����ก��-' ��45� 55.7 44.3 100.0 1.027 0.311 

3. ��������+�� 46.1 53.9 100.0 1.830 0.176 
4. �1"���'6 49.0 51.0 100.0 0.080 0.777 

5. �&��-6
 . + ก����A�/��+'%ก 50.0 50.0 100.0 0.000 0.986 

6. �%���2��5�
�&��(��.� 2�� �� 56.4 43.6 100.0 0.757 0.384 

7. (���� (2�%����ก6
)%ก!�� ���!"#$-6
<'��!� 41.2 58.8 100.0 0.539 0.463 

8. ก�����ก��'6. +ก���2������ก��(�)-6
'6 57.1 42.9 100.0 0.310 0.578 

9. �6�!�(��� ���!"#$ 53.2 46.8 100.0 0.457 0.499 

10.  %' �)(��� ���!"#$ 50.5 49.5 100.0 0.024 0.877 

11. ��,.��� ���!"#$ 53.5 46.5 100.0 0.747 0.388 

12. 52%)��!���1�����ก�� OTOP ���
�� 
-�����
>ก��-6
'6(	/� 

45.1 54.9 100.0 1.725 0.189 

13. ��1�!ก
$����,@BB�5�%���� 47.2 52.8 100.0 0.437 0.509 

14. �6��ก !ก
"$�%���,I�<-) 49.0 51.0 100.0 0.042 0.838 

15. ���ก�+.���)� 57.1 42.9 100.0 0.152 ���2�<�2<'� * 
16. ��
�? 0.0 100.0 100.0 2.000 ���2�<�2<'� * 

* <�2�����&���2�<'� ����+�2� expected count �
��ก%2� 5.0 
 

 ��ก�����-6
 67 ���%��!)�,�6)��-6)��!'�2%��+�%2���&��������� . + ���1� -6
� ��ก
A�/�� ���!"#$ OTOP ,�+��-��� ��� ���� ���!��"�#� $�')���%��!) .�2����1� -6
� ��กA�/�� ���!"#$ 
OTOP ,�+��-��� ��� ���� ���!��"�#� $   ก�=>" 16 =?��@A ��ก�?BC�D?��EF!GBH� -1ก? ���1�  
<'��2� P-value -6
��กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) �	���1,<'�%2� ���������-6
�6
�&����������2��ก!� �6ก��45����1� 4�ก��� ��ก A�/�� ���!"#$ OTOP ,�+��-��� ������� ���
!��"�#� $-6
<�2.�ก�2��ก!� . + �6 2 ���1� -6
<�2�����&%�����+�$�2� <�%$�.�%�$ <'� ��� 1. ���
ก�+.���)� . + 2. ���1� ��
�? ����+�2� expected count �
��ก%2� 5.0 �,��$�A0��$ 
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�����-6
 68 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(���&��������� . + ����%�� ���!"#$,�+��-���-6


����������6�)�24�,@��1�!� 
�&��������� ����%�� ���!"#$,�+��-���-6
����������6�)�24�

,@��1�!�  
 

��' ���� 

 
�%� 

1 - 5 ��� 89.6 76.6 83.0 
5 ���(	/�<, 10.4 23.4 17.0 

�%� 100.0 100.0 100.0 
Chi-square = 7.620, df = 1, P-value = 0.006 

 

 ��ก�����-6
 68 ���%��!)�,�6)��-6)��!'�2%��+�%2���&��������� . +����%�
� ���!"#$,�+��-���-6
����������6�)�24�,@��1�!� �')����%"�2�<�%$�.�%�$ <'��-2�ก!� 7.620 �2� P-
value �-2�ก!� 0.006 A	
����)ก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) �	���1,<'�%2� �&�����
�����2��ก!��6����%�� ���!"#$,�+��-���-6
�6�)�24�,@��1�!�.�ก�2��ก!� �')�&�������' . +
�&��������� �6�!'�2%�(������%�� ���!"#$ OTOP ,�+��-���!��"�#� $-6
�6�)�24�,@��1�!� 
�!/�.�2 1 - 5 ��� ��ก-6
�1' 
 

�����-6
 69 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(���&��������� . + ����%�� ���!"#$���/����

�����0���,-6
����������6�)�24�,@��1�!� 
�&��������� ����%�� ���!"#$���/���������0���,-6
����������6

�)�24�,@��1�!� ��' ���� 

 
�%� 

1 - 5 �!% (51') 88.1 69.5 78.3 
5 �!% (51') (	/�<, 11.9 30.5 21.7 

�%� 100.0 100.0 100.0 
Chi-square = 16.179, df = 1, P-value = 0.000 
 

   ��ก�����-6
 69 ���%��!)�,�6)��-6)��!'�2%��+�%2���&��������� . +����%�
� ���!"#$���/���������0���,-6
����������6�)�24�,@��1�!� �')����%"�2�<�%$�.�%�$ <'��-2�ก!� 16.179 
�2� P-value �-2�ก!� 0.000 A	
����)ก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) �	���1,<'�%2� �6����%�
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� ���!"#$���/���������0���,-6
�6�)�24�,@��1�!�.�ก�2��ก!� �')�&�������' . +�&��������� �6
�!'�2%�(������%����/���������0���,-6
�6�)�24�,@��1�!� �!/�.�2 1 - 5 �!% (51') ��ก-6
�1'  
 

�����-6
 70 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(���&��������� . + ,@��!)'����1"���-6
���������

45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/������/������ 
�&��������� ,@��!)'����1"���-6
���������45������"�4�ก��

�!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +
���/������/������ 

��' ���� 

 
�%� 

�2� 
<�%$�.�%�$ 

 
P-value 

1. ���/�����6�%����
������. +��-� 42.6 57.4 100.0 1.762 0.184 

2.  !ก
"+�*��+(�����/���� (�����6)� �!�%�% ���/�
'��� ���/���� ���/���� . + ��
�?) 

44.9 55.1 100.0 0.839 0.360 

3. �%�� +��6)'�12�(����� 60.0 40.0 100.0 2.697 0.101 

4. �2�)�2�ก��-���%���+��' . + �6�6�%��
��
������ <�2�ก ���� A6' 

46.4 53.6 100.0 0.522 0.470 

5. ก����ก.��. +�!'�)0��,I�5�/����-6
��6)����) 58.2 41.8 100.0 2.325 0.127 

 
 ��ก�����-6
 70 ���%��!)�,�6)��-6)��!'�2%��+�%2���&��������� . + ,@��!)'���

�1"���-6
���������45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/����
��/������ �')���%��!) .�2�,@��!)'����1"���N $� ���!"#$ OTOP ,�+��-��� . +���/������/������ 
  ก�=>" 5 =OPPKQ ��ก�?BC�D?��EF!GBH� 4�.�2 +,@��!)'����1"����!/�����%"<'� �2� P-value 
��กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) �	���1,<'�%2� �&����������2��ก!��6,@��!)'���
�1"���-6
���������45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/����
��/������<�2.�ก�2��ก!� 
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�����-6
 71 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(���&��������� . + ,@��!)'�������-6
��������� 

45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/������/������ 
�&��������� ,@��!)'�������-6
���������45������"�4�ก���!'���4�A�/�

� ���!"#$ OTOP ,�+��-��� . +���/������/������ 
��' ���� 

 
�%� 

�2� 
<�%$�.�%�$ 

 
P-value 

1. ��������+��ก!��1"��� 49.5 50.5 100.0 0.025 0.874 
2. ����&�ก 54.3 45.7 100.0 0.306 0.580 

3. �����&� ��ก�+'!�����<'����ก��45���). +ก�� !�A�/� 45.7 54.3 100.0 0.888 0.346 
4. �+'!������)�24��ก"#$-���� �' . + ��
�? 60.0 40.0 100.0 1.354 0.245 

 
 ��ก�����-6
 71 ���%��!)�,�6)��-6)��!'�2%��+�%2���&��������� . + ,@��!)'���
����-6
���������45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/������/������ 
�')���%��!) .�2�,@��!)'�������N $� ���!"#$ OTOP ,�+��-��� . +���/������/������   ก�=>" 4 
=OPPKQ ��ก�?BC�D?��EF!GBH� 4�.�2 +,@��!)'��������!/� ����%"<'� �2� P-value ��กก%2��2�
�+'!��!)����!B-6
ก����'<%� (0.05) �	���1,<'�%2� �&����������2��ก!��6,@��!)'�������-6

���������45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/������/������<�2
.�ก�2��ก!� 
 

�����-6
 72 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(���&��������� . + �%����)�(����������� 

4�ก����������� ���,I�����
��.�2�ก�),�+��-�2��? 
�&��������� �%����)�(�����������4�ก��������

��� ���,I�����
��.�2�ก�),�+��-
�2��? 

��' ���� 

 
�%� 

�2� 
<�%$�.�%�$ 

 
P-value 

1. ���/� 39.8 60.2 100.0 14.696 0.000 

2. ก���ก� ���� ก�+�,�� 69.8 30.2 100.0 9.987 0.002 

3. 51' 36.2 63.8 100.0 4.079 0.043 
4. ���<- / ����!��� ������
�? 70.1 29.9 100.0 13.718 0.000 

  
 ��ก�����-6
 72 ���%��!)�,�6)��-6)��!'�2%��+�%2���&��������� . + �%����)�(��

���������4�ก����������� ���,I�����
��.�2�ก�),�+��-�2��? �')���%��!) .�2��%����)�(��
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���������4�ก����������� ���,I�����
��.�2�ก�)  ก�=>" 4 =?��@A ��ก�?BC�D?��EF!GBH� 
�&����������2��ก!� �6�%����)�(�����������4�ก����������� ���,I�����
��.�2�ก�),�+��-
�2��? .�ก�2��ก!� �')�6�2�<�%$�.�%�$ �-2�ก!� 14.696, 9.987, 4.079, . + 13. 718 ��� ��'!� 
. +�6�2� P-value ���)ก%2� .05 �')�&�������'�6�!'�2%�4�ก����)���������� ���,I� ก���ก� 
ก�+�,�� ���<- ����!��� ������
�? ��กก%2����������-6
�6�&���������. �% 4�("+-6
���-6
�6
�&���������. �%�6�!'�2%�4�ก����)���������� ���,I� ���/� . + 51' ��กก%2����������-6
�6
�&�����V�S 

 
�����-6
 73 

.�'� ���) +4�ก���,�6)��-6)��!'�2%�(���&��������� . + �-��6(��� ���!"#$ OTOP 
,�+��- ��� . +���/������/������ -6
�������������ก�� 

�&��������� �-��6(��� ���!"#$ OTOP ,�+��- ��� . +
���/������/������ -6
�������������ก�� ��' ���� 

 
�%� 

1. ก 12��6.'� 14.1 11.6 12.9 
2. ก 12��6�� ��� 10.6 16.3 13.5 
3. ก 12��6�/������ 16.5 25.6 21.1 
4. ก 12��6�/����  22.4 19.8 21.1 
5. ก 12��6-�� / �6��� / �6�(6)% /  ��
�? 36.5 26.7 31.6 

�%� 100.0 100.0 100.0 
Chi-square = 8.674, df = 4, P-value = 0.070 
 
 ��ก�����-6
 73 ���%��!)�,�6)��-6)��!'�2%��+�%2���&��������� . +�-��6(��
� ���!"#$ OTOP ,�+��-��� . + ���/������/������ -6
�������������ก�� �')����%"�2�<�%$�.�%�$ 
<'��-2�ก!� 8.674 �2� P-value �-2�ก!� 0.070 A	
���กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) 
.�'�%2� �!'�2%��+�%2���&��������� . +�-��6(��� ���!"#$ OTOP ,�+��- ��� . +���/����
��/������ -6
�������������ก�� <�2.�ก�2��ก!� 
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�����-6
 74 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(���&��������� . + �%������ก��(����������� 

4�,�+��-(����� -6
������ ���,I����/��������
��.�2�ก�) 
�&��������� �%������ก��(�����������4�,�+��-(����� -6
�����

� ���,I����/��������
��.�2�ก�) 
��' ���� 

 
�%� 

1. ���<�� 28.1 30.8 29.4 
2. ���MN�) 49.7 50.0 49.9 
3. ���4)��
�? (�!�����+�$ / ,�+'�
>$) 22.2 19.2 20.7 

�%� 100.0 100.0 100.0 
Chi-square = 0.603, df = 2, P-value = 0.740 
 

 ��ก�����-6
 74 ���%��!)�,�6)��-6)��!'�2%��+�%2���&��������� . + �%������ก��
(�����������4�,�+��-(����� -6
������ ���,I����/��������
��.�2�ก�) �')����%"�2�<�%$�.�%�$ 
<'��-2�ก!� 0.603 �2� P-value �-2�ก!� 0.740 A	
���กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) 
.�'�%2� �!'�2%��+�%2���&��������� . + �%������ก��(�����������4�,�+��-(����� -6

������ ���,I����/��������
��.�2�ก�) <�2.�ก�2��ก!� 
 

�����-6
 75 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(���&��������� . + �%������ก��(����������� 

4����
�� %' �)���-6
������ ���,I����/��������
��.�2�ก�) 
�&��������� �%������ก��(�����������4����
�� %' �)���-6
�����

� ���,I����/��������
��.�2�ก�) ��' ���� 

 
�%� 

1.  %' �).��<-) 25.7 29.8 27.8 
2.  %' �)�2%���!) / .P5!
� 40.9 30.4 35.7 
3.  %' �),�+)1ก�$  20.5 26.9 23.7 
4.  %' �)��
�? (��(��"�� / �!�%$ / ��5) 12.9 12.9 12.9 

�%� 100.0 100.0 100.0 
Chi-square = 4.665, df = 3, P-value = 0.198 
 
 ��ก�����-6
 75 ���%��!)�,�6)��-6)��!'�2%��+�%2���&��������� . +�%������ก��
(�����������4����
�� %' �)���-6
������ ���,I����/��������
��.�2�ก�) �')����%"�2�<�%$�.�%�$ 
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<'��-2�ก!� 4.665 �2� P-value �-2�ก!� 0.198 A	
���กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) 
.�'�%2� �!'�2%��+�%2���&��������� . +�%������ก��(�����������4����
�� %' �)���-6

������ ���,I����/��������
��.�2�ก�)<�2.�ก�2��ก!� 
 

�����-6
 76 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(���&��������� . + ก���!����(���� (2�%��� 

ก���!'�����!/��6/(����������� ��ก��
��2��? 
�&���������  

ก���!����(���� (2�%���ก���!'���
��!/��6/(����������� ��ก��
��2��? ��' ���� 

 
�%� 
 

 
�2� 

<�%$�.�%�$ 

 
P-value 

1. .�2��!� 4�, �% 54.0 46.0 100.0 0.522 0.470 
2. ���)��� / %����� 63.0 37.0 100.0 2.014 0.156 
3. �-�-!��$   46.3 53.7 100.0 3.534 0.060 
4. %�-)1 44.4 55.6 100.0 0.606 0.436 
5. ��!��������$  47.7 52.3 100.0 0.218 0.640 
6. �������$��0� 68.6 31.4 100.0 5.462 0.019 
7. ��
�? 58.1 41.9 100.0 1.350 0.245 

 
 ��ก�����-6
 76 ���%��!)�,�6)��-6)��!'�2%��+�%2���&��������� . + ก���!����(���� 
(2�%���ก���!'�����!/��6/(�������������ก��
��2��? �')���%��!).�2�,�+��-��
�4�ก���!����(���� 
(2�%���ก���!'���   ก�=>" 7 =?��@A ��ก�?BC�D?��EF!GBH� ���������-6
�6�&��������� 
�2��ก!��6�!'�2%�4�ก���!����(���� (2�%���ก���!'�����!/��6/ ��ก��
�-���������$��0�-6
.�ก�2��ก!� 
�')�6�2�<�%$�.�%�$ �-2�ก!� 5.462 . +�6�2� P-value ���)ก%2� .05 �')���-6
�6�&�������'�6
�!'�2%�4�ก���!����(���� (2�%���ก���!'�����ก��
�-���������$��0���กก%2� ���-6
�6�&���������
. �% �2%�ก���!����(���� (2�%�����ก��
���
�? <�2.�ก�2��ก!�  
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�����-6
 77 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(������ ������'�� . + �%��&6
4�ก��A�/�� ���!"#$ 

,�+��-���. +���/������/������ 
���� ������'�� ����%���!/��2�,F4�ก��A�/�� ���!"#$,�+��-���

. +���/������/������ 4�����ก�� OTOP  
ก�1��-������� �2���!��%!' 

 
�%� 

1. ,�+��" 1 ��!/� 41.7 41.2 41.4 
2. ,�+��" 2 ��!/� 30.4 31.6 31.2 
3. ,�+��" 3 ��!/� 16.5 16.2 16.3 
4. ,�+��" 4 ��!/� (	/�<, 11.3 11.0 11.1 

�%� 100.0 100.0 100.0 
Chi-square = 0.049, df = 3, P-value = 0.997 
 

 ��ก�����-6
 77 ���%��!)�,�6)��-6)��!'�2%��+�%2������ ������'�� . + �%��&6
4�ก��A�/�
� ���!"#$,�+��-���. +���/������/������ �')����%"�2�<�%$�.�%�$ <'��-2�ก!� 0.049 �2� P-value 
�-2�ก!� 0.997 A	
���กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) .�'�%2� �!'�2%��+�%2������ �����
�'��. + �%��&6
4�ก��A�/�� ���!"#$,�+��-���. +���/������/������ <�2.�ก�2��ก!� 
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�����-6
 78 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(������ ������'�� . + ���1� -6
� ��ก A�/�� ���!"#$ 

OTOP ,�+��-��� ��� ���� ���!��"�#� $ 
���� ������'�� ���1� -6
� ��ก A�/�� ���!"#$ OTOP 

,�+��-��� ��� ���� ���!��"�#� $ 
ก�1��-������� �2���!��%!' 

 
�%� 
 

�2� 
<�%$�
.�%�$ 

 
P-value 

1. ���
����<,���4���1�� ��
�4���ก��
����
 

37.7 62.3 100.0 1.787 0.181 

2. ����ก��-' ��45� 37.7 62.3 100.0 0.581 0.446 
3. ��������+�� 37.0 63.0 100.0 1.690 0.194 
4. �1"���'6 30.8 69.2 100.0 0.837 0.360 

5. �&��-6
 . + ก����A�/��+'%ก 32.4 67.6 100.0 0.023 0.878 
6. �%���2��5�
�&��(��.� 2�� �� 38.5 61.5 100.0 0.481 0.488 
7. (���� (2�%����ก6
)%ก!�� ���!"#$-6
<'��!� 35.3 64.7 100.0 0.025 0.874 

8. ก�����ก��'6. +ก���2������ก��(�)-6
'6 21.4 78.6 100.0 0.959 ���2�<�2<'� * 
9. �6�!�(��� ���!"#$ 35.1 64.9 100.0 0.105 0.746 
10.  %' �)(��� ���!"#$ 29.0 71.0 100.0 1.157 0.282 

11. ��,.��� ���!"#$ 33.7 66.3 100.0 0.001 0.973 

12. 52%)��!���1�����ก�� OTOP ���
�� 
-�����
>ก��-6
'6(	/� 

27.9 72.1 100.0 2.721 0.099 

13. ��1�!ก
$����,@BB�5�%���� 27.8 72.2 100.0 2.338 0.126 

14. �6��ก !ก
"$�%���,I�<-) 25.5 74.5 100.0 3.957 0.047 

15. ���ก�+.���)� 71.4 28.6 100.0 4.606 ���2�<�2<'� * 
16. ��
�? 0.0 100.0 100.0 1.015 ���2�<�2<'� * 

* <�2�����&���2�<'� ����+�2� expected count �
��ก%2� 5.0 
 

 ��ก�����-6
 78 ���%��!)�,�6)��-6)��!'�2%��+�%2������ ������'�� . + ���1� -6
� ��กA�/�
� ���!"#$ OTOP ,�+��-��� ��� ���� ���!��"�#� $�')���%��!) .�2����1� -6
� ��กA�/�� ���!"#$ 
OTOP ,�+��-��� ��� ���� ���!��"�#� $   ก�=>" 16 =?��@A ��ก�?BC�D?��EF!GBH� ���� �����
�'��JH�$กK"LE��EJM��L"���
��(�� ก���6��ก !ก
"$�%���,I�<-) .�ก�2��ก!�  �')�6�2�<�%$�.�%�$ 
�-2�ก!�3.957 . +�6�2� P-value ���)ก%2� .05 �')���-6
�6���� ������'���)�24�ก�1��-��������6
�!'�2%�(��ก��45����1� 4�ก��� ��กA�/�� ���!"#$ OTOP,�+��-��� ������� ���!��"�#� $4����
��
ก���6��ก !ก
"$�%���,I�<-) ���)ก%2���-6
�6���� ������'���)�2-6
�2���!��%!' �2%����1� ��
�? <�2
.�ก�2��ก!� . + �6 3 ���1� -6
<�2�����&%�����+�$�2� <�%$�.�%�$ <'� ���      1. ก�����ก��'6. +
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ก���2������ก��(�)-6
'6 2. ���ก�+.���)� . + 3. ���1� ��
�? ����+�2� expected count �
��
ก%2� 5.0 �,��$�A0��$  
 

�����-6
 79 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(������ ������'�� . + ����%�� ���!"#$,�+��-��� 

-6
����������6�)�24�,@��1�!� 
���� ������'�� ����%�� ���!"#$,�+��-���-6
����������6�)�24�

,@��1�!�  
 

ก�1��-������� �2���!��%!' 

 
�%� 

1 - 5 ��� 83.9 82.5 83.0 
5 ���(	/�<, 16.1 17.5 17.0 

�%� 100.0 100.0 100.0 
Chi-square = 0.077, df = 1, P-value = 0.782 

 

 ��ก�����-6
 79 ���%��!)�,�6)��-6)��!'�2%��+�%2������ ������'�� . + ����%�
� ���!"#$,�+��-���-6
����������6�)�24�,@��1�!� �')����%"�2�<�%$�.�%�$ <'��-2�ก!� 0.077 �2� P-
value �-2�ก!� 0.782 A	
���กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) .�'�%2� �!'�2%��+�%2��
���� ������'�� . +����%�� ���!"#$,�+��-���-6
�6�)�24�,@��1�!�<�2.�ก�2��ก!�  
 

�����-6
 80 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(������ ������'�� . + ����%�� ���!"#$���/���������0���,

-6
����������6�)�24�,@��1�!� 
���� ������'�� ����%�� ���!"#$���/���������0���,-6
����������6

�)�24�,@��1�!� ก�1��-������� �2���!��%!' 

 
�%� 

1 - 5 �!% (51') 85.0 75.2 78.3 
5 �!% (51') (	/�<, 15.0 24.8 21.7 

�%� 100.0 100.0 100.0 
Chi-square = 3.852, df = 1, P-value = 0.050   
 

 ��ก�����-6
 80 ���%��!)�,�6)��-6)��!'�2%��+�%2������ ������'�� . +����%�� ���!"#$
���/���������0���,-6
����������6�)�24�,@��1�!� �')����%"�2�<�%$�.�%�$ <'��-2�ก!� 3.852 �2� P-value 
�-2�ก!� 0.050 A	
��-2�ก!��2��+'!��!)����!B-6
ก����'<%� (0.05) �	���1,<'�%2� ���� ������'���2��ก!��6
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����%�� ���!"#$���/���������0���,-6
�6�)�24�,@��1�!�.�ก�2��ก!� �')���������-6
�6���� ������'���)�24�
�2���!��%!' . +ก�1��-������� �6�!'�2%�(������%�� ���!"#$ OTOP ,�+��-���/������/������
�����0���, -6
�6�)�24�,@��1�!� �!/�.�2 1 - 5 �!% (51') ��ก-6
�1' 

 

�����-6
 81 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(������ ������'�� . + ,@��!)'����1"���-6
���������45�

�����"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/������/������ 
���� ������'�� ,@��!)'����1"���-6
���������45������"�

4�ก���!'���4�A�/�� ���!"#$ OTOP 
,�+��-��� . +���/������/������ 

ก�1��-������� �2���!��%!' 

 
�%� 

�2� 
<�%$�
.�%�$ 

 
P-value 

1. ���/�����6�%����
������. +��-� 32.4 67.6 100.0 0.053 0.819 
2.  !ก
"+�*��+(�����/���� (�����6)� �!�
%�% ���/�'��� ���/���� ���/���� . + ��
�?) 

30.4 69.6 100.0 0.371 0.543 

3. �%�� +��6)'�12�(����� 36.4 63.6 100.0 0.236 0.627 
4. �2�)�2�ก��-���%���+��' . + �6�6
�%����
������ <�2�ก ���� A6' 

29.8 70.2 100.0 0.708 0.400 

5. ก����ก.��. +�!'�)0��,I�5�/����-6

��6)����) 

40.3 59.7 100.0 1.713 0.191 

 
 ��ก�����-6
 81 ���%��!)�,�6)��-6)��!'�2%��+�%2������ ������'��. +,@��!)'���
�1"���-6
���������45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/����
��/������ �')���%��!) .�2�,@��!)'����1"���N $� ���!"#$ OTOP ,�+��-��� . +���/������/������ 
  ก�=>" 5 =OPPKQ ��ก�?BC�D?��EF!GBH� 4�.�2 +,@��!)'����1"����!/� ����%"<'��2� P-value 
��กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) �	���1,<'�%2� ���� ������'���2��ก!��6,@��!)'���
�1"���-6
���������45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . + ���/����
��/������ <�2.�ก�2��ก!� 
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�����-6
 82 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(������ ������'�� . +,@��!)'�������-6
��������� 

45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/������/������ 
���� ������'�� ,@��!)'�������-6
���������45������"�4�ก��

�!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +
���/������/������ 

ก�1��-������� �2���!��%!' 

 
�%� 

�2� 
<�%$�
.�%�$ 

 
P-value 

1. ��������+��ก!��1"��� 35.5 64.5 100.0 0.698 0.404 
2. ����&�ก 22.9 77.1 100.0 1.991 0.158 

3. �����&� ��ก�+'!�����<'����ก��45���)
. +ก�� !�A�/� 

33.7 66.3 100.0 0.002 0.968 

4. �+'!������)�24��ก"#$-���� �' . + ��
�? 33.3 66.7 100.0 0.001 0.918 

 
 ��ก�����-6
 82 ���%��!)�,�6)��-6)��!'�2%��+�%2������ ������'�� . +,@��!)'�������-6

���������45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/������/������ �')
���%��!) .�2�,@��!)'�������N $� ���!"#$ OTOP ,�+��-��� . +���/������/������   ก�=>" 4 
=OPPKQ ��ก�?BC�D?��EF!GBH� 4�.�2 +,@��!)'��������!/� ����%"<'� �2� P-value ��กก%2��2�
�+'!��!)����!B-6
ก����'<%� (0.05) �	���1,<'�%2� ���� ������'���2��ก!��6,@��!)'�������-6
���������
45������"�4�ก���!'���4�A�/�� ���!"#$ OTOP ,�+��-��� . +���/������/������<�2.�ก�2��ก!� 
 

�����-6
 83 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(������ ������'�� . + �%����)�(�����������4�ก�����

������ ���,I�����
��.�2�ก�),�+��-�2��? 
���� ������'�� �%����)�(�����������4�ก��������

��� ���,I�����
��.�2�ก�),�+��-
�2��? 

ก�1��-������� �2���!��%!' 

 
�%� 

�2� 
<�%$�
.�%�$ 

 
P-value 

1. ���/� 22.2 77.8 100.0 20.963 0.000 
2. ก���ก� ���� ก�+�,�� 43.4 56.6 100.0 2.739 0.098 
3. 51' 36.2 63.8 100.0 0.171 0.680 
4. ���<- / ����!��� ������
�? 53.7 46.3 100.0 15.250 0.000 

 
 ��ก�����-6
 83 ���%��!)�,�6)��-6)��!'�2%��+�%2������ ������'�� . +�%����)�(��

���������4�ก����������� ���,I�����
��.�2�ก�),�+��-�2��? �')���%��!).�2��%����)�(��
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���������4�ก����������� ���,I�����
��.�2�ก�)  ก�=>" 4 =?��@A ��ก�?BC�D?��EF!GBH� 
���� ������'���2��ก!� ����������6�%����)�4�ก����������� ���,I�����
��.�2�ก�),�+��- ���/� 
. +���<- ��������!��� ������
�? .�ก�2��ก!� �')�6�2�<�%$�.�%�$ �-2�ก!� 20.963 . +  15.250 
��� ��'!� . +�6�2� P-value ���)ก%2� .05 �')���-6
�6���� ������'���)�2�2���!��%!' �6�!'�2%�4�ก��
��������� ���,I�����
��.�2�ก�),�+��- ���/� ��กก%2����-6
�6���� ������'���)�24�ก�1��-������� 
4�("+-6
���-6
�6���� ������'���)�24�ก�1��-������� �6�!'�2%�4�ก����)���������� ���,I� ���<- 
���� ����!��� ������
�? ��กก%2����-6
�6���� ������'���)�2�2���!��%!' �2%�ก����������� ���,I�
����
��.�2�ก�)-6
��ก�������ก�6/ <�2.�ก�2��ก!� 
  

�����-6
 84 
.�'� ���) +4�ก���,�6)��-6)��!'�2%�(������ ������'�� . + �-��6(��� ���!"#$ OTOP 

,�+��- ��� . +���/������/������ -6
�������������ก�� 
���� ������'�� �-��6(��� ���!"#$ OTOP ,�+��- ��� 

. +���/������/������ -6
�������������ก�� ก�1��-������� �2���!��%!' 

 
�%� 

1. ก 12��6.'� 12.2 13.2 12.9 
2. ก 12��6�� ��� 11.3 14.5 13.5 
3. ก 12��6�/������ 18.3 22.5 21.1 
4. ก 12��6�/����  22.6 20.3 21.1 
5. ก 12��6-�� / �6��� / �6�(6)% /  ��
�? 35.7 29.5 31.6 

�%� 100.0 100.0 100.0 
Chi-square = 2.409, df = 4, P-value = 0.661 
 
 ��ก�����-6
 84 ���%��!)�,�6)��-6)��!'�2%��+�%2������ ������'�� . +�-��6(��
� ���!"#$ OTOP ,�+��-��� . +���/������/������-6
�������������ก�� �')����%"�2�<�%$�.�%�$ <'�
�-2�ก!� �-2�ก!� 2.409 �2� P-value �-2�ก!� 0.661 A	
���กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) 
.�'�%2� �!'�2%��+�%2������ ������'�� . +�-��6(��� ���!"#$ OTOP ,�+��-��� . +���/����
��/������-6
�������������ก�� <�2.�ก�2��ก!� 
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�����-6
 85 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(������ ������'�� . + �%������ก��(����������� 

4�,�+��-(����� -6
������ ���,I����/��������
��.�2�ก�) 
���� ������'�� �%������ก��(�����������4�,�+��-(����� -6
������ ��

�,I����/��������
��.�2�ก�) 
ก�1��-������� �2���!��%!' 

 
�%� 

1. ���<�� 29.6 29.4 29.4 
2. ���MN�) 42.6 53.5 49.9 
3. ���4)��
�? (�!�����+�$ / ,�+'�
>$) 27.8 17.1 20.7 

�%� 100.0 100.0 100.0 
Chi-square = 6.067, df = 2, P-value = 0.048 

 
 ��ก�����-6
 85 ���%��!)�,�6)��-6)��!'�2%��+�%2������ ������'�� . + �%������ก��
(�����������4�,�+��-(����� -6
������ ���,I����/��������
��.�2�ก�) �')����%"�2�<�%$�.�%�$ 
<'��-2�ก!� 6.067 �2� P-value �-2�ก!� 0.048 A	
����)ก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) �	�
��1,<'�%2� ���� ������'���2��ก!��6�%������ก��4����
�� ,�+��-(�����-6
������ ���,I����/����
����
��.�2�ก�) -6
.�ก�2��ก!� �')���-6
�6���� ������'���)�24�ก�1��-������� . +�2���!��%!' �6
�!'�2%��%������ก��4�,�+��-���MN�) ���
������� ���,I����/��������
��.�2�ก�) ��กก%2����5��'
��
� 
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�����-6
 86 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(������ ������'�� . + �%������ก��(����������� 

4����
�� %' �)���-6
������ ���,I����/��������
��.�2�ก�) 
���� ������'��  �%������ก��(�����������4����
�� %' �)���-6


������ ���,I����/��������
��.�2�ก�) 
ก�1��-������� �2���!��%!' 

 
�%� 

1.  %' �).��<-) 21.7 30.8 27.8 
2.  %' �)�2%���!) / .P5!
� 39.1 33.9 35.7 
3.  %' �),�+)1ก�$  22.6 24.2 23.7 
4.  %' �)��
�? (��(��"�� / �!�%$ / ��5) 16.5 11.0 12.9 

�%� 100.0 100.0 100.0 
Chi-square = 4.740, df = 3, P-value = 0.192  
 
 ��ก�����-6
 86 ���%��!)�,�6)��-6)��!'�2%��+�%2������ ������'�� . +�%������ก��(��
���������4����
�� %' �)���-6
������ ���,I����/��������
��.�2�ก�) �')����%"�2�<�%$�.�%�$ <'�
�-2�ก!� 4.740 �2� P-value �-2�ก!� 0.192 A	
���กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) .�'�
%2� �!'�2%��+�%2������ ������'�� . + �%������ก��(�����������4����
�� %' �)���-6
������ ��
�,I����/��������
��.�2�ก�)<�2.�ก�2��ก!� 
 

�����-6
 87 
.�'� ���) + 4�ก���,�6)��-6)��!'�2%�(������ ������'�� . + ก���!����(���� (2�%���ก���!'���

��!/��6/(����������� ��ก��
��2��? 
���� ������'�� ก���!����(���� (2�%���ก���!'

�����!/��6/(����������� ��ก��
�
�2��? 

ก�1��-������� �2���!��%!' 

 
�%� 

�2� 
<�%$�.�%�$ 

 
P-value 

1. .�2��!� 4�, �% 31.7 68.3 100.0 0.110 0.740 
2. ���)��� / %����� 44.4 55.6 100.0 1.567 0.211 
3. �-�-!��$   31.2 68.8 100.0 1.766 0.184 
4. %�-)1 37.8 62.2 100.0 0.420 0.517 
5. ��!��������$  36.0 64.0 100.0 0.327 0.568 
6. �������$��0� 28.6 71.4 100.0 0.430 0.512 
7. ��
�? 37.2 62.8 100.0 0.299 0.585 
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 ��ก�����-6
 87 ���%��!)�,�6)��-6)��!'�2%��+�%2������ ������'�� . + ก���!����(���� 
(2�%���ก���!'�����!/��6/(�������������ก��
��2��? �')���%��!).�2�,�+��-��
�4�ก���!����(���� 
(2�%���ก���!'���   ก�=>" 7 =?��@A ��ก�?BC�D?��EF !GBH� -1ก?������ <'��2� P-value -6

��กก%2��2��+'!��!)����!B-6
ก����'<%� (0.05) �	���1,<'�%2� ���������-6
�6���� ������'���2��ก!��6ก��
�!����(���� (2�%���ก���!'�����!/��6/ ��ก��
��2��? <�2.�ก�2��ก!�  

  
 ��กก��%�����+�$(����  ���
�-'��������>��(��-6
 1 � ก��%�����+�$)���!�

�����>�� ����2%� '!���) +��6)'-6
��1,�2�<,�6/ 
 
 ��1,� ก�������>��ก��%��!)(��-6
 1 -6
%2� ����������ก 12��2��? �6����ก���ก��45������� 

OTOP ,�+��-��� . + ���/������/������.�ก�2��ก!�� � ก��-'���-6
<'����.�ก�,I� 7 ���
�� ���
,@��!)-��56%�!��� �6��) +��6)''!��6/ 

 
1. %&� 
 

 1. ����2��ก!��6�%��&6
4�ก��A�/�� ���!"#$,�+��-��� . + ���/������/������ <�2.�ก�2��
ก!� 

 2. �!IJH�$กK"LE��EJM��4�ก���!'���4�� ��กA�/������� OTOP ,�+��-��� . + ���/����
��/������.�ก�2��ก!� �')���5�)�6�!'�2%�4�ก��45����1� ���
�� �6�!�(��� ���!"#$4�ก��
�!'���4�� ��กA�/������� OTOP ,�+��-��� . + ���/������/������ ���)ก%2�����B�� 4�-�����
�'6)%ก!����5�)�6�!'�2%�4�ก��45����1� ���
��  %' �)(��� ���!"#$4�ก���!'���4�� ��กA�/�
������ OTOP ,�+��-��� . + ���/������/������ ���)ก%2�����B�� �2%����1� ��
�? <�2.�ก�2��ก!� 

 3. ����2��ก!��6����%�� ���!"#$,�+��-���-6
�6�)�24�,@��1�!�.�ก�2��ก!� �')���5�)
�6�!'�2%�(������%�� ���!"#$ OTOP ,�+��-�����/������-6
�6�)�24�,@��1�!� ���)ก%2�����B�� 

 4. ����2��ก!��6����%�� ���!"#$���/���������0���,-6
�6�)�24�,@��1�!�.�ก�2��ก!� �')���
5�)�6�!'�2%�(������%�� ���!"#$ OTOP ,�+��-���/������/�����������0���,-6
�6�)�24�,@��1�!� ���)
ก%2�����B�� 

 5. ����2��ก!��6,@��!)'����1"���-6
��������� 45������"�4�ก���!'���4�A�/�� ���!"#$ 
.�ก�2��ก!� �')���5�)�6�!'�2%�4�ก�������"�,@��!)���
�� ���/�����6�%����
������. +��-� 
���)ก%2�����B�� 
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 6. ����2��ก!��6,@��!)'������� -6
��������� 45������"�4�ก���!'���4�A�/�� ���!"#$ 
OTOP ,�+��-��� . +���/������/������<�2.�ก�2��ก!� 

 7. ���5�)�6�!'�2%�4�ก����������� ���,I�����
��.�2�ก�),�+��-���/� ���)ก%2� ���
�B�� 4�-������'6)%ก!����5�)�6�!'�2%�4�ก����������� ���,I�����
��.�2�ก�),�+��-51'���)
ก%2�����B�� �2%�ก����������� ���,I�����
��.�2�ก�),�+��-��
�? <�2.�ก�2��ก!� 

 8. ���5�) �6�!'�2%�.�%����4��%������ก���-��6�2��? (��� ���!"#$ OTOP 
,�+��-��� . +���/������/������ ���)ก%2�����B�� 

 9. ���5�)�6�!'�2%�4��%������ก��4�,�+��-�2��? (�����-6
������ ���,I����/����
����
��.�2�ก�) ���)ก%2�����B�� )ก�%�����4)��
�? 

 10. ���5�) �6�!'�2%��%������ก��4����
�� %' �)�2��? (�����-6
������ ���,I�
���/��������
��.�2�ก�) ���)ก%2�����B�� 

 11. ���������-6
�6����2��ก!��6ก���!����(���� (2�%���ก���!'�����!/��6/ ��ก��
��2��? <�2
.�ก�2��ก!�  

 
2. �	�' 
 

 1. ��������� -6
�652%���)1�2��ก!��6�%��&6
4�ก��A�/�� ���!"#$,�+��-��� . + ���/����
��/������ <�2.�ก�2��ก!� 

 2. UHB$ �QMJH�$กK"LE��EJM��4�ก���!'���4�� ��กA�/�� ���!"#$ ���
��(���%������+��
(������ . + ก����1�!ก
$����,@BB�5�%���� .�ก�2��ก!� �')52%���)1 0 
 25 ,F �6�!'�2%�4�ก��
45����1� ���
�� �%������+��(������(��� ���!"#$4�ก���!'���4�� ��กA�/������� OTOP 
,�+��-��� ��� ���� ���!��"�#� $ ���)-6
�1' 4�-������'6)%ก!�52%���)1 0 
 25 ,F �6�!'�2%�4�ก��45�
���1� ���
�� ก����1�!ก
$����,@BB�5�%���� 4�ก���!'���4�� ��กA�/������� OTOP ,�+��-��� ��� 
���� ���!��"�#� $ ���)-6
�1' �2%����1� ��
�? <�2.�ก�2��ก!� 

 3. �!'�2%��+�%2��52%���)1 . +����%�� ���!"#$,�+��-���-6
����������6�)�24�,@��1�!� 
��%2��6����%�� ���!"#$ .�ก�2��ก!�4�-1ก52%���)1 �')�*��+52%���)1 0 
 25 ,F �6�%��
.�ก�2��(���!'�2%���ก-6
�1' ก 2�%��� �2%�4�B2�+�6����%�� ���!"#$�)�2,�+��" 1 
 5 ��� 

 4. ����%�� ���!"#$���/���������0���, -6
����������6�)�24�,@��1�!�.�ก�2��ก!�4�-1ก52%�
��)1 �')�*��+52%���)1 0 
 25 ,F �6�%��.�ก�2��(���!'�2%���ก-6
�1' ก 2�%��� �2%�4�B2�+�6
����%�� ���!"#$�)�2 ,�+��" 1 
 5 �!% (51') 
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 5. 52%���)1�2��ก!� �6,@��!)'����1"���-6
���������45������"� 4�ก���!'���4�A�/�
� ���!"#$ OTOP ,�+��-��� . +���/������/������<�2.�ก�2��ก!�  

 6. 52%���)1�2��ก!��6�%����)���������� ���,I�����
��.�2�ก�),�+��- ���/� ก���ก� 
(ก�+�,��) . + ���<- (����!���) ���� ��
�? -6
.�ก�2��ก!� �')���/��,I�-6
��)�(��ก 12�52%���)1 36 

 45 ,F ��ก-6
�1' �2%�ก���ก� ����ก�+�,�� 51' . + �"DRA / ���!K"D  E?�   �W"X �,I�-6
��)�(��
��4�ก 12���)1 26 
 35 ,F ��ก-6
�1' 

 7. 52%���)1�2��ก!��6�%������ก��4����
��(���-��6(��� ���!"#$ OTOP ,�+��- ��� 
. +���/������/������ -6
.�ก�2��ก!��')52%���)1 0 - 25 ,F �6�%������ก���-��64�ก 12� �6-�� �6��� 
�6�(6)% ��ก-6
�1' 52%���)1 26 
 35 ,F �6�%������ก���-��64�ก 12� �6-�� �6��� �6�(6)% ��ก-6
�1' 
52%���)1 36 
 45 ,F �6�%������ก���-��64�ก 12� �6�/������ . + �6-�� �6��� �6�(6)% ��ก-6
�1' �2%�
52%���)1 46 ,F(	/�<, �6�%������ก���-��64�ก 12� �6�/����  ��ก-6
�1' 

 8. �!'�2%��+�%2��52%���)1 . +�%������ก��(�����������4�,�+��-(����� -6
�����
� ���,I����/��������
��.�2�ก�) <�2.�ก�2��ก!� 

 9. 52%���)1 �2��ก!��6�%������ก��4����
�� %' �)���-6
������ ���,I����/��������
��.�2�
ก�).�ก�2��ก!� �')52%���)1 36 ,F(	/�<, �6�!'�2%�4��%������ก��4� %' �).��<-) ��ก-6
�1' 
4�("+-6
52%���)1 0 - 25 ,F . + 26 
 35 ,F �6�!'�2%�4��%������ก�� %' �)�2%���!) ���� 
.P5!
���ก-6
�1'    

 10. ��������� -6
�652%���)1�2��ก!��6ก���!����(���� (2�%���ก���!'�����!/��6/ ��ก��
�-��

�-�-!��$.�ก�2��ก!� �')52%���)1 26 - 35 ,F �6�!'�2%�4�ก���!����(���� (2�%���ก���!'�����ก��
�
-���-�-!��$�6/��ก-6
�1' �2%��������2��? �52� ��
���ก.�2��!� 4�, �% %�-)1 . + ��!��������$ <�2
.�ก�2��ก!� 

 
3. 
()��ก	
��ก
	 
 

 1. ��������� -6
�6�+'!�ก���	ก
�.�ก�2��ก!� �6�%��&6
4�ก��A�/�� ���!"#$,�+��-��� 
. +���/������/������ <�2.�ก�2��ก!� 

 2. ?�SKGก�?IYกZ� �2��ก!�4�����1� 4�ก���!'���4�� ��กA�/�� ���!"#$ ���
�� (��ก��
���<,���4���1�� ��
�4���ก������
 ���
��(���1"���'6 . + ��,.��� ���!"#$ .�ก�2��ก!� 
�')ก���	ก
��+'!�,��BB���6 �6�!'�2%�4�ก��45����1�  ���
��ก�����<,���4���1�� ��
�4�
��ก������
(��� ���!"#$4�ก���!'���4�� ��กA�/������� OTOP ,�+��-��� ��� ���� ���!��"�#� $ 
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��ก-6
�1' 4�-������'6)%ก!�ก���	ก
��+'!�,��BB���6 �6�!'�2%�4�ก��45����1� ���
�� �1"���'6 
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�1' 

 5. ���� ������'���2��ก!� �6,@��!)'����1"���-6
���������45������"�4�ก���!'���4�A�/�
� ���!"#$ OTOP ,�+��-��� . +���/������/������<�2.�ก�2��ก!� 

 6. ���� ������'���2��ก!� �6,@��!)'�������-6
���������45������"�4�ก���!'���4�A�/�
� ���!"#$ OTOP ,�+��-��� . +���/������/������<�2.�ก�2��ก!� 

 7. ���� ������'���2��ก!� ����������6�%����)�4�ก����������� ���,I�����
��.�2�ก�)
,�+��- ���/� . +���<- ��������!��� ������
�? .�ก�2��ก!� �')���-6
�6���� ������'���)�2�2���!��%!' 
�6�!'�2%�4�ก����������� ���,I�����
��.�2�ก�),�+��- ���/� ��กก%2����-6
�6���� ������'���)�24�
ก�1��-������� 4�("+-6
���-6
�6���� ������'���)�24�ก�1��-������� �6�!'�2%�4�ก����)���������
� ���,I� ���<- ���� ����!��� ������
�? ��กก%2����-6
�6���� ������'���)�2�2���!��%!' �2%�ก��������
��� ���,I�����
��.�2�ก�)-6
��ก�������ก�6/ <�2.�ก�2��ก!� 



  
 

149 

 8. ���� ������'���2��ก!� �6�%������ก���-��6(��� ���!"#$ OTOP ,�+��-��� . +
���/������/������-6
�������������ก�� <�2.�ก�2��ก!� 

 9. ���� ������'���2��ก!��6�%������ก��4����
�� ,�+��-(�����-6
������ ���,I����/����
����
��.�2�ก�) -6
.�ก�2��ก!� �')���-6
�6���� ������'���)�24�ก�1��-������� . +�2���!��%!' �6
�!'�2%��%������ก��4�,�+��-���MN�) ���
������� ���,I����/��������
��.�2�ก�) ��กก%2����5��'
��
� 

 10. ���� ������'���2��ก!� �6�%������ก��(�����������4����
�� %' �)���-6
������ ��
�,I����/��������
��.�2�ก�)<�2.�ก�2��ก!� 

 11. ���������-6
�6���� ������'���2��ก!� �6ก���!����(���� (2�%���ก���!'�����!/��6/ ��ก��
�
�2��? <�2.�ก�2��ก!�  
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  ��*"2	���� 2. ���������ก 12��2��? �6,@��!)4�ก���!'���4�� ��กA�/������� OTOP 
,�+��-���. +���/������/������.�ก�2��ก!� 

 4�ก��-'��������>��(���6/ ���%��!)<'����.�ก��������� ��ก�,I�ก 12��2��? ���
 !ก
"+56%�!��� . +����� !�(����������� <'�.ก2 ��� ��)1 �+'!�ก���	ก
� ��56� ��)<'��2��'��� 
�&��������� . +���� ������'�� �')45��&��� ก��%�����+�$�%��.�ก�2���+�%2���2��* 6
) 
(Independent Samples T- test) . + ก��%�����+�$�%��.,�,�%�.��-���'6)% (One 
 way 
Anova) 4�ก��-'��������>�� � ก��-'��������>�� '!�.�'�4�������2�<,�6/  

 

�����-6
 88 
.�'�ก���,�6)��-6)�,@��!)-6
�6��-8�� 4�ก���!'���4�� ��กA�/������� OTOP ,�+��-��� . +

���/������/������(����������� �')���.�ก������ 

*** �6�!)����!B-���&���-6
�+'!� 0.001 
** �6�!)����!B-���&���-6
�+'!� 0.01 

 
 ��ก�����-6
 88 ก���,�6)��-6)�,@��!)-6
�6��-8�� 4�ก���!'���4�� ��กA�/������� OTOP 

,�+��-��� . + ���/������/������(����������� �')���.�ก������ 2 ,�+��- ��� 1. ���5�) . + 
2. ����B�� ��ก�?BC�D?��EF�%��.�ก�2���+�%2���2��* 6
) (Independent Samples T- test) 
!GBH� ����2��ก!� �6,@��!)4�ก���!'���4�� ��กA�/������� OTOP ,�+��-��� . + ���/������/������
(����������� '���ก�����4� ก!� '����%���5�
� . + -!����� .�ก�2��ก!� �') �6�2� P-value ���)

,@��!)-6
�6��-8�� 
4�ก���!'���4� 

��� ����%� �2��* 6
) �2����'6 �2�-6 P-value 

5�) 107 45.3551 5.27231 ก�����4� 
�B�� 236 47.3602 5.04211 

- 3.364 0.001*** 

5�) 107 16.2804 2.68748 ก���!���� 
�B�� 236 16.8559 3.16033 

- 1.737 0.084 

5�) 107 13.9159 2.67808 ก����6)���� 
�B�� 236 14.4788 2.44331 

- 1.918 0.056 

5�) 107 34.6916 5.14765 �%���5�
� . + 
-!����� �B�� 236 36.4195 5.51342 

- 2.744 0.006** 

5�) 107 41.9813 5.04878 ,@��!)��)��ก 
�B�� 236 42.6017 5.54999 

- 0.986 0.325 
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ก%2� .05 ก 2�%��� ������������5�)�6,@��!)'���ก�����4� ก!� ,@��!)'����%���5�
� . + -!����� -6

�6��-8�� 4�ก���!'���4�� ��กA�/������� OTOP ,�+��-��� . + ���/������/������ ���)ก%2����������
����B�� �2%�,@��!)'�����
�? <�2.�ก�2��ก!� 

 

�����-6
 89 
.�'�ก���,�6)��-6)�,@��!)-6
�6��-8�� 4�ก���!'���4�� ��กA�/�������OTOP ,�+��-��� . +

���/������/������(����������� �')���.�ก������� ������'�� 
 

 
 ��ก�����-6
 89 ก���,�6)��-6)�,@��!)-6
�6��-8�� 4�ก���!'���4�� ��กA�/������� OTOP 

,�+��-��� . +���/������/������(����������� �')���.�ก������� ������'�� 2 ,�+��- ���                           
1. ก�1��-������� . + 2. �2���!��%!' ��ก�?BC�D?��EF�%��.�ก�2���+�%2���2��* 6
) 
(Independent Samples T- test) !GBH� ���� ������'���2��ก!� �6,@��!)4�ก���!'���4�� ��กA�/�
������ OTOP ,�+��-��� . + ���/������/������(�����������<�2.�ก�2��ก!� ก 2�%��� <�2%2����������
�+�6���� ������'���)�24�ก�1��-������� �����2���!��%!' �2��ก0�6,@��!)-6
�6��-8�� �2�ก���!'���4�
� ��กA�/������� OTOP ,�+��-��� . + ���/������/������4�'����2��? <�2.�ก�2��ก!�  

 
 
 
 

,@��!)-6
�6��-8�� 
4�ก���!'���4� 

���� ������'�� Pb�"B" �2��* 6
) �2����'6 �2�-6 P-value 

ก�1��-������� 115 47.4348 5.37723 ก�����4� 
�2���!��%!' 228 46.3816 5.07034 

1.779 0.076 

ก�1��-������� 115 17.0696 3.44817 ก���!���� 
�2���!��%!' 228 16.4781 2.78043 

1.596 0.112 

ก�1��-������� 115 14.6087 2.62477 ก����6)���� 
�2���!��%!' 228 14.1491 2.47002 

1.593 0.112 

ก�1��-������� 115 36.4435 5.68962 �%���5�
� . + 
-!����� �2���!��%!' 228 35.5965 5.32092 

1.360 0.175 

ก�1��-������� 115 42.0609 6.03686 ,@��!)��)��ก 
�2���!��%!' 228 42.5833 5.05190 

- 0.846 0.398 
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�����-6
 90 
.�'�ก��%�����+�$�%��.,�,�%�(��,@��!)4�ก���!'���4�� ��กA�/������� OTOP ,�+��-���. +

���/������/������(����������� �')���.�ก���52%���)1  
.� 2��%��.,�,�%� �2�'6��P �2��* 6
) �2���P P-value 

�+�%2��ก 12� 3 38.809 
��)4�ก 12� 339 26.845 

ก�����4� 

�%� 342  

1.446 0.229 

�+�%2��ก 12� 3 28.211 
��)4�ก 12� 339 9.004 

ก���!���� 

�%� 342  

3.133 0.026* 

�+�%2��ก 12� 3 6.152 
��)4�ก 12� 339 6.395 

ก����6)���� 

�%� 342  

0.962 0.411 

�+�%2��ก 12� 3 38.559 
��)4�ก 12� 339 29.665 

�%���5�
� . + 
-!����� 

�%� 342  

1.300 0.274 

�+�%2��ก 12� 3 25.323 
��)4�ก 12� 339 29.183 

,@��!)��)��ก 

�%� 342  

0.868 0.458 

* �6�!)����!B-���&���-6
�+'!� 0.05 
 

 ��ก�����-6
 90 ก��%�����+�$�%��.,�,�%�(�� ,@��!)-6
�6��-8�� 4�ก���!'���4�
� ��กA�/������� OTOP ,�+��-��� . + ���/������/������(����������� �')���.�ก���52%���)1 4 

52%� ��� 1. 52%���)1 0 - 25 ,F 2. 52%���)1 26 - 35 ,F 3. 52%���)1 36 - 45 ,F . + 4. 52%���)1 46 ,F 
(	/�<, � ก��%�����+�$�%��.,�,�%�.��-���'6)% ��%2� 52%���)1�2��ก!��6,@��!)-6
�6��-8�� �2�
ก���!'���4�� ��กA�/������� OTOP ,�+��-��� . + ���/������/������(�����������'��� ก���!���� 
.�ก�2��ก!� ����+ �6�2� P-value ���)ก%2� .05 �')���������4�52%���)1 0 
 25 ,F �6�2��* 6
)(��
ก���!����-6
�6��-8�� �2�ก���!'���4�� ��กA�/������� OTOP ,�+��-��� . +���/������/������ .�ก�2��
��ก���������-6
�652%���)1 46 ,F (	/�<, ก 2�%��� ���������-6
�652%���)1 46 ,F (	/�<, �6�+.���* 6
)
,@��!)'���ก���!����-6
�6��-8�� �2�ก���!'���4�� ��กA�/������� OTOP ,�+��-��� . +���/����
��/��������กก%2����������-6
�652%���)1 0 
 25 ,F ('�ก���,�6)��-6)���1��" �����-6
 1 4�
�����%ก) �2%�,@��!)'�����
�? <�2.�ก�2��ก!� 
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�����-6
 91 

.�'�ก���,�6)��-6)��+'!�ก���!'���4�� ��กA�/������� OTOP ,�+��-��� . + ���/������/������
(����������� �')���.�ก����+'!�ก���	ก
� 

.� 2��%��.,�,�%� �2�'6��P �2��* 6
) �2���P P-value 

�+�%2��ก 12� 5 190.065 
��)4�ก 12� 337 24.530 

ก�����4� 

�%� 342  

7.748 0.000*** 

�+�%2��ก 12� 5 32.278 
��)4�ก 12� 337 8.830 

ก���!���� 

�%� 342  

3.656 0.003** 

�+�%2��ก 12� 5 44.704 
��)4�ก 12� 337 5.825 

ก����6)���� 

�%� 342  

7.675 0.000*** 

�+�%2��ก 12� 5 293.448 
��)4�ก 12� 337 25.830 

�%���5�
� . + 
-!����� 

�%� 342  

11.361 0.000*** 

�+�%2��ก 12� 5 64.317 
��)4�ก 12� 337 28.627 

,@��!)��)��ก 

�%� 342  

2.247 0.049* 

*** �6�!)����!B-���&���-6
�+'!� 0.001 
** �6�!)����!B-���&���-6
�+'!� 0.01 
* �6�!)����!B-���&���-6
�+'!� 0.05 

 

 ��ก�����-6
 91 ก��%�����+�$�%��.,�,�%�(�� ,@��!)-6
�6��-8�� 4�ก���!'���4�
� ��กA�/������� OTOP ,�+��-��� . +���/������/������(����������� �')���.�ก����+'!�
ก���	ก
� 6 �+'!� ��� 1. ,�+&��	ก
� 2. �!8)��	ก
������� 3. �!8)��	ก
����, �) ���� 
,%5. 4.  ��1,��BB� ���� ,%�  5. ,��BB���6 . + 6. ���ก%2�,��BB���6 � ก��%�����+�$�%��
.,�,�%�.��-���'6)% ��%2� �+'!�ก���	ก
��2��ก!� �6,@��!)-6
�6��-8�� �2�ก���!'���4�� ��กA�/�
������ OTOP ,�+��-��� . + ���/������/������(�����������4�,@��!)-1ก? '���.�ก�2��ก!� ����+
,@��!)-!/� 5 '��� �6�2� P-value ���)ก%2� .05 ก 2�%��� 
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 ,@��!)'���ก�����4� ���������-6
�6�+'!�ก���	ก
����ก%2�,��BB���6 �6�+.���* 6
)
,@��!)'���ก�����4�-6
�6��-8�� �2�ก���!'���4�� ��กA�/������� OTOP ,�+��-��� . +���/����
��/���������ก%2����������-6
�6�+'!�ก���	ก
��!8)��	ก
����, �) ���� ,%5. �+'!�ก���	ก
�
��1,��BB� ���� ,%� . + ,��BB���6'�%) ('�ก���,�6)��-6)���1��" �����-6
 2.1 4������%ก) 

 ,@��!)'���ก���!���� ���������-6
�6�+'!�ก���	ก
����ก%2�,��BB���6 �6�+.���* 6
),@��!)
'���ก���!����-6
�6��-8�� �2�ก���!'���4�� ��กA�/������� OTOP ,�+��-��� . +���/������/���������
ก%2����������-6
�6�+'!�ก���	ก
���1,��BB� ���� ,%�. . +,��BB���6 ('�ก���,�6)��-6)���1��" 
�����-6
 2.2 4������%ก) 

 ,@��!)'���ก����6)���� ���������-6
�6�+'!�ก���	ก
����ก%2�,��BB���6 �6�+.���* 6
)
,@��!)'���ก����6)����-6
�6��-8�� �2�ก���!'���4�� ��กA�/������� OTOP ,�+��-��� . + ���/����
��/������ ���ก%2����������-6
�6�+'!�ก���	ก
��!8)��	ก
����, �) ���� ,%5. ก���	ก
�
��1,��BB� ���� ,%� . + ,��BB���6'�%) ('�ก���,�6)��-6)���1��" �����-6
 2.3 4������%ก) 

 ,@��!)'����%���5�
� . +-!����� ���������-6
�6�+'!�ก���	ก
����ก%2�,��BB���6 �6
�+.���* 6
),@��!)'����%���5�
� . + -!�����-6
�6��-8�� �2�ก���!'���4�� ��กA�/������� OTOP 
,�+��-��� . + ���/������/���������ก%2� ���������-6
�6�+'!�ก���	ก
��!/�.�2,��BB���6 ��� ('�ก��
�,�6)��-6)���1��" �����-6
 2.4 4������%ก) 

 ,@��!)��)��ก ���������-6
�6�+'!�ก���	ก
����ก%2�,��BB���6 �6�+.���* 6
),@��!)
��)��ก-6
�6��-8�� �2�ก���!'���4�� ��กA�/������� OTOP ,�+��-��� . +���/������/���������ก%2�
���������-6
�6�+'!�ก���	ก
��
��ก%2��!8)��	ก
������� �+'!�ก���	ก
���1,��BB� ���� ,%� 
. + ,��BB���6 ('�ก���,�6)��-6)���1��" �����-6
 2.5 4������%ก) 
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�����-6
 92 
.�'�ก��%�����+�$�%��.,�,�%�(��,@��!)4�ก���!'���4�� ��กA�/������� OTOP ,�+��-���. +

���/������/������(����������� �')���.�ก�����56� 
.� 2��%��.,�,�%� �2�'6��P �2��* 6
) �2���P P-value 

�+�%2��ก 12� 7 38.304 
��)4�ก 12� 335 26.713 

ก�����4� 

�%� 342  

1.434 0.191 

�+�%2��ก 12� 7 7.908 
��)4�ก 12� 335 9.199 

ก���!���� 

�%� 342  

0.860 0.539 

�+�%2��ก 12� 7 5.500 
��)4�ก 12� 335 6.412 

ก����6)���� 

�%� 342  

0.858 0.540 

�+�%2��ก 12� 7 58.298 
��)4�ก 12� 335 29.146 

�%���5�
� . + -!����� 

�%� 342  

2.000 0.055 

�+�%2��ก 12� 7 42.564 
��)4�ก 12� 335 28.868 

,@��!)��)��ก 

�%� 342  

1.474 0.175 

 
 ��ก�����-6
 92 ก��%�����+�$�%��.,�,�%�(�� ,@��!)-6
�6��-8�� 4�ก���!'���4�

� ��กA�/������� OTOP ,�+��-��� . + ���/������/������(����������� �')���.�ก�����56�        
8 ,�+��- ��� 1. �!ก��6)� �!ก�	ก
� 2. .�2���� 3. �ก
��ก� 4. ���(�) 5. �!���5ก�� 6. ��!ก���
��ก5� 7. �!>%����ก�� . + 8. ��
�? � ก��%�����+�$�%��.,�,�%�.��-���'6)% ��%2� ���������
-6
�6��56��2��ก!��6,@��!)-6
�6��-8�� �2�ก���!'���4�� ��กA�/������� OTOP ,�+��-��� . + ���/����
��/������(�����������-!/� 5 '��� <�2.�ก�2��ก!� ก 2�%��� ���������4���56��2��? �6,@��!)-6
�6
��-8�� �2�ก���!'���4�� ��กA�/������� OTOP ,�+��-��� . + ���/������/������ <�2.�ก�2��ก!� 
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�����-6
 93 
.�'�ก��%�����+�$�%��.,�,�%�(��,@��!)4�ก���!'���4�� ��กA�/������� OTOP ,�+��-���. +

���/������/������(����������� �')���.�ก�����)<'��2��'��� 
.� 2��%��.,�,�%� �2�'6��P �2��* 6
) �2���P P-value 

�+�%2��ก 12� 5 95.200 
��)4�ก 12� 337 25.937 

ก�����4� 

�%� 342  

3.670 0.003** 

�+�%2��ก 12� 5 19.733 
��)4�ก 12� 337 9.016 

ก���!���� 

�%� 342  

2.189 0.055 

�+�%2��ก 12� 5 13.025 
��)4�ก 12� 337 6.295 

ก����6)���� 

�%� 342  

2.069 0.069 

�+�%2��ก 12� 5 47.885 
��)4�ก 12� 337 29.474 

�%���5�
� . + -!����� 

�%� 342  

1.625 0.153 

�+�%2��ก 12� 5 24.686 
��)4�ก 12� 337 29.215 

,@��!)��)��ก 

�%� 342  

0.845 0.519 

** �6�!)����!B-���&���-6
�+'!� 0.01 

 
 ��ก�����-6
 93 ���%��!)�,�6)��-6)�,@��!)-6
�6��-8�� 4�ก���!'���4�� ��กA�/������� 

OTOP ,�+��-��� . +���/������/������(����������� �')���.�ก�����)<'��2��'��� 6 �+'!� ���  

1. �
��ก%2� 10,000 ��- 2. 10,001 - 20,000 ��- 3. 20,001 - 30,000 ��- 4. 30,001 - 40,000 
��- 5. 40,001 - 50,000 ��- . + 6. 50,001 ��- (	/�<, � ก��%�����+�$�%��.,�,�%�.��
-���'6)% ��%2� ��)<'��2��ก!��6,@��!)-6
�6��-8�� �2�ก���!'���4�� ��กA�/������� OTOP ,�+��-
��� . + ���/������/������(�����������'���ก�����4� .�ก�2��ก!� ����+ �6�2� P-value ���)ก%2� .05 
�') ���������-6
�6��)<'��2��'����+�%2��10,001 -  20,000 ��- �6�+.���* 6
),@��!)'���ก�����4�
-6
�6��-8�� �2�ก���!'���4�� ��กA�/������� OTOP ,�+��-��� . +���/������/��������กก%2����������
-6
�6��)<'��2��'����
��ก%2� 10,000 ��- ('�ก���,�6)��-6)���1��" �����-6
 3 4������%ก) �2%�
,@��!)'�����
�? <�2.�ก�2��ก!� 
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�����-6
 94 
.�'�ก��%�����+�$�%��.,�,�%�(��,@��!)4�ก���!'���4�� ��กA�/������� OTOP ,�+��-��� 

. + ���/������/������(����������� �')���.�ก����&��������� 
.� 2��%��.,�,�%� �2�'6��P �2��* 6
) �2���P P-value 

�+�%2��ก 12� 2 10.406 
��)4�ก 12� 340 27.047 

ก�����4� 

�%� 342  

0.385 0.681 

�+�%2��ก 12� 2 11.595 
��)4�ก 12� 340 9.158 

ก���!���� 

�%� 342  

1.266 0.283 

�+�%2��ก 12� 2 1.183 
��)4�ก 12� 340 5.424 

ก����6)���� 

�%� 342  

0.184 0.832 

�+�%2��ก 12� 2 12.383 
��)4�ก 12� 340 29.845 

�%���5�
� . + 
-!����� 

�%� 342  

0.415 0.661 

�+�%2��ก 12� 2 21.629 
��)4�ก 12� 340 29.193 

,@��!)��)��ก 

�%� 342  

0.741 0.477 

 
 ��ก�����-6
 94 ���%��!)�,�6)��-6)�,@��!)-6
�6��-8�� 4�ก���!'���4�� ��กA�/������� 

OTOP ,�+��-��� . +���/������/������(����������� �')���.�ก����&��������� 3 �+'!� ���              
1. ��'  2. ���� . + 3. �)2����� � ก��%�����+�$�%��.,�,�%�.��-���'6)% ��%2� ���������-6

�6�&����������2��ก!��6,@��!)-6
�6��-8�� �2�ก���!'���4�� ��กA�/������� OTOP ,�+��-��� 
. + ���/������/������(�����������-!/� 5 '��� <�2.�ก�2�� 
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 ��กก��%�����+�$(����  ���
�-'��������>��(��-6
 2 � ก��%�����+�$)���!�
�����>�� ����2%� '!���) +��6)'-6
��1,�2�<,�6/ 

 
 ��1,� ก�������>��ก��%��!)(��-6
 2 -6
%2�����������ก 12��2��? �6,@��!)-6
�6��-8�� 4�

ก���!'���4�� ��กA�/������� OTOP ,�+��-���. +���/������/������.�ก�2��ก!�� � ก��-'���-6
<'�
�6��) +��6)''!��6/ 

 

 1. ������������5�) . + ����B�� �6,@��!)'���ก�����4� ก!� '����%���5�
�. +-!����� 
-6
�6��-8�� 4�ก���!'���4�� ��กA�/������� OTOP ,�+��-��� . + ���/������/������ 4������!/��6/ 
.�ก�2��ก!� VSQ������������5�)�6�+.���* 6
),@��!)'���ก�����4� ก!� �+.���* 6
),@��!)'���
�%���5�
� . + -!����� -6
�6��-8�� 4�ก���!'���4�� ��กA�/������� OTOP ,�+��-��� . + ���/����
��/������ ���)ก%2��������������B�� �2%�,@��!)��
�? <�2.�ก�2��ก!� 

 2. ���������-6
�6���� ������'���2��ก!�  �6,@��!)4�ก���!'���4�� ��กA�/�������  OTOP 
,�+��-��� . + ���/������/������4������!/��6/ (�����������<�2.�ก�2��ก!�  

 3. ���������-6
�652%���)1�2��ก!� �6,@��!)'���ก���!���� -6
�6��-8�� 4�ก���!'���4�� ��กA�/�
������ OTOP ,�+��-��� . + ���/������/������ 4������!/��6/ .�ก�2��ก!� VSQ���������-6
�652%���)1 
46 ,F (	/�<, �6�+.���* 6
),@��!)'���ก���!����-6
�6��-8�� �2�ก���!'���4�� ��กA�/������� OTOP 
,�+��-��� . +���/������/��������กก%2����������-6
�652%���)1 0 
 25 ,F �2%�,@��!)'�����
�? <�2
.�ก�2��ก!� 

 4. ���������-6
�6�+'!�ก���	ก
��2��ก!� �6,@��!)-1ก? '��� <'�.ก2 '���ก�����4� ก���!���� 
ก����6)���� �%���5�
� . +-!����� �%�&	�,@��!)��)��ก��
�? -6
�6��-8�� 4�ก���!'���4�� ��กA�/�
������ OTOP ,�+��-��� . + ���/������/������ 4������!/��6/ .�ก�2��ก!� �')���-6
�6�+'!�ก���	ก
�
���ก%2�,��BB���6 �6�+.���* 6
),@��!)4�-1ก?'��� -6
�6��-8�� �2�ก���!'���4�� ��กA�/������� 
OTOP ,�+��-��� . + ���/������/��������กก%2����������-6
�6�+'!�ก���	ก
��!/�.�2,��BB���6 �
�� 

 5. ���������-6
�6��56��2��ก!��6,@��!)'����2��? -6
�6��-8�� �2�ก���!'���4�� ��กA�/������� 
OTOP ,�+��-��� . + ���/������/������4������!/��6/ (����������� <�2.�ก�2��ก!� 

 6. ���������-6
�6��)<'��2��'����2��ก!� �6,@��!)'���ก�����4� -6
�6��-8�� 4�ก���!'���4�
� ��กA�/������� OTOP ,�+��-��� . + ���/������/������ 4������!/��6/ .�ก�2��ก!� �')���������-6
�6

��)<'��2��'����+�%2�� 10,001 - 20,000 ��- �6�+.���* 6
),@��!)'���ก�����4�-6
�6��-8�� �2�
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ก���!'���4�� ��กA�/������� OTOP ,�+��-��� . +���/������/��������กก%2����������-6
�6��)<'��2�
�'����
��ก%2� 10,000 ��- �2%�,@��!)'�����
�? <�2.�ก�2��ก!� 

 7. ���������-6
�6�&����������2��ก!��6,@��!)'����2��?  -6
�6��-8�� �2�ก���!'���4�
� ��กA�/������� OTOP ,�+��-��� . + ���/������/������4������!/��6/ (����������� <�2.�ก�2��ก!� 
 
 
4.  
'��������	กก	
 ��$	
78�����"*�� +�� !�	� 	�	
-)�	�ก	
*�	) 
 ก���	ก
��2%��6/�,I�ก���ก0�(����  ��กก 12����� ����������	
�����  ��	
�� ���!"#$ ����  
OTOP ,�+��-���. +���/������/������ �')ก���%��%���)5�
������2��? ��ก.�����&�� 343 
51' -6
�ก0�(���� ��กก 12���������� . �%��%2� ���� ����ก 12�5�%����-6
�,I����� �� -6
<'��!��%����)� 
<'��!�ก���1'��1���ก-6
�1' 3 ก 12� ��'�,I����) + <'��-2�ก!� 19.5, 16.9, . + 15.7 �2%����� ����
ก 12� OTOP ��
�? �%�ก!���'�,I����) + 47.8 ��ก�!/����%��!)<'���'�2�<,)!�-!/� 3 ก 12����
�(�
�!���
"$ �ก0�(����  ก!����-6
�ก6
)%(���4��2%�(��ก��(�) . + ก��� �' . + <'��!��%���2%����
�,I��)2��'6 A	
� 3 ก 12����� ��,�+ก��<,'�%) 
 1. ก 12����<-)-���� (�����) � �����MN�)�!'��6
 ��������ก����B �!��%!' ��1�6 
(���������4��ก����!���1������� ��'�,I����) + 19.5) 

 2. ก 12�.�2�����%�) � �����<����/������ ����������� �!��%!'�1���-�$ (���������4��ก��
��!���1������� ��'�,I����) + 16.9) 

 3. ก 12�-����MN�))�������������'6 (#6��) ���������"������ �!��%!'�ก ���
(���������4��ก����!���1������� ��'�,I����) + 15.7) 

 ก�+�%�ก���ก0�(���� 4��2%��6/ ����	ก
�<'��(��<,�� ��'�1) ก!��!%.-�ก 12�-!/� 3 -6

�����&4��(����  ��) +��6)' <'��)2��5!'���4����
��(��ก��� �' . +���
����%�2��? (��ก 12� 
�') !ก
"+ก���!���
"$�,I�ก����'�1)�)2���6�1'���)���.�%���&��-6
���6)�<%� .�2�,I�ก��
��'�1)�)2���,I�<,���8���5���<�2<'��,I�ก��56/��� 4�ก���6/���� ��-!/� 3 ก 12�4���%���2%�����,I�
�)2��'6 4�ก��4��(����  ก���������� ���!"#$ .�+����&��-6
-6
�!'�����2�) �&��-6
-6
-��ก��� �� 
. + ก�+�%�ก��� �� ������8���)(!/����ก��� �� ��&	�ก���!'�����2�)�)2�� +��6)' ����	ก
�
45��% �4�ก���ก0�(���� 4�.�2 +ก 12�,�+��" 2 
 3 5!
%��� �����-!/�<'��!�ก����1B����ก���� ��
-1กก 12�4�������&�'�!�-	ก ก���!�-	ก��6)�&��)����!���
"$'�%)����
���!�-	ก��6)� . +ก��
&2�)���,�+ก��ก���ก0�(���� ��!/��6/'�%) 
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 4.1 !�	�
�� !�	�%��	��%
,���ก	
*�	)9�(ก	
�.	�������������"* 
 �')��1,. �%�%����� �%���(��4� 4����
��ก��� �' . +%�86ก��4�ก��� ��-6
-��4��

� ���!"#$ �,I�-6
����ก�� . + )���!�(�����A�/� ������������� (�� 3 ก 12�'!�ก 2�% �6��) +��6)'
'!��2�<,�6/ 

 
 4.1.1 ก�'+���	:;	����,� (  � "� ) ��������ก����B �!��%!' ��1�6 �,I�ก 12� OTOP -6


5�%�����2%�ก!�� �� . +�����2�) A	
����������-6
4��(���� ��ก��� OTOP -6
�����-��8��6 ��!/��6/ 4��
ก����!���1��2��(�����ก ����%� 67 ��) ��ก 343 ��) �������) + 19.5 ���4��(���� 
,�+ก��'�%) �����%���-�$ ��6.��<-)�1( �,I����'�. 4��2%�ก���������!'ก��(��ก 12� <'�-�����
4�����-6
�6/��,�+��" 5 
 6 ,F <'��!�������%+�2��? (��ก 12����')� �' -!/�ก���!L�� . +ก��
�2%�.ก�<(,@B�� �')�*��+4����
��ก��� ��ก!�ก��� �' �8�)!��,I��!%.-�4�ก���(���2%�ก��ก���
���
�ก���2������ก��� �'(��� ���!"#$ก 12� ก!���2%)����2��? -6
4��ก����!���1� . �%����%�����
����,�+��ก��"$4��2? ����).��24��ก!����5�ก4�ก 12��)2���2����
��. +�6ก-2���������1ก!BB� 
��2���� ���'�. 4����
��ก�������2�) �'��-6�8����5�%����-6
�,I����5�ก����	
�(��ก 12�-���� �6
��56�-����� . +-������� �'56%�� <'��!��!� � 1ก� 6ก!������/�������� 2��6/���!/�.�2�'0ก �	��,I����
��	
�-6
������
����%�2��? (�����-����-6
�6
�,I��)2��'6 ���
��6ก����1��%6)�� !'�, 6
)�ก!���-������-6

(�) -6
���)$�����2�)(��ก 12� �1ก!BB� ��2���� �	��,I�����	
�-6
�(��4�. +�6�%��������
������)2��
&�ก���� ��กก����ก� 2�(��-!/� 2 ��1,<'�%2��%�����'���ก��� �' -6
ก 12�<'��!� ����ก 3 �2%� ��� 
1. ก��<'��!�ก��������ก��2%)����2��? �52� ��������-6
��กก��ก���!L��51�5� �2%�ก!�
��ก�"$�!��%!' ��4���%�����4����
��ก��-���!B56 ก�������2�) ก��%��.��-��ก��� �'�2��? 
���� �1� �ก���ก��ก�����<-) ������4����
�� ก����"�5)$��� 0ก-����ก�$ (E-commerce) �,I�
��� 2. �%���(��4����
��ก��� �'-6
<'�����ก,�+��ก��"$ �,I��%�����-6
�!
�������ก�'6� . +&�ก
.ก�<(���!L����&	�4�,@��1�!� �52� �/����!ก . + �1"���(����� .�2ก2�����.�2 +����+��!ก 
. + .�2�<�2�-2�ก!�  %' �)ก0<�2��
������ .�24�,@��1�!�,�!�.ก�<(. +�6ก����%�����1"��� 
ก2�������ก�����2�)-1ก��!/� ������<��<�2�,I�<,����ก"#$�����!'��ก ���� ���
��(���&��-6
�!'
�����2�) 4��'6�� �'�+<�2ก%���������,@��1�!� ก���'��-��<,��ก����.�'��������!ก�,I�
,@B�� <�2�+'%ก������,@��1�!��6/ . + 3.  �ก����6�%������!Bก!����
��ก��� �'��ก ����+����
� �� ������4���������%����4�(�� �ก��� �����6ก���	ก
� !ก
"+(�����������'�%) . +� ��
4��������ก!��-�ก� '�%) �52� 52%��6/����6�� ��� ก!� �6PN� �,I�-6
����ก����ก4����2(����5ก�� 
�%�&	�ก��'!'., � %' �)��ก�'��? 4��., ก4��2�)�2���� ���
��,I�-��� ��ก(�����������'�%) 
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 �')��1,. �%�%�������&-��ก��� �'(��ก 12����MN�)�!'��6
ก 12��6/ ���ก��� ��
������-6
<'�����>�� �6�1"��� �')ก������%�����-6
<'��!�ก��&2�)-�'����ก�'6� . +�6ก��
,�!�,�1�����&	�,@��1�!� �����ก!�ก���	ก
� . +�!�P@��%������ก��(�� �ก��� ������������� ���
�
���<,�,I��2%���	
�4�ก��� �� . +ก���!'�����2�) ,�+ก��ก!��%�����4����
��ก���!'ก��'���
ก��� �'��ก��2%)����2��? '�%)  

 
 4.1.2 ก�'+�9�+��	� �	� ����������� �!��%!'�1���-�$ �,I�ก 12�-6
� �����<���!'��6
 

�+'!� 5 '�%  ก 12���	
�-6
<'��!��%����)���ก��������� ���4��(���� ��� �����%��6 �1B��
� 4�>��+
���,�+8��ก 12�  . + �,I�����6�-��-4�ก��� �'. +ก�������2�)� ���!"#$-!/���'(��ก 12� 
'�%)%!) 45 ,F -6
�!��!�ก��-����<�����!/�.�2%!)�)�%$ ���ก 2�%<'�%2��,I���)� ��'(���8�� )ก0%2�
<'� �	�<�2452���
��., ก-6
�8��+�(��4�&2��.-�4�ก��� �����<��(�����2�����%�)��5����� �2���
��)� !� ��%��6<'��(����'�. 4�'���ก��� �'(��ก 12�'�%) ���
��6����ก����	
����� ��	
�
� ���!"#$�ก�'(	/� ก 12�.�2�����%�)�	�<'��(���2%�����ก���6/ �8��	��,I������	
�-6
�6�2%������4��ก 12�
,�+���%�������0����
�)�� -!/�)!�<'��!�ก��)���!� �!�&����ก���5�ก-1ก��4�ก 12�'�%) ���
���'&	�
�%������%���(��4�4����
��ก��� �'. �% ��%��6 ก 2�%%2� �52%�,Fก2��? (�.�. 2545 
 �.�. 2548) 
�!ก�6��������-6
������4��� �' �6-!/�ก�+-�%��1����ก��� ��4�����.�+����ก6
)%ก!� ก������1
�!"#$ (Packaging) . + ���
������>��(��� ���!"#$ �2%���������-6
��กก�+-�%���"�5)$ ก04��
���.�+����ก6
)%ก!��-����ก��� �'� A	
�ก 12������%�)<'��������%������� 2��!/���45� 4�ก��
�������� ���!"#$(��ก 12��2%�ก!�,�+��ก��"$-6
�2��? �� 4����������%������ก��(�� �ก��� 
���� ��������� ��<'��!�ก��)���!�4�,@��1�!� ,�+��ก��"$-6
ก 12�.�2�����%�)�����45��52� ก��
�!��ก���ก �ก��� %2� �2%�4�B25�����.��<��  %' �)�)2��<� A	
��2%�4�B2�+<�25�� %' �)
A/��? 5���6-6
�,I�8���5��� (Earth tone)  . +  �)<-)'!/��'�� -6
�,I���ก !ก
"$(�� �!��%!'�1���-�$  
��ก����1'�6/-��ก 12��	�<'����<,�!L�� %' �)4��2? -6
)!����%��'!/��'�� (�� �)���<%� . +�2%�
��	
�ก0,�+)1ก�$ %' �) �6�!�4���2%���!)(	/� .�2ก���%�864�ก��� ��)!�)	'�!
����.������"A	
�
�,I�%�86-6
'6�1'-6
-��4���1"���(�����<���������'�� ��-� 45����<'���� . +�,I�<,����%��
����ก��(����������� �2%��%������%���(��4� 4����
��ก��45� . +ก��'�. �!ก
���� ���5�ก4�ก 12�
-1ก�������&4������8���) 4�����.�+���ก!�����������,I��)2��'6 

 �')��1,. �%4����
���%������%���(��4�4�'���ก��� �'(�� ก 12�.�2�����%�) �!��%!'
�1���-�$ ก�+�%�ก��� ��<'�)	'.�%-����������1�1
 . +4���%������!B-6
�1'ก!�,�+��ก��"$
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ก��(�) . +ก��� �'-6
�2��? �� ������,I��!%ก����'ก��� �'4�,@��1�!��2%�ก!�����%�����-6

<'��!���ก.� 2��2��? ��45����
�4��<'���A	
�ก��)���!� . +�%���	���4�(����������� 

 
 4.1.3 ก�'+�>�*	 ?
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